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PHYSICS

BOOKS - UNIVERSAL BOOK DEPOT 1960 PHYSICS
(HINGLISH)

CURRENT ELECTRICITY

Exercise

1. Current of 4.8 amperes is flowing through a conductor. The

number of electrons per second will be

A 3 x 10"

B.7.68 x 10%!


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_BRyQVT52hsV5

C.7.68 x 10%°

D.3 x 10%

Answer: A

o Watch Video Solution

2. When the current i is flowing through a conductor, the drift
velocity is v . If 2i current is flowed through the same metal
but having double the area of cross-section, then the drift
velocity will be

Av/4

B.v/2

C.v


https://dl.doubtnut.com/l/_BRyQVT52hsV5
https://dl.doubtnut.com/l/_4zlry7Ys8yel

D. 4v

Answer: C

o Watch Video Solution

3.When current flows through a conductor, then the order of
drift velocity of electrons will be

A.10"m /sec

B.10 %cm /sec

C.10%cm /sec

D.10 'em /sec

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_4zlry7Ys8yel
https://dl.doubtnut.com/l/_SFP9jVKXpqM1

4. Every atom makes one free electron in copper. If 1.1 ampere
current is flowing in the wire of copper having T mm diameter,
then the drift velocity (approx.) will be (Density of copper
= 9 x 10°kgm 3 and atomic weight = 63)

A.0.3mm /sec

B.0.1mm /sec

C.0.2mm /sec

D.0.2cm /sec

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_SFP9jVKXpqM1
https://dl.doubtnut.com/l/_wGVBl6J5GwMT

5. Which one is not the correct statement

A.Tvolt X 1coulomb =1joule

B.1volt x 1ampere =1 joule/second

C.1volt x 1watt=1H.P.

D. Watt-hour can be expressed in eV

Answer: C

o Watch Video Solution

6. If a 0.1% increase in length due to stretching, the

percentage increase in its resistance will be

A.0.2 %


https://dl.doubtnut.com/l/_oxCMXrGH8ACC
https://dl.doubtnut.com/l/_dWgTzzcV6TK9

B.2 %

C.1%

D.0.1 %

Answer: A

o Watch Video Solution

7. The specific resistance of manganin is 50 x 10~ %ohm x m.
The resistance of a cube of length 50 cm will be

A.107° ohm

B.2.5 x 10 ° ohm

C.10" % ohm

D.5 x 104 ohm


https://dl.doubtnut.com/l/_dWgTzzcV6TK9
https://dl.doubtnut.com/l/_53iEfsUIcLvl

Answer: A

o Watch Video Solution

8. The resistivity of iron is 1 x 107 ohm -m. The resistance of
a iron wire of particular length and thickness is 1 ohm. If the
length and the diameter of wire both are doubled, then the
resistivity in ohm-m will be

Alx107

B.2 x 1077

C.4x10°7

D.8 x 107

Answer: A

la


https://dl.doubtnut.com/l/_53iEfsUIcLvl
https://dl.doubtnut.com/l/_BAZ8qM2nwpVB
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9. The temperature coefficient of resistant of wire is
12.5 x 10~ */C°. At 300K the resistance of the wire is 1ohm
. The temperature at which resistance will be 20hm is

A 1154K

B. 1100K

C. 1400K

D. 1127K

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_BAZ8qM2nwpVB
https://dl.doubtnut.com/l/_CKQLeT9xnxXc

10. When the length and area of cross-section both are

doubled, then its resistance

A. Will become half

B. Will be doubled

C. Will remain the same

D. Will become four times

Answer: C

o Watch Video Solution

11. The resistance of a wire is 200hm. It is so stretched that
the length becomes three times, then the new resistance of

the wire will be


https://dl.doubtnut.com/l/_a5DbjHNoZ72q
https://dl.doubtnut.com/l/_cb2zSswIBa5P

A. 6.670hms

B. 60.00hms

C. 120ohms

D. 180.0ohms

Answer: D

o Watch Video Solution

12. The resistivity of a wire

A. Increases with the length of the wire

B. Decreases with the area of cross-section

C. Decreases with the length and increases with the cross-

section of wire


https://dl.doubtnut.com/l/_cb2zSswIBa5P
https://dl.doubtnut.com/l/_DGlA6VXYpt2X

D. None of the above statement is correct

Answer: D

o Watch Video Solution

13. Ohm's law is true

A. For metallic conductors at low temperature
B. For metallic conductors at high temperature

C. For electrolytes when current passes through them

D. For diode when current flows

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_DGlA6VXYpt2X
https://dl.doubtnut.com/l/_4U1wCQ0Mao5S

14. The example for non- ohm ice resistance is

A. Copper wire

B. Carbon resistance

C. Diode

D. Tungston wire

Answer: C

o Watch Video Solution

15. Drift velocity vy varies with the intensity of electric field as

per their relation

Avgx E


https://dl.doubtnut.com/l/_C5fYKlNxtJ7S
https://dl.doubtnut.com/l/_6VvkiBb4Q0GH

1
E
C.vqy = constant

D.vy; x E?

Answer: A

o Watch Video Solution

16. On increasing the temperature of a conductor, its

resistance increases because

A. Relaxation time decreases

B. Mass of the electrons increases

C. Electron density decreases

D. None of the above


https://dl.doubtnut.com/l/_6VvkiBb4Q0GH
https://dl.doubtnut.com/l/_p03THv02qFq5

Answer: A

o Watch Video Solution

17. In a conductor 4 coulombs of charge flows for 2 seconds .

The value of electric current will be

A. 4 volts

B. 4 amperes

C. 2 amperes

D. 2 volts

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_p03THv02qFq5
https://dl.doubtnut.com/l/_quHWQlECQ9sO
https://dl.doubtnut.com/l/_t0N3yQ0juNmW

18. The specific resistance of a wire is p, its volume is 3m?® and

its resistance is 3ohms, then its length will be

N @

>
|+~ ‘
SN

o
B
|

Answer: B

° Watch Video Solution

19. 62.5 x 10'® electrons per second are flowing through a
wire of area of cross-section O.lmz, the value of current

flowing wil be


https://dl.doubtnut.com/l/_t0N3yQ0juNmW
https://dl.doubtnut.com/l/_g3Cnf86mWokL

A 1A

B.0.14

C.104

D.0.114

Answer: C

o Watch Video Solution

20. A piece of wire of resistance 4 ohm s is bent through 180°
at its mid point and the two halves are twisted together, then
the resistance is

A. 8 ohms

B.1ohm


https://dl.doubtnut.com/l/_g3Cnf86mWokL
https://dl.doubtnut.com/l/_E3Hve4VrjJcu

C.2 ohms

D. 5 ohms

Answer: B

o Watch Video Solution

21. When a piece of aliminium wire of finite length is drawn

through a series of dies to reduce its diameter to half its

original value, its resistance will become

A. Two times

B. Four times

C. Eight times

D. Sixten times


https://dl.doubtnut.com/l/_E3Hve4VrjJcu
https://dl.doubtnut.com/l/_1y2eFMeSX74O

Answer: D

o Watch Video Solution

22. A wire 100cm long and 2.0mm diameter has a resistance of

0.7 ohm , the electrical resistivity of the material is

A 4.4 x 10" %ohm x m

B.2.2 x 10 %0hm x m

C.1.1 x 10 Sohm x m

D.0.22 x 10 %ohm x m

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_1y2eFMeSX74O
https://dl.doubtnut.com/l/_fTKdJiTRlDQE
https://dl.doubtnut.com/l/_qriBLExBHPQ6

23. A certain wire has a resistance R . The resistance of

another wire identical with the first except having twice its

diameter is

A 2R

B.0.25R

C.4R

D.0.5R

Answer: B

° Watch Video Solution

24. In hydrogen atom, the electron makes 6.6 x 10"
revolutions per second around the nucleus in an orbit of

radius 0.5 x 10~ "m. It is equivalent to a current nearly


https://dl.doubtnut.com/l/_qriBLExBHPQ6
https://dl.doubtnut.com/l/_HN8ZGty47ra8

A 1A

B.1mA

C.1uA

D.1.6 x 10" %4

Answer: B

o Watch Video Solution

25. A wire of length 5m and radius Tmm has a resistance of 1
ohm . What length of the wire of the same material at the
same temperature and of radius 2mm will also have a

resistance of 1 ohm

A 1.25m


https://dl.doubtnut.com/l/_HN8ZGty47ra8
https://dl.doubtnut.com/l/_aGjWArtvwDVi

B.2.5m

C.10m

D.20m

Answer: D

o Watch Video Solution

26. When there is an electric current through a conducting

wire along its length, then an electric field must exist

A. Outside the wire but normal to it

B. Outside the wire but parallel to it

C. Inside the wire but parallel to it

D. Inside the wire but normal to it


https://dl.doubtnut.com/l/_aGjWArtvwDVi
https://dl.doubtnut.com/l/_kfKUvOf723uy

Answer: C

o Watch Video Solution

27. Through a semiconductor, an electric current is due to

drift of

A. Free electrons

B. Free electrons and holes

C. Positive and negative ions

D. Protons

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_kfKUvOf723uy
https://dl.doubtnut.com/l/_EmF1iHjbncmE
https://dl.doubtnut.com/l/_4CDL01wG949K

28. In an electrolyte 3.2 x 10'® bivalent positive ions drift to
the right per second while 3.6 x 10'® monovalent negative
ions drift to the per second. Then the current is

A. 1.6 amp to the left

B. 1.6 amp to the right

C.0.45 amp to the right

D. 0.45 amp to the left

Answer: B

o Watch Video Solution

29. A metallic block has no potential difference applid across
it, then the mean velocity of free electrons is (T' = absolute

temperature of the block)


https://dl.doubtnut.com/l/_4CDL01wG949K
https://dl.doubtnut.com/l/_cSv2tkvu7YxT

A. Proportional to T
B. Proportional to v/T
C. Zero

D. Finite but independent of temperature

Answer: B

o Watch Video Solution

30. The specific resistance of all metals is most affected by

A. Temperature

B. Pressure

C. Degree of illumination

D. Applied magnetic field


https://dl.doubtnut.com/l/_cSv2tkvu7YxT
https://dl.doubtnut.com/l/_bF8WUDzlgPVI

Answer: A

o Watch Video Solution

31. The positive temperature coefficient of resistance is for

A. Carbon

B. Germanium

C. Copper

D. An electrolyte

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_bF8WUDzlgPVI
https://dl.doubtnut.com/l/_ukkJBvSqRlfS

32. The fact that the conductance of some metals rises to

infinity at some temperature below a few Kelvin is called

A. Thermal conductivity

B. Optical conductivity

C. Magnetic conductivity

D. Superconductivity

Answer: D

o Watch Video Solution

33. Dimensions of a block are 1em x lem X 100cm. If specific
resistance of its material is 3 x 10~ "ohm — m, then the

resistance between the opposite rectangular facesis


https://dl.doubtnut.com/l/_ioOb4W8XxnTx
https://dl.doubtnut.com/l/_PngpMK81f4Zp

A .3 x 10" %ohm

B.3 x 10 "ohm

C.3 x 10 %ohm

D.3 x 10 30hm

Answer: B

o Watch Video Solution

34.In the above question, the resistance between the square

faces is

A.3 x 10 2ohm

B.3 x 10 "ohm

C.3 x 10 %ohm


https://dl.doubtnut.com/l/_PngpMK81f4Zp
https://dl.doubtnut.com/l/_avWxelGDiSWA

D.3 x 10 30ohm

Answer: D

o Watch Video Solution

35. There is a current of 20 amperes in a copper wire of 10~ °
square metre area of cross-section. If the number of free
electrons per cubic metre is 10%° then the drift velocity is
A.125 x 10 °m /sec
B.12.5 x 10 *m /sec

C.1.25 x 10 3m /sec

D.1.25 x 10~ *m /sec

Answer: C


https://dl.doubtnut.com/l/_avWxelGDiSWA
https://dl.doubtnut.com/l/_aoEwat769S6M

o Watch Video Solution

36. The electric intensity E , current density j and specific

resistance k are related to each other by the relation

A E = jlk
B.E = jk
C.E=kEl
D.k = jFE
Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_aoEwat769S6M
https://dl.doubtnut.com/l/_KPHkYtH70o1u

37.The resistance of a wire of uniform diameter d and length
L is R . The resistance of another wire of the same material
but diameter 2d and length 4L will be

A 2R

B.R

C.R/2

D.R /4

Answer: B

o Watch Video Solution

38. There is a current of 1344 amp in a copper wire whose

area of cross-section normal to the length of the wire is


https://dl.doubtnut.com/l/_M7KRd3ErS3sJ
https://dl.doubtnut.com/l/_g5Rsz5BGCCET

Imm?. If the number of free electrons per cm? is 8.4 x 10%2

then the drift velocity would be

A.1.0mm /sec
B.1.0m /sec
C.0.1mm /sec

D.0.0lmm /sec

Answer: C

o Watch Video Solution

39. It is easier to start a car engine on a hot day than on a
cold day. This is because the internal resistance of the car

battery


https://dl.doubtnut.com/l/_g5Rsz5BGCCET
https://dl.doubtnut.com/l/_bzxjFwQ6yrhZ

A. Decreases with rise in temperature

B. Increases with rise in temperature

C. Decreases with a fall in temperature

D. Does not change with a change in temperature

Answer: A

o Watch Video Solution

40. 5 amperes of current is passed through a metallic

conductor. The charge flowing in one minute in coulombs will

be

A5

B.12


https://dl.doubtnut.com/l/_bzxjFwQ6yrhZ
https://dl.doubtnut.com/l/_gfmgy0M1oUjG

c.1/2

D. 300

Answer: D

o Watch Video Solution

41. Two wires of the same material are given. The first wire is

twice as long as the second and has twice the diameter of the

second. The resistance of the first will be

A. Twice of the second

B. Half of the second

C. Equal to the second

D. Four times of the second


https://dl.doubtnut.com/l/_gfmgy0M1oUjG
https://dl.doubtnut.com/l/_JrhFW7xakJXA

Answer: B

o Watch Video Solution

42. An electric wire is connected across a cell of em.f. E . The
current | is measured by an ammeter of resistance R.

According to ohm's law

AE=1IR
B.E=1IR
CE=R/I
DE=I/R
Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_JrhFW7xakJXA
https://dl.doubtnut.com/l/_ja5hJ0MohSCw

43. The resistances of a wire at temperatures t°C and 0°C
are releated by
A R; = Ry(1 + at)

Answer: A

o Watch Video Solution

44. An electric wire of length ‘I’ and area of cross-section a

has a resistance R ohm s. Another wire of the same material


https://dl.doubtnut.com/l/_ja5hJ0MohSCw
https://dl.doubtnut.com/l/_bdWsWGlXpHga
https://dl.doubtnut.com/l/_o1OCxPzL5lkn

having same length and area of cross-section 4a has a

resistance of

A 4R

B.R/4

C.R/16

D.16R

Answer: B

o Watch Video Solution

45, For which of the following the resistance decreases on

increasing the temperature

A. Copper


https://dl.doubtnut.com/l/_o1OCxPzL5lkn
https://dl.doubtnut.com/l/_OXVtA4RRNvyY

B. Tungsten

C. Germanium

D. Aluminium

Answer: C

o Watch Video Solution

46. If n, e, 7, m, are representing electron density charge,
relaxation time and mass of an electron respectively then the
resistance of wire of length 1 and cross sectional area A is

given by

ml

ne?tA

mt2A

ne?l


https://dl.doubtnut.com/l/_OXVtA4RRNvyY
https://dl.doubtnut.com/l/_qQHOSRufLqx3

ne2rA
2ml
ne?A

" 2mTl

Answer: A

o Watch Video Solution

47.The relaxation time in conductors

A. Increases with the increase of temperature

B. Decreases with the increase of temperature

C. It does not depend on temperature

D. All of sudden changes at 400 K

Answer: B

| Q Ao _L vl . @ ~_ ..


https://dl.doubtnut.com/l/_qQHOSRufLqx3
https://dl.doubtnut.com/l/_PrhRo7LugjAa

L vvallll viUCO o0I1ULioll )|

48. Which of the following statement is correct

A. Liquids obey fully the ohm's law

B. Liquids obey partially the ohm's law

C.There is no relation between current and p.d for liquids

D. None of the above

Answer: B

o Watch Video Solution

49, A certain piece of silver of given mass is to be made like a

wire. Which of the following combination of length ( L) and


https://dl.doubtnut.com/l/_PrhRo7LugjAa
https://dl.doubtnut.com/l/_dWG6MHd2lYNo
https://dl.doubtnut.com/l/_n4DlyKgh9OPK

the area of cross-sectional ( A ) will lead to the smallest

resistance

A.Land A

B.2Land A /2

C.L/2and2A

D. Any of the above, because volume of silver remains

same

Answer: C

o Watch Video Solution

50. The resistance of a wire is 10€2. Its length is increased by

10 % by stretching. The new resistance will now be


https://dl.doubtnut.com/l/_n4DlyKgh9OPK
https://dl.doubtnut.com/l/_tZVY3ZLSD4r9

A. 12Q)

B. 1.2

C. 1302

D.11Q

Answer: A

o Watch Video Solution

51. Resistance of tungsten wire at 150°C is 133€). Its
resistance temperature coefficient is 0.0045/° C. The

resistance of this wire at 500° C will be

° Watch Video Solution



https://dl.doubtnut.com/l/_tZVY3ZLSD4r9
https://dl.doubtnut.com/l/_CwnB610I3Y07

52. A metal wire of resistivity 64 x 10 %Qcm and length
198cm has a resistance of 7). Calculate its radius.

A. 2.4cm

B.0.24cm

C.0.024cm

D. 24cm

Answer: C

o Watch Video Solution

53. A copper wire of length 1m and radius is joined in series

with an iron wire of length 2m and radius 3mm and a current


https://dl.doubtnut.com/l/_XMSqMzoMuLPl
https://dl.doubtnut.com/l/_HFLJx7PnetM4

is passed through the wire. The ratio of the current density in
the copper and iron wires is

A 18:1

B.9:1

C.6:1

D.2:3

Answer: B

o Watch Video Solution

v
54. For a metallic wire, the ratio — ( V' = applied potential
1

difference and 7 = current flowing ) is

A. Independent of temperature


https://dl.doubtnut.com/l/_HFLJx7PnetM4
https://dl.doubtnut.com/l/_KOUJ82Yhatho

B. Increases as the temperature rises

C. Decreases as the temperature rises

D. Increases or decreases as temperature rises, depending

upon the metal

Answer: B

o Watch Video Solution

55. The resistance of a wire is R . If the length of the wire is

doubled by stretching, then the new resistance will be

A 2R

B.4R

C.R


https://dl.doubtnut.com/l/_KOUJ82Yhatho
https://dl.doubtnut.com/l/_LW6p8ziJoMGl

p. 2
!

Answer: B

o Watch Video Solution

56. Which of the following has a negative temperature

coefficient

AC

B. Fe

C. Mn

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_LW6p8ziJoMGl
https://dl.doubtnut.com/l/_ksHmgdnHK9X7

57. The reciprocal of the reistance is

A. Conductance

B. Resistivity

C. Voltage

D. None of the above

Answer: A

o Watch Video Solution

58. A solenoid is at potential difference 60 V and current flows

through it is 15 ampere, then the resistance of coil will be


https://dl.doubtnut.com/l/_ksHmgdnHK9X7
https://dl.doubtnut.com/l/_sr9wHBSppLRQ
https://dl.doubtnut.com/l/_Gn7knP74SGQl

A 4Q)

B. 82

C. 0.25%2

D. 2(2

Answer: A

o Watch Video Solution

59. All of the following statements are true except

A. Conductance is the reciprocal of resistance and is

measured in Siemens

B. Ohm's law is not applicable at very low and very high

temperatures


https://dl.doubtnut.com/l/_Gn7knP74SGQl
https://dl.doubtnut.com/l/_gdm29TOvPbQj

C.Ohm''s law is applicable to semiconductors

D.Ohm 's law is not applicable to electron tubes,

discharge tubes and electrolytes

Answer: C

o Watch Video Solution

60. A potential difference of V applied at the ends of a

copper wire of length [ and diameter d. On doubling only d

drift velocity.

A. Becomes two times

B. Becomes half

C. Does not change


https://dl.doubtnut.com/l/_gdm29TOvPbQj
https://dl.doubtnut.com/l/_02GGp5Sgg1gs

D. Becomes one fourth

Answer: C

o Watch Video Solution

61. If the resistance of a conductor is 5Q2 at 50° C and 72 at
100° C then the mean temperature coefficient of resistance
of the material is

A.0.008/C

B.0.006 /C

C.0.004/C

D.0.001/C

Answer: A


https://dl.doubtnut.com/l/_02GGp5Sgg1gs
https://dl.doubtnut.com/l/_qCreBxnsYhIP

o Watch Video Solution

62. The resistance of a discharge tube is

A. Ohmic

B. Non-ohmic

C.Both (a) and (b)

D. Zero

Answer: B

o Watch Video Solution

63. We are able to obtain fairly large currents in a conductor

because


https://dl.doubtnut.com/l/_qCreBxnsYhIP
https://dl.doubtnut.com/l/_DIUZ2grCtXnK
https://dl.doubtnut.com/l/_vDf9pnWCsCLs

A. The electron drift speed is usually very large

B. The number density of free electrons is very high and

this can compensate for the low values of the electron

drift speed and the very small magnitude of the

electron charge

C.The number density of free electrons as well as the

electron drift speeds are very large and these

compensate for the very small magnitude of the

electron charge

D. The very small magnitude of the electron charge has to

be divided by the still smaller product of the number

density and drift speed to get the electric current

Answer: B


https://dl.doubtnut.com/l/_vDf9pnWCsCLs

o Watch Video Solution

64. A platinum resistance thermometer has a resistance of
502 at 20°C . When dipped in a liquid the resistance
becomes 76.8() . The temperature coefficient of resistance for
platinum is o = 3.92 x 10~ %/ °C. The temperature of the
liquid is

A.100°C

B.137°C

C.167°C

D.200°C

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_vDf9pnWCsCLs
https://dl.doubtnut.com/l/_oaqLPp7l6Gpb

65. In a wire of cross-section radius 7, free electrons travel
with drift velocity v when a current I flows through the wire.
What is the current in another wire of half the radius and of
the same material when the drift velocity is 2v?

A 21

B. 1

C.I/2

D.I/4

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_oaqLPp7l6Gpb
https://dl.doubtnut.com/l/_QI9Uix9MbOma

66. The resistivity of a wire depends on its

A. Length

B. Area of cross-section

C. Shape

D. Material

Answer: D

o Watch Video Solution

67. The conductivity of a superconductor is

A. Infinite

B. Very large


https://dl.doubtnut.com/l/_NCyFHCFLIWnE
https://dl.doubtnut.com/l/_PIcnTNBG73Gn

C. Very small

D. Zero

Answer: A

o Watch Video Solution

68. In a neon discharge tube 2.9 x 10 Ne ™ ions move to the
right each second while 1.2 x 10'® eletrons move to the left
per second. Electron charge is 1.6 x 10~ ?C. The current in
the discharge tube

A. 1A towards right

B.0.66A towards right

C.0.66 A towards left


https://dl.doubtnut.com/l/_PIcnTNBG73Gn
https://dl.doubtnut.com/l/_bxR4fcpPtwkI

D. Zero

Answer: B

o Watch Video Solution

69. A Steady current flows in a metalic conductor of non

uniform cross section. The quantity/quantities which remain

constant along the length of the conductor is/are

A. Current, electric field and drift speed

B. Drift speed only

C. Current and drift speed

D. Current only

Answer: D


https://dl.doubtnut.com/l/_bxR4fcpPtwkI
https://dl.doubtnut.com/l/_wA5zkOtuBApX

o Watch Video Solution

70. The resistivity of alloys = Ry, the resistivity of
constituent metals R .- Then, usually

A Ralloy = Ryetal

B. Ralloy < Rmetal

C. There is no simple relation between R,y and Rypetal

D. Ralloy > Rmetal

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_wA5zkOtuBApX
https://dl.doubtnut.com/l/_YQa2W75R8MmG

71. Two wires A and B of same material and same mass have

radius 2r and r. If resistance of wire A is 34}, then resistance

of B will be

A. 5440

B. 272()

C. 682

D.17Q

Answer: A

o Watch Video Solution

72. Two rods of same material and length have their electric

resistance in ratio 1: 2. When both rods are dipped in water,


https://dl.doubtnut.com/l/_5K6M8KPX6esD
https://dl.doubtnut.com/l/_AsU8euNUWi7q

the correct statement will be

A. A has more loss of weight

B. B has more loss of weight

C. Both have same loss of weight

D. Loss of weight will be in the ratio 1: 2

Answer: A

o Watch Video Solution

73. 20 A current flows for 30 seconds in a wire, transfer of

charge will be

A2x 10" 4C

B.4 x 10~ 4C


https://dl.doubtnut.com/l/_AsU8euNUWi7q
https://dl.doubtnut.com/l/_oPjAdmLXKZOJ

C.6 x 10 *C

D.8 x 10 4C

Answer: C

o Watch Video Solution

74. 01 and o4 are the electrical conductivities of Ge and Na

respectively. If these substances are heated, then

A.Both o7 and o4 increase

B. oy increases and o5 decrease

C. 0 decreases and o5 increases

D.Both o; and o5 decrease

Answer: B


https://dl.doubtnut.com/l/_oPjAdmLXKZOJ
https://dl.doubtnut.com/l/_zPKgCXobymjc

o Watch Video Solution

75. 1.6mA current is flowing in conducting wire then the

number of electrons flowing per second is

A 10M

B. 10'°

c.10"

D.10%

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_zPKgCXobymjc
https://dl.doubtnut.com/l/_fZsoyVZtVTW8

76. A current I is passing through a wire having two sections
P and O of uniform diameters d and d /2 respectively. If the
mean drift velocity of electrons in section P and @) is denoted

by vp and vg respectively, then

Av=v
8 _1
.v—2v
c _1
.v—4v
D.v = 2v
Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_TxO7OJu229Gi

77.If the elctric current is passed through a nerve, the man is

excited, why?

A. Begins to laugh

B. Begins to weep

C. Is excited

D. Becomes insensitive to pain

Answer: C

o Watch Video Solution

78. The resistance of a coil is 4.2 at 100°C and the

0.004
o C

temperature coefficient of resistance of its material is

Its resistance at 0°C'is


https://dl.doubtnut.com/l/_TINxeoss7N3L
https://dl.doubtnut.com/l/_Y7fDtqPt5mu5

A. 6.5

B. 52

C. 302

D. 4(2

Answer: C

o Watch Video Solution

79. The massses of the three wires of copper are in the ratio 1
: 3: 5. And their lengths are in th ratio 5 : 3 : 1. the ratio of
their electrical resistance is

A1:3:5

B.5:3:1


https://dl.doubtnut.com/l/_Y7fDtqPt5mu5
https://dl.doubtnut.com/l/_3EjwBTsItfGU

C.1:15:125

D.125:15:1

Answer: D

o Watch Video Solution

80. Conductivity increases in the order of

A Al, Ag, Cu

B. Al, Cu, Ag

C.Cu, Al, Ag

D. Ag, Cu, Al

Answer: B

| O Ao _L vl o ~_ ..


https://dl.doubtnut.com/l/_3EjwBTsItfGU
https://dl.doubtnut.com/l/_5XiCarKnFOgL

L vvallll viUCoO o0I1ULiorll )|

81. A uniform wire of resistance R is uniformly compressed
along its length, until its radius becomes n times the original

radius. Now resistance of the wire becomes

3w Y|m 3w

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_5XiCarKnFOgL
https://dl.doubtnut.com/l/_I3HNd50cvC4m

82. The resistance of a wire is 5 ohm at 50°C and 6 ohm at

100° C. The resistance of the wire at 0° C will be

A.1ohm

B.2 ohm

C.3 ohm

D.4 ohm

Answer: D

o Watch Video Solution

83. If an electron revolves in the circular path of radius 0.54°
at a frequency of 5 x 10" cycles/sec. The equivalent electric

current is


https://dl.doubtnut.com/l/_L3gqZ9uvh0dH
https://dl.doubtnut.com/l/_Wifd2VL9MmpC

A.0.4mA

B.0.8mA

C.1.2mA

D.1.6mA

Answer: B

o Watch Video Solution

84. Equal potentials are applied on an iron and copper wire of
same length. In order to have the same current flow in the
two wires, the ratio r (iron)/r(copper) of their radii must be
(Given that specific resistance of iron
= 1.0 x 10" "ohm — m and specific resistance of copper

= 1.7 x 10" 80hm — m)


https://dl.doubtnut.com/l/_Wifd2VL9MmpC
https://dl.doubtnut.com/l/_jYUPCbFL5W4A

A. About 1.2

B. About 2.4

C. About 3.6

D. About 4.8

Answer: B

o Watch Video Solution

85. An electron(charge = 1.6 x 10'® coulomb) is moving in a
circle of radius 5.1 x 10''m at a freqnecy of 6.8 x 10"
revolution/sec. The equivalent current is approximately

A.5.1 x 1072 amp

B.6.8 x 103 amp


https://dl.doubtnut.com/l/_jYUPCbFL5W4A
https://dl.doubtnut.com/l/_2zdrkRr3pfYd

C.1.1 x 103 amp

D.2.2 x 102 amo

Answer: C

o Watch Video Solution

86. A rod of certain metal is 1.0m long and 0.6¢m in diameter.
Its resistance is 3.0 x 10&( — 3) ohm. Another disc made of
the same metal is 2.0cm in diameter and 1.0mm thick. What
is the resistance between the round faces of the disc?

A.1.35 x 108 ohm

B.2.70 x 10~ ohm

C.4.05 x 10~ % ohm


https://dl.doubtnut.com/l/_2zdrkRr3pfYd
https://dl.doubtnut.com/l/_1DrEic31N4qB

D.8.10 x 102 ohm

Answer: B

o Watch Video Solution

87. At what temperature will the resistance of a copper wire
become three times its value at 0° C (Temperature coefficient
of resistance for copper = 4 x 103 per C)

A.400°C

B.450° C

C.500°C

D.550°C

Answer: C


https://dl.doubtnut.com/l/_1DrEic31N4qB
https://dl.doubtnut.com/l/_FOObCrQE4dmV

o Watch Video Solution

88. An electron revolves 6 x 10! times/sec in circular loop.

The current in the loop is

A. 0.96m A
B. 0.06.A4
C.28.84

D. None of these

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_FOObCrQE4dmV
https://dl.doubtnut.com/l/_agsyOZjPn7zs

89. The charge of an electron is 1.6 x 10'C . How many
electrons strike the screen of a cathode ray tube each second
when the beam current is 16 mA

A. 10"

B. 10"

C.10%

D. 10"

Answer: A

o Watch Video Solution

90. If potential V' = 100 + 0.5 Volt and current I = 10 £ 0.2

amp are given to us. Then what will be the value of resistance


https://dl.doubtnut.com/l/_Fa6Ww6Ps267S
https://dl.doubtnut.com/l/_an8WCE8eapcK

A.10 + 0.7 ohm

B.5 + 2 ohm

C.0.1 £ 0.2 ohm

D. None of these

Answer: D

o Watch Video Solution

91. A nichrome wire 50 cm long and one square millimetre
cross- section carries a current of 4 A when connected to a 2
V battery. The resistivity of nichrome wire in ohm metre is

A1lx 10"

B.4 x 107


https://dl.doubtnut.com/l/_an8WCE8eapcK
https://dl.doubtnut.com/l/_6w9xJ88BgTLy

C.3x10°7

D.2x 107

Answer: A

o Watch Video Solution

92. If an observer is moving with respect to a stationary

electron, then he observes

A. Only magnetic field

B. Only electric field

C. Both (a) and (b)

D. None of the above

Answer: C


https://dl.doubtnut.com/l/_6w9xJ88BgTLy
https://dl.doubtnut.com/l/_nXV3iOAXD6La

o Watch Video Solution

93. Calculate the amount of charge flowing in 2 minutes in a

wire of resistance 102 when a potential difference of 20 V is

applied between its ends

A.120C

B. 240C

C.20C

D.4C

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_nXV3iOAXD6La
https://dl.doubtnut.com/l/_xFLVwh38P8bM

94. If a wire of resistance R is melted and recasted to half of
its length, then the new resistance of the wire will be

A R/4

B.R/2

C.R

D.2R

Answer: A

o Watch Video Solution

95. The drift velocity does not depend upon

A. Cross-section of the wire


https://dl.doubtnut.com/l/_20LVvHyo48qz
https://dl.doubtnut.com/l/_R4AEWSXKMn2Z

B. Length of the wire

C. Number of free electrons

D. Magnitude of the current

Answer: B

o Watch Video Solution

2

96. There is a current of 40 ampere in a wire of 10~ %m? are of

cross-section. If the number of free electron per m? is 10%°
then the drift velocity will be
A.1.25 x 10°m /s

B.2.50 x 10 *m /s

C.25.0 x 10 3m /s


https://dl.doubtnut.com/l/_R4AEWSXKMn2Z
https://dl.doubtnut.com/l/_WGBRKz52yZSt

D.250 x 10 3m /s

Answer: B

o Watch Video Solution

97. At room temperature copper has free electron density of
8.4 x 10®perm? . The copper conductor has a cross-section
of 10~ ®m? and carries a current of 5.4 A. What is the electron
drift velocity in copper?

A.400m /s

B.0.4m /s

C.0.4mm /s

D.72m /s


https://dl.doubtnut.com/l/_WGBRKz52yZSt
https://dl.doubtnut.com/l/_R2uIkfuinnSj

Answer: C

o Watch Video Solution

98. The resistance of a 5 cm long wire is 10€2 . It is uniformly

stretched so that its length becomes 20 cm . The resistance of

the wire is

A. 16012

B. 802

C. 400

D. 202

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_R2uIkfuinnSj
https://dl.doubtnut.com/l/_wbOJTVWJBHoH

99. The resistance of an incandescent lamp is

A. Greater when switched off

B. Smaller when switched on

C. Greater when switched on

D. The same whether it is switched off or switched on

Answer: C

o Watch Video Solution

100. In the figure a carbon resistor has bands of different

colours on its body as mentioned in the figure. The value of


https://dl.doubtnut.com/l/_wbOJTVWJBHoH
https://dl.doubtnut.com/l/_ola07I9IkFMk
https://dl.doubtnut.com/l/_W8IxR1AjhS2o

the resistance is

Silver

\’Vhite BFO\‘VH

A 2.2kQ

B. 3.3k(2

C. 5.6k

D. 9.1k(2

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_W8IxR1AjhS2o

101. By increasing the temperature , the specific resistance of

a conductor and a semiconductor

A. Increases for both

B. Decreases for both

C. Increases, decreases

D. Decreases, increases

Answer: C

o Watch Video Solution

102. Which of the following is vector quantity

A. Current density


https://dl.doubtnut.com/l/_3f6lFnJT6bjs
https://dl.doubtnut.com/l/_lbmWAaYdML9g

B. Current

C. Wattless current

D. Power

Answer: A

o Watch Video Solution

103. Masses of 3 wires of same metal are in the ratio 1:2:3

and their lengths are in the ratio 3:2:1. The electrical

resistances are in ratio

A l1:4:9

B.9:4:1

C.1:2:3


https://dl.doubtnut.com/l/_lbmWAaYdML9g
https://dl.doubtnut.com/l/_XNfmiVLJhvxU

D.27:6:1

Answer: D

o Watch Video Solution

104. A current of 1 mA is flowing through a copper wire. How

many electrons will pass a given point in one second

le = 1.6 x 10*°Coulomb]

A. 6.25 x 10"
B.6.25 x 10'°
C.6.25 x 10°%!

D.6.25 x 108

Answer: B


https://dl.doubtnut.com/l/_XNfmiVLJhvxU
https://dl.doubtnut.com/l/_sHur06qQga4R

o Watch Video Solution

105. The drift velocity of free elecrons in a conductor is v,
when a current i is flowing in it. If both the radius and current

are doubled, then the drift velocity wil be

e e

|

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_sHur06qQga4R
https://dl.doubtnut.com/l/_EutijAeTy9Yd

106. A wire of radius r has resistance R. If it is stretched to a

3r
radius of e its resistance becomes

L
" 16

BlGR
9

81R
" 256

b 256 R
- 81

Answer: D

o Watch Video Solution

107. The resistance of a conductor increases with

A.Increase in length


https://dl.doubtnut.com/l/_BmO4qHaUKhx3
https://dl.doubtnut.com/l/_T8pRDmTgvbhE

B. Increase in temperature

C. Decrease in cross-sectional area

D. All of these

Answer: D

o Watch Video Solution

108. A copper wire has a square cross-section, 2.0 mm on a
side. It carries a current of 8 A and the density of free
electrons is 8 x 10%®m 3. The drift speed of electrons is

equal to

A. 0.156 x 10 3ms

B.0.156 x 10 2ms


https://dl.doubtnut.com/l/_T8pRDmTgvbhE
https://dl.doubtnut.com/l/_UZjgzYimwtov

C.3.12 x 10 3ms

D.3.12 x 10 %ms

Answer: A

o Watch Video Solution

109. Two wires of same material have length L and 2 L and

cross— sectional areas 4 A and A respectively. The ratio of

their specific resistance would be

Al:2

B.8:1

C.1:8

D.1:1


https://dl.doubtnut.com/l/_UZjgzYimwtov
https://dl.doubtnut.com/l/_gJ2st5OX6osz

Answer: D

o Watch Video Solution

110. When a current flows through a conductor its

temperature

A. May increase or decrease

B. Remains same

C. Decreases

D. Increases

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_gJ2st5OX6osz
https://dl.doubtnut.com/l/_idClJLnL3R9T
https://dl.doubtnut.com/l/_zkkWOZd4LFdn

M. What length of the wire of specific resistance

48 x 107 80Qm is needed to make a resistance of 4.2

(diameter of wire = 0.4mm)

A 4.1m

B.3.1m

C.2.1m

D.1.1m

Answer: D

o Watch Video Solution

112. A strip of copper and another of germanium are cooled

from room temperature to 80 K. The resistance of


https://dl.doubtnut.com/l/_zkkWOZd4LFdn
https://dl.doubtnut.com/l/_Pejy4Uzr3cQf

A. Each of these increases

B. Each of these decreases

C.Copper strip increases and that of germanium

decreases

D. Copper strip decreases and that of germanium

increases

Answer: D

o Watch Video Solution

113. The length of a given cylindrical wire is increased by
100 % . Due to the consequent decrease in diameter the

change in the resistance of the wire will be


https://dl.doubtnut.com/l/_Pejy4Uzr3cQf
https://dl.doubtnut.com/l/_zNDXwMQ2enYU

A. 300 %

B. 200 %

C. 100 %

D.50 %

Answer: A

o Watch Video Solution

114. Express which of the following set ups can be used to

verify

ohm's law?



https://dl.doubtnut.com/l/_zNDXwMQ2enYU
https://dl.doubtnut.com/l/_fdHc5WF2eceQ

Answer: A

o Watch Video Solution

115. We have two wire A and B of the same mass and the
same material. The diameter of the wire A is half of that B. If
the resistance of wire A is 24ohm them the resistance of wire

B will be


https://dl.doubtnut.com/l/_fdHc5WF2eceQ
https://dl.doubtnut.com/l/_TLQgavO3utlL

A.12 ohm

B.3.0 ohm

C.1.5 ohm

D. None of the above

Answer: C

° Watch Video Solution

116. In a hydrogen atube it is observed that through a given
cross-section 3.13 x 10'° electrons per sec, moving from
right to left and3.12 x 10" protons per sec are moving from
left to right. The electric current in the discharge tube ad its

direction is

A. TmA towards right


https://dl.doubtnut.com/l/_TLQgavO3utlL
https://dl.doubtnut.com/l/_seHhQ98hvA3J

B. TmA towards left

C. 2mA towards left

D. 2mA towards right

Answer: A

o Watch Video Solution

117. A stready current i is flowing through a conductor of

uniform cross-section. Any segment of the conductor has

A. Zero charge

B. Only positive charge

C. Only negative charge

D. Charge proportional to current i


https://dl.doubtnut.com/l/_seHhQ98hvA3J
https://dl.doubtnut.com/l/_gjCex6jCUecG

Answer: A

o Watch Video Solution

118. The length of the wire is doubled. Its conductance will be

A.Unchanged
B. Halved
C. Quadrupled

D.1/4 of the original value

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_gjCex6jCUecG
https://dl.doubtnut.com/l/_wA8VgaEMFRZw

119. A source of emf. E = 15V and having negligible internal
resistance is connected to a variable resistance so that the
current in the circuit increases with time as 7 = 1.2t + 3
Then, the total charge that will flow in first five second will be
A. 10C
B. 20C

C.30C

D. 40C

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_uLdeUFjmeKcf

120. The new resistance of wire of Rf2, whose radius is

reduced half, is

A 16R

B.3R

C.2R

D.R

Answer: A

o Watch Video Solution

121. A resistance R is stretched to four times its length. Its

new resistance will be


https://dl.doubtnut.com/l/_vuY1S1UKLH08
https://dl.doubtnut.com/l/_xw5UJqUXET7Z

A. 4R

B. 64R

CR/4

D.16R

Answer: D

o Watch Video Solution

122. What is the resistance of a carbon resistance which has

bands of colours brown, black and brown

A. 10012

B. 10002

C. 1092


https://dl.doubtnut.com/l/_xw5UJqUXET7Z
https://dl.doubtnut.com/l/_mLtfEG8d0QQt

D. 1Q

Answer: A

o Watch Video Solution

123. The lead wires should have

A. Larger diameter and low resistance

B. Smaller diameter and high resistance

C. Smaller diameter and low resistance

D. Larger diameter and high resistance

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_mLtfEG8d0QQt
https://dl.doubtnut.com/l/_ygJxvUu0wr31

124. The alloys constantan and manganin are used to make

standard resistance due to they have

A. Low resistivity

B. High resistivity

C. Low temperature coefficient of resistance

D. Both (b) and (c)

Answer: D

o Watch Video Solution

125. When a potential difference is applied across the ends of

a linear metallic conductor


https://dl.doubtnut.com/l/_grBZJZU3dUii
https://dl.doubtnut.com/l/_GmxPExdL4ifc

A.The free electrons are accelerated continuously from

the lower potential end to the higher potential end of

the conductor

B. The free electrons are accelerated continuously from

the higher potential end to the lower potential end of

the conductor

C. The free electrons acquire a constant drift velocity from

the lower potential end to the higher potential end of

the conductor

D. The free electrons are set in motion from their position

of rest

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_GmxPExdL4ifc

126. The electric resistance of a certain wire of iron is R . If its

length and radius are both doubled, then

A.The resistance will be doubled and the specific

resistance will be halved

B. The resistance will be halved and the specific resistance

will remain unchanged

C. The resistance will be halved and the specific resistance

will be doubled

D.The resistance and the specific resistance, will both

remain unchanged

Answer: B



https://dl.doubtnut.com/l/_GmxPExdL4ifc
https://dl.doubtnut.com/l/_WbQ3BeE0o3wA

| & Watch Video Solution

127. A wire of diameter 0.02 metre contains 1028 free
electrons per cubic metre. For an electrical current of 100 A,
the drift velocity of the free electrons in the wire is nearly

Alx10 Ym/s

B.5 x 10 'm /s

C.2x 10 *m/s

D.8 x 10°m /s

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_WbQ3BeE0o3wA
https://dl.doubtnut.com/l/_vjjbg1NjvEAF

128. The following four wires are made of the same material.

Which of these will have the largest extension when the same

tension is applied?

A. Length =50 cm, diamter = 0.5 mm

B. Length =100 cm, diameter = Tmm

C. Length =200 cm, diameter = 2mm

D. Length =300 cm, diameter = 3mm

Answer: A

o Watch Video Solution

129. The colour sequence in a carbon resistor is red, brown,

orange and silver. The resistance of the resistor is


https://dl.doubtnut.com/l/_34Tua1WwE1z1
https://dl.doubtnut.com/l/_Xhf5WLmn4Y1m

A21 x 10° £ 10%

B.23 x 10" & 10

C.21 x 10> £ 5%

D.12 x 10 = 5%

Answer: A

o Watch Video Solution

130. A thick wire is stretched so that its length become two
times. Assuming that there is no change in its density, then
what is the ratio of change in resistance of wire to the initial

resistance of wire

A 2:1


https://dl.doubtnut.com/l/_Xhf5WLmn4Y1m
https://dl.doubtnut.com/l/_Qqw2t0rQBqKv

B.4:1

C.3:1

D.1:4

Answer: C

o Watch Video Solution

131. The length of the resistance wire is increased by 10%.

What is the corresponding change in the resistance of wire

A 10 %
B.25 %
C.21%

D.9%


https://dl.doubtnut.com/l/_Qqw2t0rQBqKv
https://dl.doubtnut.com/l/_EVzQFX3rqYH8

Answer: C

o Watch Video Solution

132. The electric field E, current density j and conductivity o of

a conductor are related as

Ac=E/j
B.o =j/FE
C.o =jF
D.c =1/jFE
Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_EVzQFX3rqYH8
https://dl.doubtnut.com/l/_Jii11HXSfrlK
https://dl.doubtnut.com/l/_ExjrxwA7YFo3

133. Two wires that are made up of two different materials

whose specific resistance are in the ratio 2 : 3, length 3: 4 and

area 4 : 5. The ratio of their resistances is

A.6:5

B.6:8

C.5:8

D.1:2

Answer: C

o Watch Video Solution

134. The potential difference between points A and B

adjoining figure is


https://dl.doubtnut.com/l/_ExjrxwA7YFo3
https://dl.doubtnut.com/l/_OP0gpwVZvkoC

o Q 5Q
A MWW MN—— B
2V
50 Z¢
D 50 50 c
A 2V
"3
8
B.§V
C 4V
3
D.2V
Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_OP0gpwVZvkoC

135. Two resistors of resistance R; and R, having Ry > R,
are connected in parallel. For equivalent resistance R, the

correct statement is

AR>R+ R,
B.R; < R < Ry
CRy<R< (R1+R2)

D.R < Ry

Answer: D

o Watch Video Solution

136. A wire of resistance R is divided in 10 equal parts. These

parts are connected in parallel, the equivalent resistance of


https://dl.doubtnut.com/l/_k4pFMPC6IMaY
https://dl.doubtnut.com/l/_oNDjFdV0DRgK

such connection will be

A.0.01R

B.0.1R

C.10R

D.100R

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_oNDjFdV0DRgK

137. The current in the adjoining circuit will be

Y

——ovy 30 Q 30 Q

30 Q

A

1
A. — ampere
45

1
B. T ampere

1
C. 10 ampere

1
D. —
£ ampere

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_Ep3rZtojPQXM

138. There are 8 equal resistances R . Two are connected in
parallel, such four groups are connected in series, the total

resistance of the system will be

AR/2
B.2R
C.4R

D.8R

Answer: B

o Watch Video Solution

139. Three resistance of one ohm each are connected in

parallel. Such connection is again connected with 2/3Q


https://dl.doubtnut.com/l/_r9KVEnFxbl92
https://dl.doubtnut.com/l/_Lq0YCIQDa8cC

resistor in series. The resultant resistance will be

Answer: C

o Watch Video Solution

140. The lowest resistance which can be obtained by

connecting 10 resistors each of 1 /100hm is

A.1/2509)

B. 1,200



https://dl.doubtnut.com/l/_Lq0YCIQDa8cC
https://dl.doubtnut.com/l/_UeQDnPADqVm5

C.1,/100Q2

D.1/10%

Answer: C

o Watch Video Solution

141. The reading of the ammeter as per figure shown is

|


https://dl.doubtnut.com/l/_UeQDnPADqVm5
https://dl.doubtnut.com/l/_rNNCiDrT7TiI

@
s

|~ | w

N
N

D.2A

Answer: B

o Watch Video Solution

142. Three resistors each of 2 ohm are connected together in

a triangular shape. The resistance between any two vertices

will be

A.4/3 ohm
B.3/4 ohm

C.3 ohm


https://dl.doubtnut.com/l/_rNNCiDrT7TiI
https://dl.doubtnut.com/l/_zN5aChJ4KtSZ

D.6 ohm

Answer: A

o Watch Video Solution

143. There are n similar conductors each of resistance R . The
resultant resistance comes out to be x when connected in
parallel. If they are connected in series, the resistance comes

out to be

Az /n?

B. n2a:

C.z/n

D. nx


https://dl.doubtnut.com/l/_zN5aChJ4KtSZ
https://dl.doubtnut.com/l/_dVhOu21U0veU

Answer: B

o Watch Video Solution

144. Equivalent resistance between A and B will be

| 3Q‘§$/\ngi |

: 5-;3' . ‘ .
3Q 3Q
3Q§ , 3Q2
| —m— AN s
.3Q 3Q2

A.2 ohm

B.18 ohm

C.6 ohm

D. 3.6 ohm


https://dl.doubtnut.com/l/_dVhOu21U0veU
https://dl.doubtnut.com/l/_8vqvgbTkFGJG

Answer: D

o Watch Video Solution

145. A wire has resistance 12 ohms. If it is bent in the form of a
equilateral triangle. The resistance between any two
terminals in ohms is:

A. 9 ohms

B.12 ohms

C.6 ohms

D.8/3 ohms

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_8vqvgbTkFGJG
https://dl.doubtnut.com/l/_xF5JXRc9HUA3

146. The effective resistance between the points A and B in

the figure is

30
o
/ 6€2
A \ AW c
30 ° 3Q2

A. 5(2

B. 2()

C. 322

D. 4(2

Answer: B

f A |


https://dl.doubtnut.com/l/_xF5JXRc9HUA3
https://dl.doubtnut.com/l/_pAWdVWhEWWNT

| o Watch Video Solution

147. Three resistances of magnitude 2, 3 and 5 ohm are
connected in parallel to a battery of 10 volts and of negligible

resistance. The potential difference across 32 resistance will

be

A. 2 volts

B. 3 volts

C. 5 volts

D. 10 volts

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_pAWdVWhEWWNT
https://dl.doubtnut.com/l/_vHk50SARuSxd
https://dl.doubtnut.com/l/_dIXXNPUvaKBH

148. A current of 24 flows in a system of conductor as shown.

The potential difference (V4 — Vp)

A

20 3Q
2A

3Q 2Q

A +2V
B.+1V
C.—1V

D. -2V

Answer: B



https://dl.doubtnut.com/l/_dIXXNPUvaKBH

| o Watch Video Solution

149. Referring to the figure below, the effective resistance of

the network is

— W AW ANA—
r r r
r
—_&\‘ VW —
r r r
pURKEY WA AMA

A. 2r

B. 4r

C.10r

D.5r /2

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_dIXXNPUvaKBH
https://dl.doubtnut.com/l/_1nZvusY9iFwL

150. Two resistances are joined in parallel whose resultant is
6 /80hm. One of the resistance wire is broken and the
effective resistance becomes 22 . Then the resistance in ohm
of the wire that got broken was

A.3/5

B.2

C.6/5

D.3

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_1nZvusY9iFwL
https://dl.doubtnut.com/l/_oLQ3t3YnI0Zx

151. Given three equal resistors, how many different

combination of all the three resistor can be made

A. Six

B. Five

C. Four

D. Three

Answer: C

o Watch Video Solution

152. Lamps used for household lighting are connected in

A. Series


https://dl.doubtnut.com/l/_v2bezjSpSTGA
https://dl.doubtnut.com/l/_28Yw0ucv9OPp

B. Parallel

C. Mixed circuit

D. None of the above

Answer: B

o Watch Video Solution

153. The equivalent resistance of resistors connected in series

is always

A. Equal to the mean of component resistors

B. Less than the lowest of component resistors

C.In between the lowest and the highest of component

resistors


https://dl.doubtnut.com/l/_28Yw0ucv9OPp
https://dl.doubtnut.com/l/_JGHYG08cVbCU

D. Equal to sum of component resistors

Answer: D

° Watch Video Solution

154. A cell of negligible resistance and em.f. 2 volts is
connected to series combination of 2, 3 and 5 ohm . The
potential difference in volts between the terminals of 3 ohm
resistance will be

A.0.6

B.2/3

C.3

D.6


https://dl.doubtnut.com/l/_JGHYG08cVbCU
https://dl.doubtnut.com/l/_POpHwb2aQOQz

Answer: A

o Watch Video Solution

155. Four resistances, each of 102, are connected to form a
square as shown in (Fig. 3.52), find the equivalent resistance

between the opposite corners A and C.

10Q 10Q

100 B


https://dl.doubtnut.com/l/_POpHwb2aQOQz
https://dl.doubtnut.com/l/_f3d4GDCFIKi1

A. 10 ohm
B.40 ohm
C.20 ohm

D.10/4 ohm

Answer: A

o Watch Video Solution

156. Two resistors are connected (a) in series (b) in parallel
The equivalent resistance in the two cases are 9ohm and
20hm respectively. Then the resistances of the component

resistor are

A.2 ohm and 7 ohm


https://dl.doubtnut.com/l/_f3d4GDCFIKi1
https://dl.doubtnut.com/l/_eltwgQGTSlbW

B.3 ohm and 6 ohm

C.3 ohm and 9 ohm

D.5 ohm and 4 ohm

Answer: B

o Watch Video Solution

157. Resistors of 1, 2, 3 ohm are connected in the form of a
triangle. If a 1.5 volt cell of negligible internal resistance is
connected across 3 ohm resistor, the current flowing through

this resistance will be

A.0.25 amp

B.0.5 amp


https://dl.doubtnut.com/l/_eltwgQGTSlbW
https://dl.doubtnut.com/l/_O3ahNm1BkWzq

C.1.0amp

D.1.5amp

Answer: B

o Watch Video Solution

158. Resistances of 6 ohm each are connected in the manner
shown in adjoining figure. With the current 0.5 ampere as

shown in figure, the potential difference Vp — Vg is

- 6Q Q. 6Q
P /—4::_\
> AW
0.5 AW



https://dl.doubtnut.com/l/_O3ahNm1BkWzq
https://dl.doubtnut.com/l/_AEdTDh24C8mU

C.3.0V

D.7.2V

Answer: C

o Watch Video Solution

159. The equivalent resistance of the arrangement of

resistances shown in adjoining figure between the points A

and Bis
8Q
ANV
16 Q 20 Q
e 'AAAY, —ANN—
16 Q
MWV
A
9Q
6 Q
* AW

18 O



https://dl.doubtnut.com/l/_AEdTDh24C8mU
https://dl.doubtnut.com/l/_beDTHSEPByqC

A. 54 ohm

B. 18 ohm

C.36 ohm

D.9 ohm

Answer: B

o Watch Video Solution

160. In the network of resistors shown in the adjoining figure,

the equivalent resistance between A and B is

A. 54 ohm


https://dl.doubtnut.com/l/_beDTHSEPByqC
https://dl.doubtnut.com/l/_qG12BGHdsKP5

B.18 ohm

C.36 ohm

D.9 ohm

Answer: D

o Watch Video Solution

161. A wire is broken in four equal parts. A packet is formed by

keeping the four wires together. The resistance of the packet

in comparison to the resistance of the wire will be

A. Equal

B. One fourth

C.One eight


https://dl.doubtnut.com/l/_qG12BGHdsKP5
https://dl.doubtnut.com/l/_5a2aszlCyOJv

Dlth
" 16

Answer: D

° Watch Video Solution

162. Four resistances are connected in a circuit in the given
figure. The electric current flowing through 40hm and 6ohm

resistance is respectively

4 Q 6 Q

4 Q

20V


https://dl.doubtnut.com/l/_5a2aszlCyOJv
https://dl.doubtnut.com/l/_qAc6sHC7PkNl

A.2 amp and 4 amp

B.1amp and 2 amp

C.1amp and Tamp

D.2 amp and 2 amp

Answer: D

o Watch Video Solution

163. An infinite sequence of resistance is shown in the figure.
The resultant between A and B will be, when R; = ohm and

Ry = 20hm

A —_————

B -



https://dl.doubtnut.com/l/_qAc6sHC7PkNl
https://dl.doubtnut.com/l/_VwdeA0k17SyL

A. Infinity

B. 1(2

C. 202

D. 1.502

Answer: C

o Watch Video Solution

164. In the figure, the value of resistors to be connected
between C and D so that the resistance of the entire circuit

between A and B does not change with the number of


https://dl.doubtnut.com/l/_VwdeA0k17SyL
https://dl.doubtnut.com/l/_U766lXCtNnwo

elementary sets used is

R R R R
A -———f\*\%?&‘«—[ --------- WA WA —e
R§ R R§ Rg R§
B'—-—‘VW\/I'VW\;I"- R taaete AN\ —e
R R (b) ?r' R D
A.R
B.R(v/3—1)
C.3R
D.R(y/3+1)
Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_U766lXCtNnwo

165. In the figure shown, the total resistance between A and

Bis

2010 1Q 19 1Q 1Q
A o—ANA—TAMNA—AMA—

§8Q §89 4Q

B oA —AMA—WW~

20D 10 1@ 1@ 1@ 1Q
A. 120

B. 40

C.6Q

D. 8¢
Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_OGRdgNck3lu5
https://dl.doubtnut.com/l/_JkWZYElay4zS

166. The current from the battery in circuit diagram shown is

2Q A TQ

— VWV ANV
15V —/—
6 Q 1Q
0.5Q
B MW\~
8 Q 10Q
A. 1A
B. 2A
C.15A
D. 3A
Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_JkWZYElay4zS
https://dl.doubtnut.com/l/_akDbFM3diJM6

167. In the figure shown, the total resistance between A and B

is

A.50A

B. 2A

C.0.54

10

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_akDbFM3diJM6

168. In the given circuit, the potential of the point E is

- £ 12

A —WMW— p
8V

B MW C

5Q |

A.Zero

B. —8V

C.—4/3V

D.4/3V

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_akDbFM3diJM6
https://dl.doubtnut.com/l/_rZvugeqz9Sgi

169. If a resistanceRy is connected in parallel with the
resistance R in the circuit shown, then possible value of

current through R and the possible value of R will be

—NMVW—
R>
AVAVAYA Vo
R
I A
|
+ | 1=
A= R
B.1,2B

C.1,28B
3


https://dl.doubtnut.com/l/_rZvugeqz9Sgi
https://dl.doubtnut.com/l/_Flhdir7lcjjb

Answer: D

o Watch Video Solution

170. Four wires AB , BC, CD, DA of resistance 4 ohm each and
a fifth wire BD of resistance 8 ohm are joined to form a
rectangle ABCD of which BD is a diagonal. The effective

resistance between the points Aand B is
A. 24 ohm
B. 16 ohm
4
C. — ohm

3

D8h
.3 ohm


https://dl.doubtnut.com/l/_Flhdir7lcjjb
https://dl.doubtnut.com/l/_WzzIGtVf60SA

Answer: D

o Watch Video Solution

171. A battery of emf. 10V is connected to resistance as
shown in figure. The potential difference V4 — Vg between
the point A and B is

10 A 3Q
3Q

— 10V

A =2V

B.2V



https://dl.doubtnut.com/l/_WzzIGtVf60SA
https://dl.doubtnut.com/l/_YuiQhOjMdQyw

C.5V

b 20
T 11

Answer: B

o Watch Video Solution

172. Three resistances, each of 1 ohm , are joined in parallel.
Three such combinations are put in series, then the resultant
resistance will be

A.9 ohm

B.3 ohm

C.1ohm

D. — oh
3om


https://dl.doubtnut.com/l/_YuiQhOjMdQyw
https://dl.doubtnut.com/l/_mMHUWb7skRPc

Answer: C

o Watch Video Solution

173. A student has 10 resistors of resistance ‘ r ’. The minimum

resistance made by him from given resistors is

A. 10r

B
" 10

c
100

D. =
3

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_mMHUWb7skRPc
https://dl.doubtnut.com/l/_IzqS70vODXYH
https://dl.doubtnut.com/l/_fXTiWSfWN5lV

174. Two wires of same metal have the same length but their
cross- sections are in the ratio 1:3 . They are joined in series.
The resistance of the thicker wire is 10€2 . The total resistance

of the combination will be

A. 40Q

40

B. —
3
5

C. EQ

D. 10012

Answer: A

o Watch Video Solution

175. The equivalent resistance of the following infinite

network of resistance is


https://dl.doubtnut.com/l/_fXTiWSfWN5lV
https://dl.doubtnut.com/l/_28Hr5tZA5uUm

2Q 2Q 2Q

------- MW
20 §2Q 20

——————— MW MW A, —
20 20 20

A. Less than 42

B. 4(2

C. More than 42 but than 122

D. 120

Answer: C

o Watch Video Solution

176. In the figure given below, the current passing through 6£2

resistor is


https://dl.doubtnut.com/l/_28Hr5tZA5uUm
https://dl.doubtnut.com/l/_oJs2NMxNmton

62

\; oW
:ts\\"i‘.
YFEY Y

A. 0.40 ampere

B. 0.48 ampere

C.0.72 ampere

D. 0.80 ampere

Answer: B

o Watch Video Solution

177. Three equal resistances each of value R are joined as

shown in the figure. The equivalent resistance between M and


https://dl.doubtnut.com/l/_oJs2NMxNmton
https://dl.doubtnut.com/l/_4SxSMIvTHSRO

N is

A R

B. 2R

w|hy | by

Answer: D

N e

o Watch Video Solution



https://dl.doubtnut.com/l/_4SxSMIvTHSRO

178. The equivalent resistance between points A and B of an
infinite network of resistances each of 1{) connected as

shown, is

102 12 12

b) 2Q

--------

A. Infinite

B. 2()

1++/5
C. %fﬂ

D. Zero

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_aRdMgBgMAOVO

179. A copper wire of resistance R is cut into ten parts of
equal length. Two pieces each are joined in series and then
five such combination are joined in parallel. The new

combination will have resistance

>
7Y

o 0
Mo om e

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_DrlSOfFdPOCt

180. A wire has resistance 12€). It is bent in the form of a
circle. The effective resistance between two points across a

diameter is.

A. 12Q

B. 612

C. 302

D. 241}

Answer: C

o Watch Video Solution

181. In the circuit shown, the point B is earthed. The potential

at the point "A"’ is


https://dl.doubtnut.com/l/_ipHsObBHCCkQ
https://dl.doubtnut.com/l/_Px2N0fKShcMo

50 7Q B

10 Q

1
=50V C

3Q

A 14V

B. 24V

C.26V

D. 50V

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_Px2N0fKShcMo

182. Three resistors each of 4{) are connected together to

form a network. The equivalent resistance of the network

cannot be

A. 1.33Q2

B. 3.02

C.6.0Q2

D. 12.052

Answer: B

o Watch Video Solution

183. In the circuit shown below, the cell has an em.f. of 10V

and internal resistance of 1lohm. The other resistances are


https://dl.doubtnut.com/l/_KIpUB1mKBgHD
https://dl.doubtnut.com/l/_PZGXscrGN6FR

shown in the figure. The potential difference V4 — Vs

=10V

|
|

-

E
r=1Q

4Q A 2Q ?Q
— MWW —e— A\,

2Q g 4Q
AW e A,

A 6V

B.4V

C.2V

D. -2V

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_PZGXscrGN6FR

184. A wire of resistance R is cut into ‘ n ’ equal parts. These
parts are then connected in parallel. The equivalent

resistance of the combination will be

>
>
Py

3| w3z 3=

Answer: D

o Watch Video Solution

185. The resistance between the terminal point A and B of the

given infinitely long circuit will be


https://dl.doubtnut.com/l/_tbMTLHardvkV
https://dl.doubtnut.com/l/_4IILSojialeW

1Q 1Q 10

C.(1++3)
D. (2 + +/3)

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_4IILSojialeW

186. The current in the given circuit is.

/

48y =— Ra=3Q

L

A

Rc=6Q

A.8.314

B. 6824

C.4.924

D.2A4

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_qIgRDIGgmUZL
https://dl.doubtnut.com/l/_zUFslvKPTJTN

187. What is the current (i) in the circuit as shown in figure

i R, = 200
- AV—
L .
Q\ o~
AWNW—
R, = Z_Q c
A .2A
B.1.2A4
C.1A4
D.0.54
Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_zUFslvKPTJTN

188. n equal resistors are first connected in series and then
connected in parallel. What is the ratio of the maximum to

the minimum resistance ?

Answer: C

o Watch Video Solution

189. A uniform wire of 162 is made into the form of a square.

Two opposite corners of the square are connected by a wire


https://dl.doubtnut.com/l/_vkGQvgcwiUdH
https://dl.doubtnut.com/l/_6KMjyjaJkcOi

of resistance 16() . The effective resistance between the other

two opposite corners is

A. 3202

B. 2002

C. 802

D. 4(2

Answer: D

o Watch Video Solution

190. For what valve of R the net resistance of the circuit will

be 18 ohms.


https://dl.doubtnut.com/l/_6KMjyjaJkcOi
https://dl.doubtnut.com/l/_uJKeNWJjkYDL

10Q | 10Q 10 Q
A —MWW——MWN——MWW—— B

A. 80

B. 1002

C. 1692

D. 24}

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_uJKeNWJjkYDL

191. Current through 32 resistor is 0.8A, then potential drop

through 40 resistor is

3 Q
NNV NIY 4 Q

6 Q "‘“/WWV‘T
—AWWWW—
ufy
A. 9.6V
B.2.6V
C. 4.8V
D.1.2V

Answer: C



https://dl.doubtnut.com/l/_jszfV3gYuvaM

| ° Watch Video Solution

192. Three resistances 42 each of are connected in the form

of an equilateral triangle. The effective resistance between

two corners is

A. 80

B. 122

N
)

w|oo oo w

=
=

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_jszfV3gYuvaM
https://dl.doubtnut.com/l/_PfP8XlBVmNKH

193. What will be the equivalent resistance fo circuit shown in

figure between two points A and D?

B 10Q 10Q 10 Q
VAVAW—:
10Q
c ;
10w 10Q 10 Q
A. 1002
B. 2002
C. 3092
D. 4012
Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_JZaTiGu0l5Pk

194. What is the equivalent resistance between A and B in the
figure below if R = 312

A B
. °

A 902

B. 1212

C. 1502

D. None of these

Answer: D



https://dl.doubtnut.com/l/_JZaTiGu0l5Pk
https://dl.doubtnut.com/l/_013ZOfICK4cU

| ¥ Vvatch Video Solution

195. What is the equivalent resistance between A and B

L AMAT— AW ANAN——e
A 2R 2R D R B

D.2R

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_013ZOfICK4cU
https://dl.doubtnut.com/l/_GaHNFQXS1AzG

196. The current in the following circuit is

A

wF

3Q 3 Q

3Q

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_1uGCLRAeyTCi

197.

What is the equivalent resistance of the circuit

A. 612

B. 7(2

C. 802

D. 92

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_QqGa1ckwJWLJ

198. 10 wires (same length, same area, same material) are

connected in parallel and each has 1€} resistance, then the

equivalent resistance will be

A. 1092

B. 1(2

C.0.1Q

D. 0.001€2

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_QqGa1ckwJWLJ
https://dl.doubtnut.com/l/_DKi8XHMLqLvl

199. The equivalent resistance of the circuit shown in the

figure is
202 |
2Q) 2Q2
—AAA

T

A. 80

B. 612

C. 5(2

D. 402

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_zEypVOGoHjWV

200. In the given figure, the equivalent resistance between

the points Aand B is

R, =4Q

“VWW
R -2Q R, =2Q
— A A —e
A B

R, =4Q

MW

A. 80

B. 6€2

C. 49}

D. 2(2

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_zEypVOGoHjWV
https://dl.doubtnut.com/l/_3XeqiIWxhWxH

201. An infinite ladder network is arranged with resistances R
and 2 R as shown. The effective resistance between terminals

Aand B is

A AW AN —T— AW -~

B.R

C.2R

D.3R

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_Po0lxDp67Fdn

202. If all the resistors shown have the value 2 ohm each, the

equivalent resistance over AB is

A e W “WWh—e B

A. 2o0hm
B.4 ohm
1
C.1— ohm
3

2
D.2—ohm
3

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_gXRtOcShq3TG

203. A battery of e mf 10 V and internal resistance 32 is
connected to a resistor as shown in the figure. If the current

in the circuit is 0.5 A . then the resistance of the resistor will

be
|
|
R
AW

A. 19Q
B.17Q2
C. 1092

D. 122


https://dl.doubtnut.com/l/_SwUykry4hrrR

Answer: B

o Watch Video Solution

204. The potential drop across the 32 resistor is

3Q
4 Q
| 1
||
3V
A 1V
B. 1.5V

C.2v


https://dl.doubtnut.com/l/_SwUykry4hrrR
https://dl.doubtnut.com/l/_GOeCBWS7MMZT

D.3V

Answer: A

° Watch Video Solution

205. In the given figure, potential difference between A and B

is

30 V=

10KQ2

A.O

B. 5 volt


https://dl.doubtnut.com/l/_GOeCBWS7MMZT
https://dl.doubtnut.com/l/_pdN3ZWUSbGiR

C.10 volt

D. 15 volt

Answer: C

o Watch Video Solution

206. If each resistance in the figure is of 92 then reading of

ammeter is

A ———
AR
oy

AA—
L ——appp—



https://dl.doubtnut.com/l/_pdN3ZWUSbGiR
https://dl.doubtnut.com/l/_wO1BRwr0MhKb

C.2A

D.9A

Answer: A

o Watch Video Solution

207. Four resistances 102, 5¢2, 7€) and 32 are connected so
that they form the sides of a rectangle AB, BC, CD and DA
respectively. Another resistance of 10€2 is connected across
the diagonal AC'. The equivalent resistance between A and B

is

A 2Q)

B. 52

C.7Q2


https://dl.doubtnut.com/l/_wO1BRwr0MhKb
https://dl.doubtnut.com/l/_qFaDCu5zEvUY

D. 102

Answer: B

° Watch Video Solution

208. Two wires of equal diameters of resistivies p; and p, and
lengths | and | respectively are joined in series. The equivalent

resistivity of the combination is

A pili + pala
B PRy S

5 p1l2 + pa2ly
L -

c p1lz + p2ly
L

. pili — pala
I — 1y

Answer: A


https://dl.doubtnut.com/l/_qFaDCu5zEvUY
https://dl.doubtnut.com/l/_D8RVxFPF3Qty

o Watch Video Solution

209. Four resistances of 1002 each are connected in the form

of square. Then, the effective resistance along the diagonal

points is

A. 20012

B. 4002

C. 10082

D. 15012

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_D8RVxFPF3Qty
https://dl.doubtnut.com/l/_o30RkZwe691p

210. Equivalent resistance between the points A and B (in §2)

1Q 1Q 1Q 1Q 1Q
A —WW MWW MWW MW WW—B

1
B. 1Z
1
C. 2§

D31
2

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_uBntysbjA53D

211. Two wires of the same material and equal length are
joined in parallel combination. If one of them has half the
thickness of the other and the thinner wire has a resistance

of 8 ohms , the resistance of the combination is equal to

A. g ohms

88h
. 5 ohms

C3h
. g ohms

D8 h
. = ohms
3

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_CfGetXDpvkDh

212. In the circuit shown here, what is the value of the
unknown resistor R so that the total resistance of the circuit

between points P and Q is also equal to R

1002
WA
Jon 0
P o— A — ———
30 R s
L pta———A
A.3 ohms

B. /39 ohms
C. /69 ohms

D. 10 ohms

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_aOcJ79pH3G06

213. A uniform wire of resistance 9¢2 is cut into 3 equal parts.
They are connected in form of equilateral triangle ABC. A
cell of emf. 2V and negligible internal resistance is
connected across B and C. Potential difference across AB is
A 1V
B. 2V

C.3Vv

D. 0.5V

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_aOcJ79pH3G06
https://dl.doubtnut.com/l/_8nwGyo880MfC

214. The resistors of resistances 2(2, 42 and 8(2 are connected
in parallel, then the equivalent resistance of the combination

will be

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_0ZEtE33xdUS0

215. Effective resistance between A and B is

5€2
MWW

— Wy P AN —T

50
AN

A.15Q

B. 52

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_OnCs4PUPd8md
https://dl.doubtnut.com/l/_XlsxdDEl3MW8

216. The effective resistance of two resistors in parallel is

12
— . If one of the resistors is disconnected the resistance

7

becomes 4f). The resistance of the other resistor is

A. 40

B. 32

Answer: B

° Watch Video Solution

217. Two resistance wires on joining in parallel the resultant

resistance is ohms 5 ohms. One of the wire breaks, the


https://dl.doubtnut.com/l/_XlsxdDEl3MW8
https://dl.doubtnut.com/l/_fKAkht12bRjy

effective resistance is 2 ohms . The resistance of the broken

wire is

A. — ohm

B.2 ohm

C. — ohm

D.3 ohm

Answer: D

o Watch Video Solution

218. In the circuit, the potential difference across PQ will be

nearest to


https://dl.doubtnut.com/l/_fKAkht12bRjy
https://dl.doubtnut.com/l/_mdV2PcG2y1Kt

00 €2

48
80 Q2

100 €2
20 Q2

A. 9.6V

B.6.6V

C.4.8V

D.3.2V

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_mdV2PcG2y1Kt

219. Three resistors are connected to form the sides of a
triangle ABC, the resistance of the sides AB, BC and CA are 40
ohms , 60 ohms and 100 ohms respectively. The effective
resistance between the points A and B in ohms will be

A.32

B. 64

C.50

D. 200

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_H8HE0BneWbnW

220. Find the equivalent resistance across AB :

A

2Q 20

2Q

20 2Q

B

A 1Q

B. 22

C. 3Q2

D. 4(2

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_riK1P6QkR1B0

221. The equivalent resistance between x and y in the circuit

shown is

10 Q)
WA

0 (2 10 € 10 2

X o AN AN — W T Y
10 Q

A. 1092

B. 40(2

C. 2092

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_I9QjBd2KCL7L
https://dl.doubtnut.com/l/_dYGN4FnGQRnb

222.The equivalent resistance between the points P and Q of

the circuit given is

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_dYGN4FnGQRnb

223. Two wires of the same dimensions but resistivities p; and
po are connected in series. The equivalent resistivity of the

combination is

A p1+ p2

pP1 + P2
B. ——
2

C.\/pP1p2

D.2(p1 + p2)

Answer: B

o Watch Video Solution

224. Three unequal resistor in parallel are equivalent to a

resistance 1 ohm If two of them are in the ratio 1: 2 and if no


https://dl.doubtnut.com/l/_jpJ4xL70dZk2
https://dl.doubtnut.com/l/_FoYzFNm6QqGu

resistance value is fractional the largest of three resistance in

ohm s

A 4

B.6

C.8

D.12

Answer: B

o Watch Video Solution

225. A 3 volt battery with negligible internal resistance is

connected in a circuit as shown in the figure. The current I, in


https://dl.doubtnut.com/l/_FoYzFNm6QqGu
https://dl.doubtnut.com/l/_jwRQaxRqUaxg

the circuit will be

T3V

A.1/3A
B.14
C.1.54

D.2A

Answer: C

3Q

3Q2

o Watch Video Solution



https://dl.doubtnut.com/l/_jwRQaxRqUaxg
https://dl.doubtnut.com/l/_qAi8ViN3FpJ1

226. Find the equivalent resistance between the points a and

b

A. 2Q

B. 4(2

C. 802

D. 1612

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_qAi8ViN3FpJ1
https://dl.doubtnut.com/l/_tzo09U8frxrK

227.The potential difference between point A& B is

8 B 682

20
A—=V

40
B. =V

10
C. =V

D.O

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_tzo09U8frxrK

228. In the circuit shown below. The reading of the voltmeter

Vis
402 16C)
A A
24 l
|
i 60 i 40
A. 12V
B. 8V
C. 20V
D. 16V
Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_QYgE6QFYoSJo

229. A wire has a resistance of 12 ohm . It is bent in the form
of equilateral triangle. The effective resistance between any
two corners of the triangle is

A.9 ohms

B. 12 ohms

C.6 ohms

D.8/3 ohms

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_QYgE6QFYoSJo
https://dl.doubtnut.com/l/_9K7dotAcTNOF

230. A series combination of two resistors 1) each is

connected to a 12 V battery of internal resistance 0.4(). The

current flowing through it will be

A.3.5A

B.5A

C.6A4

D.104

Answer: B

o Watch Video Solution

231. In the circuit shown in the adjoining figure, the current

between B and D is zero, the unknown resistance of


https://dl.doubtnut.com/l/_8C1dUUulOFBM
https://dl.doubtnut.com/l/_kUeqXmDwP7Kv

X
120 29
A C
QL
3Q 1Q
D
| |
||
A. 4€)
B. 2()
C. 302

D. e.m.f of a cell is required to find the value of X

Answer: B


https://dl.doubtnut.com/l/_kUeqXmDwP7Kv

o Watch Video Solution

232. In the circuit shown in the figure, the current flowing in

2] resistance

A 1.4A

B.1.2A

C.0.44

D.1.04


https://dl.doubtnut.com/l/_kUeqXmDwP7Kv
https://dl.doubtnut.com/l/_3DnCQGTQzK5z

Answer: D

o Watch Video Solution

233. Five resistor are connected as shown in the diagram. The

equivalent resistance between A and B is

C

A.6 ohm

B.9 ohm


https://dl.doubtnut.com/l/_3DnCQGTQzK5z
https://dl.doubtnut.com/l/_57NGDUQHXvEE

C.12 ohm

D.15 ohm

Answer: A

o Watch Video Solution

234. In the figure given the value of X resistance will be, when

the p.d. between B and D is zero


https://dl.doubtnut.com/l/_57NGDUQHXvEE
https://dl.doubtnut.com/l/_4CRkWq9R6yeh

A.4 ohm

B.6 ohm

C.8 ohm

D.9 ohm

Answer: C

‘ o Watch Video Solution


https://dl.doubtnut.com/l/_4CRkWq9R6yeh

235. The effective resistance between points Aand B is

100 1002

10€2

VN ﬁ’iog

A. 1092
B. 2012
C. 4092

D. None of the above three values

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_4CRkWq9R6yeh
https://dl.doubtnut.com/l/_wfmthwqXN8z2

236. Five resistors of given values are connected together as

shown in the figure. The current in the arm BD will be

B
R 'iz,ﬂ

4R

N
m———

A. Half the current in the arm ABC

B. Zero

C. Twice the current in the arm ABC

D. Four times the current in the arm ABC


https://dl.doubtnut.com/l/_f7ZFyrsJvN9K

Answer: B

o Watch Video Solution

237.1n the network shown in the figure, each of the resistance

is equal to 2€). The resistance between the points and B is



https://dl.doubtnut.com/l/_f7ZFyrsJvN9K
https://dl.doubtnut.com/l/_X3X8gDEMBHS1

A 1Q)

B. 402

C. 302

D. 2(2

Answer: D

o Watch Video Solution

238. In the arrangement of resistances shown below, the

effective resistance between point A and B is

5Q 10 Q 15 Q
P —MWW A AW

Ae—o §1OQ 10Q — B
Q L—ww, — AW A

10 Q 20 Q 30Q


https://dl.doubtnut.com/l/_X3X8gDEMBHS1
https://dl.doubtnut.com/l/_UXnKCs1UiBjq

A. 2002

B. 3012

C. 9092

D. 11012

Answer: A

o Watch Video Solution

239. Five resistances are connected as shown in the figure.

The effective resistance between the points A and B is


https://dl.doubtnut.com/l/_UXnKCs1UiBjq
https://dl.doubtnut.com/l/_YT5fbDBHzogH

C. 1502

D. 62

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_YT5fbDBHzogH

240. In the given figure, when galvanometer shows no
deflection, the current (in ampere) flowing through 52

resistance will be

8Q2

A 0.5
B.0.6
C.0.9

D.1.5

Answer: B

| o Wikl .\ daaa C Al



https://dl.doubtnut.com/l/_S5gTvLK1fuHG

| —vvdilll VIVUCTU JUIULIVII )

241. In the Wheatstone's bridge shown,
P =200 =30 R =06 and S = 8. In order to obtain

balance, shunt resistance across S must be

SN
~

A. 2Q)

B. 3(2


https://dl.doubtnut.com/l/_S5gTvLK1fuHG
https://dl.doubtnut.com/l/_5B5kmriGTEjd

C. 612

D. 8(2

Answer: D

o Watch Video Solution

242. Five equal resistances each of value R are connected in a

form shown alongside. The equivalent resistance of the


https://dl.doubtnut.com/l/_5B5kmriGTEjd
https://dl.doubtnut.com/l/_OtblbMo1OaGG

network

A. Between the points Band D is R

: . R
B. Between the points B and D is 5
C. Between the points Aand Cis R

: . R
D. Between the points Aand C is 5

Answer: B::C


https://dl.doubtnut.com/l/_OtblbMo1OaGG

o Watch Video Solution

243. In the circuit shown below the resistance of the
galvanometer is 60€). In which case of the following
alternatives are the currents arranged strictly in the

decreasing order



https://dl.doubtnut.com/l/_OtblbMo1OaGG
https://dl.doubtnut.com/l/_LFsWObpXNZHU

A. LLLI

B. i,i,l,i

C. 0,1,

D. i,i,i,i

Answer: B

o Watch Video Solution

244, Potential difference between the points P and Q in the

electric circuit shown is


https://dl.doubtnut.com/l/_LFsWObpXNZHU
https://dl.doubtnut.com/l/_nvPD2LEx5d0r

N bi, Rp= 402
Eﬁp\“
Y "
S
250
Lo
e
Ry=60) ‘&
o \ ' RC‘-'—' ]2Q
Q

A 4.5V

B.1.2V

C.24V

D. 2.88V

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_nvPD2LEx5d0r

245.The current between B and D in the given figure is

30 Q Qi“\ {&Q 30
e X _.&\\‘;_:"
o o
oy .
\‘Z::;
\\\:\\

A.1amp

B.2 amp

C.Zero

D. 0.5 amp


https://dl.doubtnut.com/l/_XAAT19hLN32J

Answer: C

o Watch Video Solution

246. A bridge circuit is shown in figure. The equivalent

resistance between A and B will be



https://dl.doubtnut.com/l/_XAAT19hLN32J
https://dl.doubtnut.com/l/_1VcWhFv4fv5C

p. 20

Answer: A

° Watch Video Solution

247.1n a typical Wheatstone network, the resistances in cyclic
orderare A = 1092, B = 5, C' = 4Q) D = 4} for the bridge

to be balanced

A. 102 should be connected in parallel with A


https://dl.doubtnut.com/l/_1VcWhFv4fv5C
https://dl.doubtnut.com/l/_VVDEDYqOVVNh

B. 10€2 should be connected in series with A

C. 502 should be connected in series with B

D. 52 should be connected in parallel with B

Answer: A

o Watch Video Solution

248. In the circuit shown in the figure, the current drawn from

the battery is 4A4. If 10€2 resistor is replaced by 202 resistor,


https://dl.doubtnut.com/l/_VVDEDYqOVVNh
https://dl.doubtnut.com/l/_E129xFEdUyLA

then current drawn from the circuit will be

4A4

A 1A

B. 2A

C.3A

D. OA

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_E129xFEdUyLA
https://dl.doubtnut.com/l/_z7G37fiyjt7s

249. Calculate the equivalent resistance between A and B

x N x

[+ 4

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_z7G37fiyjt7s
https://dl.doubtnut.com/l/_IQyKsBfHfv0M

250. The equivalent resistance between P and Q in the given

figure is

A. 5082

B. 40(2

C. 302

D. 202

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_IQyKsBfHfv0M
https://dl.doubtnut.com/l/_ZjwkaUWLIw08

251. If each of the resistance in the network in figure R,

the equivalent resistance between terminals A and B is

A SR
B.3R
C.R

D.R/2

Answer: C



https://dl.doubtnut.com/l/_ZjwkaUWLIw08

| & Watch Video Solution

252. The equivalent resistance of the following diagram A and

Bis
3Q & e 302
§\\ S
a X
A *\;}:\ 3 Q>———v B
f“‘ X
2
A =
3
B. 902
C. 612

D. None of these

Answer: D

| o Wikl .\ dan Ol



https://dl.doubtnut.com/l/_ZjwkaUWLIw08
https://dl.doubtnut.com/l/_me1xIqcMBKIb

L ¥Yvdtilll VIUCTU JVIULIVII )

253. Thirteen resistances each of resistance R ohm are
connected in the circuit as shown in the figure below. The

effective resistance between A and B is

R R

A. 2R}


https://dl.doubtnut.com/l/_me1xIqcMBKIb
https://dl.doubtnut.com/l/_gXePE7iWkXxK

Answer: C

o Watch Video Solution

254, In a Wheatstone's brigde all the four arms have equal
resistance R. If the resistance of the galvanometer arm is also

R, the equivalent resistance of the combination as seen b the

battery is

a2
2

B.R


https://dl.doubtnut.com/l/_gXePE7iWkXxK
https://dl.doubtnut.com/l/_sHHlqbXtdxis

C.2R

Answer: B

o Watch Video Solution

255. For what value of unknown resistance X, the potential

difference between B and D will be zero in the circuit shown


https://dl.doubtnut.com/l/_sHHlqbXtdxis
https://dl.doubtnut.com/l/_lpmk4obDOw9Z

in the figure ?

A. 40

B. 612

C. 202

D. 5(2


https://dl.doubtnut.com/l/_lpmk4obDOw9Z

Answer: B

o Watch Video Solution

256. Which arrangement of four identical resistances should

be sued to draw maximum energy from cell of voltage V

A G

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_lpmk4obDOw9Z
https://dl.doubtnut.com/l/_AybBpxBykuya
https://dl.doubtnut.com/l/_Ly6ppqBnctlZ

257. An unknown resistance R; is connected is series with a
resistance of 10€2. This combination is connected to one gap
of a meter bridge, while other gap is connected to another
resistance Ry. The balance point is at 50cm Now , when the
1092 resistance is removed, the balanced point shifts to 40cm
Then the value of Ry is.

A. 60

B.40

C.20

D.10

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_Ly6ppqBnctlZ
https://dl.doubtnut.com/l/_DfKsrA0Nr1kf

258. A wire has a resistance of 6€. It is cut into two parts and

both half values are connected in parallel. The new resistance

is ...

A. 12Q

B. 1.5(2

C. 302

D. 62

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_DfKsrA0Nr1kf

Q R

259.
Six equal resistances are connected between points P, Q and R
as shown in the figure. Then the net resistance will be
maximum between

A.Pand Q

B.QandR

C.PandR


https://dl.doubtnut.com/l/_7h3w3ZJ4dnMY

D. Any two points

Answer: A

o Watch Video Solution

260. The total current supplied to the circuit by the battery is

6V
= 30

A 1A

B. 2A


https://dl.doubtnut.com/l/_7h3w3ZJ4dnMY
https://dl.doubtnut.com/l/_TjCnuyqtMxwQ

C.4A

D. 6A

Answer: C

o Watch Video Solution

261. An electric current is passed through a circuit containing
two wires of the same material connected in parallel. If the

4
lengths and radii of the wire are in the ratio 3 and 3 then

the ratio of the currents passing through the wires will be

A3
B.1/3

C.8/9


https://dl.doubtnut.com/l/_TjCnuyqtMxwQ
https://dl.doubtnut.com/l/_YSQtPLLcNHqJ

D.2

Answer: B

o Watch Video Solution

262. If a rod has resistance 42 and if rod is turned as half

cycle then the resistance along diameter

A. 1.5612

B. 2.44(2

C. 40}

D. 2(2

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_YSQtPLLcNHqJ
https://dl.doubtnut.com/l/_ZJrVjXmhP9nl

263. If three resistors of resistance 2(2, 42 and 5} are
connected in parallel then the total resistance of the

combination will be

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_ZJrVjXmhP9nl
https://dl.doubtnut.com/l/_1nn88ohp9Eoy

264. In circuit shown below, the resistance are given in ohms
and the battery is assumed ideal with emf equal to 3 volt The

voltage across the resistance Ry is

50 Q

VWA
+ | Ri R3260 Q R4330Q

3V
_:I—FT 50 Q %Rz
R5230 Q
A 0.4V
B.0.6V
C.1.2V
D.1.5V
Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_qWcJcchpN97e

265. A parallel combination of two resistors, of 1) each, is
connected in series with a 1.5{) resistor. The total
combination is connected across a 10 V battery. The current
flowing in the circuit is

A. 5A

B. 20A

C.0.2A

D.04A

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_qWcJcchpN97e
https://dl.doubtnut.com/l/_qWwkXUevckwv

266. If you are provided three resistance 22, 3€2 and 6). How
will you connect them so as to obtain the equivalent

resistance of 4

3Q 6Q2

@ AW
L Zgj
A. AR
(b) 3Q 20
AW
Dﬁf& j
B. >

3Q

AN——
(c) 2Q
WA~
602
C. MM

D. None of these

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_HELJhoqpnuOb

267. The equivalent resistance and potential difference

between A and B for the circuit is respectively

602
ANV
meyem i D PVWW—e
B
3Q
“WW
A 40, 8V
B. 80, 4V
C.2Q0, 2V
D. 1612, 8V
Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_VloVZCQnlEO2

268. Five equal resistances each of resistance R are
connected as shown in the figure. A battery of V volts is
connected between A and B. The current flowing in AFCEB

will be



https://dl.doubtnut.com/l/_SMpRF8CmLyon

Answer: B

o Watch Video Solution

269. For the network shown in the figure the value of the

currentiis

1%
35

5V
18


https://dl.doubtnut.com/l/_SMpRF8CmLyon
https://dl.doubtnut.com/l/_fZTsQA20GwBP

Answer: B

o Watch Video Solution

270. When a wire of uniform cross-section a, length | and
resistance R is bent into a complete circle, resistance between

any two of diametrically opposite points will be

>

| =


https://dl.doubtnut.com/l/_fZTsQA20GwBP
https://dl.doubtnut.com/l/_7VUEQKqONuy7

Answer: A

o Watch Video Solution

271. The current in a simple series circuit is 5.0 amp . When an

additional resistance of 2.0 ohms is inserted, the current

drops to 4.0 amp . The original resistance of the circuit in

ohms was

A 1.25

B.8

C.10

D. 20

Answer: B

.y


https://dl.doubtnut.com/l/_7VUEQKqONuy7
https://dl.doubtnut.com/l/_8rwwcgKpRvfN

| ' vvatich video soilution ]

272. In the circuit given
E =6.0V, Ry = 100ohms, Ry = R3 = 50ohms, Ry = 750hms

. The equivalent resistance of the circuit, in ohms, is

A.11.875

B. 26.31

C.118.75

D. None of these


https://dl.doubtnut.com/l/_8rwwcgKpRvfN
https://dl.doubtnut.com/l/_xsRD9ZAJs16T

Answer: C

° Watch Video Solution

273. By using only two resistance coils-singly, in series, or in

parallel one should be able to obtain resistances of 3, 4, 12

and 16 ohms . The separate resistances of the coil are

A.3and 4

B.4 and 12

C.12 and 16

D.16 and 3

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_xsRD9ZAJs16T
https://dl.doubtnut.com/l/_BCbjyegbi1fg

274. In the given circuit, the voltmeter records 5 volts. The

resistance of the voltmeter in ohms is

10002 5002
12848 Addds
10 V
1 /g
L \J

A. 200

B. 100

C.10

D. 50

Answer: B

[ |


https://dl.doubtnut.com/l/_BCbjyegbi1fg
https://dl.doubtnut.com/l/_UJa1OQuwue6K

| ' Watch Video Solution |

275. 7 1113 H UHieR &1 UTeelich ( S1d dedt BT AT=aRes UfeRle =T

a2
@

4 £ - 10V

§5£.1

A.10

B. 100

C. 500

D. 200

Answer: B



https://dl.doubtnut.com/l/_UJa1OQuwue6K
https://dl.doubtnut.com/l/_rNwLzSb2SoYD

| o Watch Video Solution

276. The magnitude and direction of the current in the circuit

shown will be

102 e | 202 b
a —ANA- } i * | } ’\“W\»
| v 4V
3Q2
d AW c

A gA from a to b through e
7

B. §A from b to a through e

C.1Afrom b to a through e

D. 1A from a to b through e

Answer: D


https://dl.doubtnut.com/l/_rNwLzSb2SoYD
https://dl.doubtnut.com/l/_nEE8eCsOhNoz

o Watch Video Solution

277. A cell of e. mf me 5.1V having a finite internal resistance

is connected to a load resistance of 22 . For maximum power

transfer the internal resistance of the cell should be

A. 4 ohm

B. 0.5 ohm

C.2 ohm

D. None of these

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_nEE8eCsOhNoz
https://dl.doubtnut.com/l/_a7mMZPemXIOQ

278. By a cell a current of 0.9 A flows through 2 ohm resistor
and 0.3A4 through 7 ohm resistor. The internal resistance of

the cell is

A.0.5Q

B. 1.012

C.1.2Q2

D. 2.0€2

Answer: A

o Watch Video Solution

279. The e.m.f. of a cell is E volts and internal resistance is r

ohm. The resistance in exteral circuit is also r ohm. The p.d


https://dl.doubtnut.com/l/_L5KuIF0gDvRi
https://dl.doubtnut.com/l/_uqiSLiF2MnZe

across the cell will be

AE/2
B.2F
C.4F

D.E/4

Answer: A

o Watch Video Solution

280. A cell of em.f. E is connected with an external resistance

R, then p.d. across cell is V. The internal resistance of cell will

be

(E—-V)R


https://dl.doubtnut.com/l/_uqiSLiF2MnZe
https://dl.doubtnut.com/l/_QCNbCSFOT3dU

(E-V)R
(V- E)R

(V- E)R

Answer: B

o Watch Video Solution

281. Two cells , each of em fE and internal resistance r, are
connected in parallel across a resistor R. The power delivered
to the resistor is maximum if R is equal to

AR=r/2

BR=r

C.R=2r


https://dl.doubtnut.com/l/_QCNbCSFOT3dU
https://dl.doubtnut.com/l/_gSbWCPCqai9U

D.R=0

Answer: A

o Watch Video Solution

282. Kirchhoff's first law i.e, ZI = 0 at a junction is based

on the law of conservation of

A. Charge
B. Energy
C. Momentum

D. Angular momentum

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_gSbWCPCqai9U
https://dl.doubtnut.com/l/_X4ylRwskvzSl

283. Kirchhoff's second law is based on law of conservation of

A. Charge

B. Energy

C. Momentum

D. Sum of mass and energy

Answer: B

° Watch Video Solution

284. The figure below shows current in a part of electric

circuit. The current 7 is


https://dl.doubtnut.com/l/_X4ylRwskvzSl
https://dl.doubtnut.com/l/_YNhfPjTptYzF
https://dl.doubtnut.com/l/_4nGPhpWgemvJ

mp 1 amp
/ 1.3 amp
/élmp

%

Y

A.1.7 amp

B.3.7 amp

C.1.3 amp

D.1amp

Answer: A

o Watch Video Solution

285. What is terminal potential differnce of a cell? Can its

value be greater than the emf of a cell? Explian.


https://dl.doubtnut.com/l/_4nGPhpWgemvJ
https://dl.doubtnut.com/l/_0pJQhxZW6f5I

A. Being discharged

B. In open circuit

C. Being charged

D. Being either charged or discharged

Answer: C

o Watch Video Solution

286. In the circuit shown, potential difference between X and

Y will be


https://dl.doubtnut.com/l/_0pJQhxZW6f5I
https://dl.doubtnut.com/l/_lm2uxUJ3tEnR

4002

X Y
—W —  —
l 2000
| .
I ‘W’h,-____
120V !
A.Zero
B. 20V
C. 60V
D. 120V
Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_lm2uxUJ3tEnR

287. In the above question, potential difference across the

4012 resistance will be

A.Zero

B. 80V

C. 40V

D. 120V

Answer: A

o Watch Video Solution

288. In the circuit shown, A and V are ideal ammeter and

voltmeter respectively. Reading of the voltmeter will be


https://dl.doubtnut.com/l/_jvpZd4zXd9KO
https://dl.doubtnut.com/l/_paP2GuPzXqMq

2V

1Q 102
A A

A. .2V

B.1V

C. 0.5V

D. Zero

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_paP2GuPzXqMq

289. When a resistance of 2 ohm is connected across

terminals of a cell, the current is 0.5A. When the resistance is

increased to 5 ohm, the current is 0.254 The e.m.f. of the cell

is

A. 0.5 ohm

B.1.0 ohm

C.1.5 ohm

D. 2.0 ohm

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_cw4KreKFLWr6

290. The terminal potential difference of a cell when short-
circuited is (E = E.M.F. of the cell)

A E

B.E/2

C. Zero

D.E/3

Answer: C

° Watch Video Solution

291. A primary cell has an emf. of 1.5 volts, when short-
circuited it gives a current of 3 amperes. The internal

resistance of the cell is


https://dl.doubtnut.com/l/_0Z5BFa3qJNst
https://dl.doubtnut.com/l/_S7uJRZUxRWuV

A. 4.5 ohm
B.2 ohm
C.0.5 ohm

D.1/4.5 ohm

Answer: C

o Watch Video Solution

292. A 50V battery is connected across a 10 ohm resistor. The
current is 4.5 amperes. The internal resistance of the battery
is

A. Zero

B. 0.5 ohm


https://dl.doubtnut.com/l/_S7uJRZUxRWuV
https://dl.doubtnut.com/l/_KGFhbCsMZ1eZ

C.1.1 ohm

D. 5.0 ohm

Answer: C

o Watch Video Solution

293. The potential difference in open circuit for a cell is 2.2
volts. When a 4 ohm resistor is connected between its two
electrodes the potential difference becomes 2 volts. The
internal resistance of the cell will be

A.lohm

B.0.2 ohm

C.2.50hm


https://dl.doubtnut.com/l/_KGFhbCsMZ1eZ
https://dl.doubtnut.com/l/_XyrGJfVspP4k

D. 0.4 ohm

Answer: D

° Watch Video Solution

294. A new flashlight cell of em.f. 1.5 volts given a current of 15
amps. When connected directly to an ammeter of resistance

0.04€). The internal resistance of cell is

A.0.04Q2

B. 0.06(2

C.0.10Q2

D. 1002

Answer: B


https://dl.doubtnut.com/l/_XyrGJfVspP4k
https://dl.doubtnut.com/l/_tvAFhzPBBd2m

o Watch Video Solution

295. The cell has an emf of 2V and the internal resistance of

this cell is 0.1€2, it is connected to resistance of 3.912, the

voltage across the cell will be

A.0.50V

B.1.90V

C.1.95V

D.2.00V

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_tvAFhzPBBd2m
https://dl.doubtnut.com/l/_y6VVoCGDsNQI

296. The reading on a high resistance voltmeter. When a cell is
connected across it is 2.2V. When the terminals of the cell
are connected to a resistance of 5() the voltmeter reading

drop to 1.8V. Find the internal resistance of the cell.

A.1.2Q)

B. 1.3(2

C.1.1Q


https://dl.doubtnut.com/l/_3Rpg9Ty8a25P

D. 1.4Q}

Answer: C

o Watch Video Solution

297. When cells are connected in parallel then

A. The current decreases

B. The curretn increases

C.The emf. increases

D. The e.m.f decreases

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_3Rpg9Ty8a25P
https://dl.doubtnut.com/l/_GalqcghPF2UF

298. Internal resistance of a cell depends on

A. The distance between the plates

B. The area of the plantes immersed

C. The concentration of the electrolyte

D. All of the above

Answer: D

o Watch Video Solution

299. n identical cells each of emf. E and internal resistance r
are connected in series. An external resistance R is connected

in series to this combination. The current through R is


https://dl.doubtnut.com/l/_RNjqNRy5Tu1e
https://dl.doubtnut.com/l/_CLFMmOI3iAEr

nk
A ——
R+ nr

8 nk
"nR+7r

"R+ nr

nk
R+r

Answer: A

o Watch Video Solution

300. An total resistance R is connected to a cell of internal

resistance r the maximum current flows in the external

resistance, when

AR=r

BR<Tr


https://dl.doubtnut.com/l/_CLFMmOI3iAEr
https://dl.doubtnut.com/l/_RMLKajlkRpJI

CR>r

DR=1r/2

Answer: A

o Watch Video Solution

301. To get the maximum current from a parallel combination

of n identical cells each of internal resistance r in an external

resistance R, when

AR> >r

BR< <r

CR=r

D. None of these


https://dl.doubtnut.com/l/_RMLKajlkRpJI
https://dl.doubtnut.com/l/_xqUNPCrdDQet

Answer: B

o Watch Video Solution

302. Two identical calls send the same current in 2()
resistance, whether connected in series or in parallel. The

internal resistance of the cell should be

A 1Q)

B. 2()

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_xqUNPCrdDQet
https://dl.doubtnut.com/l/_TvogdgAUZpQ9

303. The internal resistances of two cells shown are 0.1€2 and

0.3Q. If R = 0.20), its potential difference across the cell

2V, 0.1Q2 2V, 0.302
|4 |
! !
A B
0.2Q2
AW

A. B will be zero

B. A will be zero

C. A and B will be 2V

D.Awillbe > 2V andB < 2V

Answer: A



https://dl.doubtnut.com/l/_TvogdgAUZpQ9
https://dl.doubtnut.com/l/_kgbdAPzAu3nV

| Watch Video Solution J

304. The electromotive force of a primary cell is 2 volts. When

it is short- circuited is gives a current of 4 amperes. It internal

resistance in ohms is

A 0.5

B.5.0

C.2.0

D.8.0

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_kgbdAPzAu3nV
https://dl.doubtnut.com/l/_IoaxGjhKClU2

305. Shown is a network of currents. The magnitude of the

current is also shown there. Find the current z.

34

A 34

B.13A

C.23A


https://dl.doubtnut.com/l/_zSLYPl7GcCRF

D.—34

Answer: C

o Watch Video Solution

306. A battery of em.f. E and internal resistance r is connected
to a variable resistor R as shown here. Which one of the

following is true

E r

|1 ~AMA—
R

1 1



https://dl.doubtnut.com/l/_zSLYPl7GcCRF
https://dl.doubtnut.com/l/_dejFEPWhEAH7

A. Potential difference across the terminal of the battery is

maximum when B = r

B. Power delivered to the resistor is maximum when

R=r

C. Current in the circuit is maximum when R = r

D. Current in the circuit is maximum when B > >t

Answer: B

o Watch Video Solution

307. A dry cell has an em.f. of 1.5V and an internal resistance
of 0.05€2. The maximum current obtainable from this cell for a

very short time interval is


https://dl.doubtnut.com/l/_dejFEPWhEAH7
https://dl.doubtnut.com/l/_cBTmxbOSfXij

A.30A

B. 300A

C.3A

D.0.34

Answer: A

o Watch Video Solution

308. Consider the circuit given here with the following
parameters E.M.F of the cell = 12V. Internal resistance of

the cell = 2(). Resistance R = 4.


https://dl.doubtnut.com/l/_cBTmxbOSfXij
https://dl.doubtnut.com/l/_ilbnDZl6BSNb

R
VW,

Which one of the following statements in true

A. Rate of energy loss in the source is =8 W

B. Rate of energy conversion in the source is 16 W

C. Power output inis =8 W

D. Potential drop across Ris = 16V

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_ilbnDZl6BSNb

309. A current of two amperes is flowing through a cell of
e.m.f. 5 volts and internal resistance 0.5 ohm from negative to
positive electrode. If the potential of negative electrode is 10
V, the potential of positive electrode will be

A. 5V

B. 14V

C. 15V

D. 16V

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_Zhon8GnFa3mN

310. 100 cells each of emf 5V and internal resistance 12 are to

be arranged to produce maximum current in a 25()

resistance. Each row contains equal number of cells. Find the

number of rows.

A 2

B.4

C.5

D.10

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_Ui6wlOrryH4t

311. The current in the arm CD of the circuit will be

A.iq + 09

B. s + 43

C.iy + i3

D.d; — iy + i3

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_o6Pa0j9tjkHx

312. When a resistance of 2 ohm is connected across

terminals of a cell, the current is 0.5A. When the resistance is

increased to 5 ohm, the current is 0.25A4 The e.m.f. of the cell

is

A. 1.0V

B.1.5V

C.2.0V

D. 2.5V

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_o6Pa0j9tjkHx
https://dl.doubtnut.com/l/_2xxYP2TkqeGy

313. If six identical cells each having an emf. of 6 V are

connected in parallel, the em.f. of the combination is

A1V

B. 36V

Answer: D

o Watch Video Solution

314. Consider the circuit shown in the figure. The current I3 is

equal to


https://dl.doubtnut.com/l/_WaJd0hOVu2CW
https://dl.doubtnut.com/l/_WPdw2z1iXz00

28 Q 54 Q
AN MWW/
— 6V
Y13
| l
8V 12V
A.5amp
B.3 amp
C.—3amp
D. —5/6 amp

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_WPdw2z1iXz00

315.1f V4 = 4V in the given fig are, then resistance x will be

1062 5V
AV 1
A B
— | | ——o
2V X
[ WA

A. 50}

B. 1002

C. 1502

D. 202

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_6kIdlFvucOPs

316. Two resistance R, and R, are joined as shown in figure
to two batteries of emf E; and E,. If E5 is short circuited,

what is the current through R, ?

..:.L_ Eo

A E /R,
B. Ey /Ry
C.Ey /R,

D. E; /(R2 + Rl)

Answer: A



https://dl.doubtnut.com/l/_q3X1KZsxhdGK

[ o Watch Video Solution ]

317. A storage battery has emf. 15 volts and internal
resistance 0.05 ohm . Its terminal voltage when it is delivering
10 ampere is

A.30 volts

B. 1.00 volts

C.14.5 volts

D. 15.5 volts

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_q3X1KZsxhdGK
https://dl.doubtnut.com/l/_yxUcc0WWTogN

318. The number of dry cells, each of em.f. 1.5 volt and
internal resistance 0.5w that must be joined in series with a
resistance of 20 ohm so as to send a current of 0.6 ampere
through the circuit is -

A 2

B.8

C.10

D.12

Answer: C

° Watch Video Solution

319. Emf if most closely related to


https://dl.doubtnut.com/l/_ancCDmpZODuS
https://dl.doubtnut.com/l/_C6TNWak3NNP2

A. Mechanical force

B. Potenital difference

C. Electric field

D. Magnetic field

Answer: B

o Watch Video Solution

320. For driving a current of 2 A for 6 minutes in a circuit,

1000 ] of work is to be done. The emf. of the source in the

circuit is

A.1.38V

B.1.68V


https://dl.doubtnut.com/l/_C6TNWak3NNP2
https://dl.doubtnut.com/l/_W678cOEhzg8y

C.2.04V

D.3.10V

Answer: A

o Watch Video Solution

321. Two batteries of emf. 4V and 8V with internal
resistances 1{) and 2{2 are connected in a circuit with a
resistance of 92 as shown in figure. The current and potential
difference between the points P and @)

4V 8
P F—F—w»—0a

10 Vi 20
r o

9Q



https://dl.doubtnut.com/l/_W678cOEhzg8y
https://dl.doubtnut.com/l/_yBegSfRYJI2Q

1
A. EA and 3V

B. —A and 4V

O~ oK

C.—A and 9V

D. —A and 12V

N —

Answer: A

o Watch Video Solution

322. In the shown circuit, what is the potential difference

across Aand B


https://dl.doubtnut.com/l/_yBegSfRYJI2Q
https://dl.doubtnut.com/l/_M20KPkpmYf5c

A. 50V

B. 45V

C. 30V

D. 20V

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_M20KPkpmYf5c

323. Four identical cells each having an electromotive force

(emf) of 12 V , are connected in parallel. The resultant

electromotive force (e.m.f.) of the combination is

A. 48V

B. 12V

C.4V

D.3V

Answer: B

o Watch Video Solution

324. Electromotive force is the force, which is able to maintain

a constant


https://dl.doubtnut.com/l/_jwQH3HyLAWkR
https://dl.doubtnut.com/l/_EYJRdVdB6V23

A. Current

B. Resistance

C. Power

D. Potential difference

Answer: D

o Watch Video Solution

325. A cell of emf 6 V and resistance 0.5 ohm is short circuited.

The current in the cell is

A.3 amp

B.12 amp

C.24 amp


https://dl.doubtnut.com/l/_EYJRdVdB6V23
https://dl.doubtnut.com/l/_diIv5zsRQLUM

D.6 amp

Answer: B

o Watch Video Solution

326. A storage cell is charged by 5amp D . C. for 18 hours . Its

strength after charging will be

A.18 AH

B.5AH

C. 90 AH

D. 15AH

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_diIv5zsRQLUM
https://dl.doubtnut.com/l/_4L3qPhdg1evo

327. A battery having em.f. 5 V and internal resistance 0.5 is

connected with a resistance of 4.5} then the voltage at the

terminals of battery is

A 4.5V

B.4V

C.0V

D.2V

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_4L3qPhdg1evo
https://dl.doubtnut.com/l/_OtWMqwgyKMkN

328. The internal resistance of a cell of emf. 12 V is

5 x 1072Q. It is connected across an unknown resistance.

Voltage across the cell, when a current of 60 A is drawn from

it, is

A. 15V

B. 12V

C.9V

D. 6V

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_ucNd45V8nBNe

329.The current in the given circuit is

o 15V
WA 1 F
A
20 Q
—| W
2V
A.0.14
B.0.2A4
C.0.34
D.0.4A
Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_mT61OE3dqn5j

330. A current of 2.0 ampere passes through a cell of em.f. 1.5

volts having internal resistance of 0.15 ohm. The potential

difference measured, in volts, across both the ends of the cell

will be

A.1.35

B.1.50

C.1.00

D.1.20

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_EFcZwBtj3JPB

331. A battery has emf. 4 V and internal resistance r . When
this battery is connected to an external resistance of 2 ohms,
a current of 1amp . flows in the circuit. How much current will

flow if the terminals of the battery are connected directly

A.1amp
B.2 amp
C.4 amp

D. Infinite

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_ub0EypbDYuKZ

332. Two batteries A and B each of em.f. 2 V are connected in
series to an external resistance R = 1 ohm . If the internal
resistance of battery A is 1.9 ohms and that of B is 0.9 ohm,

what is the potential difference between the terminals of

battery A

A |1 B |

! R

R
WAk
A. 2V

B. 3.8V
C.Zero

D. None of the above


https://dl.doubtnut.com/l/_S7cKWvgIGlw0

Answer: C

o Watch Video Solution

333. When a resistor of 112 is connected in series with an
electric cell, the current following in it is 0.5A. Instead, when
a resistor of 5{) is connected to the same electric cell in
series, the current increases by 0.4A The internal resistance
of the cell is

A. 1.5Q)

B. 2()

C. 2.5Q2

D. 3.5Q2

Answer: C


https://dl.doubtnut.com/l/_S7cKWvgIGlw0
https://dl.doubtnut.com/l/_Yz4bGbugHtuy

o Watch Video Solution

334. The internal resistance of a cell is the resistance of

A. Electrodes of the cell

B. Vessel of the cell

C. Electrolyte used in the cell

D. Material used in the cell

Answer: C

o Watch Video Solution

335. Consider four circuits shown in the figure below. In which

circuit power dissipated is greatest (Neglect the internal


https://dl.doubtnut.com/l/_Yz4bGbugHtuy
https://dl.doubtnut.com/l/_fPRpEIe52Af1
https://dl.doubtnut.com/l/_WDon1nOQF2cL

resistance of the power supply)?

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_WDon1nOQF2cL

336. Krichoff's | law and Il law of current, proves the

A. Conservation of charge and energy

B. Conservation of current and energy

C. Conservation of mass and charge

D. None of these

Answer: A

o Watch Video Solution

337. In the circuit shows in Fig. 6.41, the reading of the

ammeter is (assume internal resistance of the battery be to


https://dl.doubtnut.com/l/_w9v6HgMz39Yt
https://dl.doubtnut.com/l/_M7ds7VpUqALT

zero)

4 €
5Q

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_M7ds7VpUqALT

338. In the above question, if the internal resistance of the
battery is 1ohm , then what is the reading of ammeter
A.5/3A
B.40/29A
C.10/94

D.1A4

Answer: B

o Watch Video Solution

339. Eels are able to generate current with biological cells
called electroplaques. The electroplaques in an eel are

arranged in 100 rows, each row stretching horizontally along


https://dl.doubtnut.com/l/_D6v6lFz8jX01
https://dl.doubtnut.com/l/_x9lM3aVsAU0T

the body of the fish containing 5000 electroplaques. The
arrangment is suggestively shown below. Each electroplaques
has an emf of 0.15V and internal resistance of 0.25(2

The water surrounding theeel completes a cricuit be ween the
head and its tail. If the water surrounding it has a resistance

of 500€2, the current an eel can produce in water is about

5000 electroplaques per row |
100: rows

A. 1.5A

B.3.0A


https://dl.doubtnut.com/l/_x9lM3aVsAU0T

C. 15A

D. 30A

Answer: A

o Watch Video Solution

340. In the given current distribution what is the value of |

4A

3A

A.3A


https://dl.doubtnut.com/l/_x9lM3aVsAU0T
https://dl.doubtnut.com/l/_9VCA97A6ujQj

B. 8A

C.2A

D. 5A

Answer: C

o Watch Video Solution

341. A capacitor is conneted to a cell emf E having some

internal resistance r. The potential difference across the

A.Cellis < F

B.Cell isE

C.Capacitoris > E

D. capacitoris < E


https://dl.doubtnut.com/l/_9VCA97A6ujQj
https://dl.doubtnut.com/l/_pgV0yuwqHc3E

Answer: B

° Watch Video Solution

342. When the resistance of 9€2 is connected at the ends of a

battery, its potential difference decreases from 40 volt to 30

volt . The internal resistance of the battery is

A. 612

B. 32

C. 902

D. 1502

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_pgV0yuwqHc3E
https://dl.doubtnut.com/l/_XLUtJsH6Oe6c

343. What is the maximum power output than can be
obtained from a cell of emf E and internal resistance r?

A E?/2r

B. E? /4r

C.E*/r

D. E? /3r

Answer: B

o Watch Video Solution

344. Find out the value of current through 22 resistance for

the given circuit.


https://dl.doubtnut.com/l/_XLUtJsH6Oe6c
https://dl.doubtnut.com/l/_eZ1HQa6sl8uY
https://dl.doubtnut.com/l/_oZIaYnCZk4Lk

VT 50 YO : ooy

A. 5A

B. 2A

C.Zero

D. 4A

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_oZIaYnCZk4Lk

345. Two batteries, one of emf 18V and internal resistance 22
and the other of emf 12 and internal resistance 1) , are

connected as shown. The voltmeter V will record a reading of

20
— ]
gy
LQI
= IF
12V
A. 15 volt
B. 30 volt

C.14 volt


https://dl.doubtnut.com/l/_8RO2bEBKL8bZ

D. 18 volt

Answer: C

o Watch Video Solution

346. Two sources of equal emf are connected to an external
resistance R. The internal resistance of the two sources are
R; and Ry(R; > R,). If the potential difference across the
source having internal resistance R, is zero, then

A R=RiRy/(R; + R»)

B.R=RiRy/(Ry — Ry)

C.R=Ryx (R +Ry)/(Ry — Ry)

D.R:Rz—Rl


https://dl.doubtnut.com/l/_8RO2bEBKL8bZ
https://dl.doubtnut.com/l/_eye4eJilBvGQ

Answer: D

o Watch Video Solution

347.The magnitude in 7 in ampere unit is

60 Q

A. 01

B.0.3

C.0.6

D. None of these


https://dl.doubtnut.com/l/_eye4eJilBvGQ
https://dl.doubtnut.com/l/_tyT4Mi9JLimZ

Answer: A

o Watch Video Solution

348. To get the maximum current from a parallel combination

of n identical cells each of internal resistance r in an external

resistance R, when

A. Series

B. Parallel

C. Mixed

D.Depends upon the relative values of exterbal and

internal resistane

Answer: D

| e |


https://dl.doubtnut.com/l/_tyT4Mi9JLimZ
https://dl.doubtnut.com/l/_FtwpBrwP21hg

| &J Watch Video Solution

349. The figure shows a network of currents. The magnitude

of currents is shown here. The current | will be

A 3A

B.9A

C.13A

D. 19A


https://dl.doubtnut.com/l/_FtwpBrwP21hg
https://dl.doubtnut.com/l/_mmmvcWScHrUy

Answer: C

o Watch Video Solution

350. The n rows each containing m cells in series are joined in

parallel. Maximum current is taken from this combination

across an external resistance of 3() resistance. If the total

number of cells used are 24 and internal resistance of each

cell is 0.5€2 then

Am=8n=3

Bm=6,n=4

Cm=12,n =2

Dm=2,n=12

Answer: C


https://dl.doubtnut.com/l/_mmmvcWScHrUy
https://dl.doubtnut.com/l/_VPJjM9t3mv8N

o Watch Video Solution

351. A cell of constant em.f. first connected to a resistance R;
and then connected to a resistance R,. If power delivered in

both cases is then the internal resistance o f the cell is

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_VPJjM9t3mv8N
https://dl.doubtnut.com/l/_SGwEHFVcYBCQ

352.In meter brigde of Wheatstone bridge for measurment of

resistance, the known and the unknown resistance are

interchanged. The error so removed is

A. End correction

B. Index error

C. Due to temperature effect

D. Randon error

Answer: A

o Watch Video Solution

353. A galvanometer can be converted into an ammeter by

connecting


https://dl.doubtnut.com/l/_Ftcg0XEjubnq
https://dl.doubtnut.com/l/_QRRUItjcvYLb

A. Low resistance in series

B. High resistance in parallel

C. Low resistance in parallel

D. High resistance in series

Answer: C

o Watch Video Solution

354. 10 3 amp is flowing through a resistance of 1000Q. To
measure the correct potential difference, the voltmeter is to
be used to which the resistance should be

A. 0Q2

B. 50012


https://dl.doubtnut.com/l/_QRRUItjcvYLb
https://dl.doubtnut.com/l/_x6soOEysh5l2

C. 100052

D. > > 100012

Answer: D

o Watch Video Solution

355. A galvanometer of 100€2 resistance gives full scale
deflection when 10 mA of current is passed. To convert it into

10 A range ammeter, the resistance of the shunt required will

be

A. — 1092

B. 1(}

C.0.1Q


https://dl.doubtnut.com/l/_x6soOEysh5l2
https://dl.doubtnut.com/l/_JJAUuMkcwOs3

D. 0.01Q2

Answer: C

° Watch Video Solution

356. 50€2 and 100f2 resistors are connected in series. This

connection is connected with a battery of 24 volts. When a

voltmeter of 1002 resistance is connected across 1002

resistor, then the reading of the voltmeter will be

A 1.6V

B.1.0V

C.1.2V

D. 2.0V


https://dl.doubtnut.com/l/_JJAUuMkcwOs3
https://dl.doubtnut.com/l/_rZ9eQw3lMo9S

Answer: C

o Watch Video Solution

357. A 2 volt battery, a 152 resistor and a potentiometer of
100cm length, all are connected in series. If the resistance
resistance of potentiometer wire is 52, then the potential
gradient of the potentiometer wire is

A.0.005V /em

B.0.05V /cm

C.0.02V /em

D.0.2V /em

Answer: A

la


https://dl.doubtnut.com/l/_rZ9eQw3lMo9S
https://dl.doubtnut.com/l/_RUy4W59tRqcB

| ¥ vvaich video soilution J

358. An ammeter gives full scale deflection when current of 1.0
A is passed in it. To convert it into 10 A range ammeter, the
ratio of its resistance and the shunt resistance will be

A 1:9

B.1:10

C.1:11

D.9:1

Answer: D

o Watch Video Solution

359. By ammeter, which of the following can be measured


https://dl.doubtnut.com/l/_RUy4W59tRqcB
https://dl.doubtnut.com/l/_ajlPengbz9q3
https://dl.doubtnut.com/l/_l7zd6PI7jYjh

A. Electric potential

B. Potential difference

C. Current

D. Resistance

Answer: C

o Watch Video Solution

360. The resistance of 1 A ammeter is 0.018(2 . To convert it

into 10 A ammeter, the shunt resistance required will be

A.0.18Q2

B. 0.0018(2

C. 0.00212


https://dl.doubtnut.com/l/_l7zd6PI7jYjh
https://dl.doubtnut.com/l/_cP45v9ER7B0D

D. 0.12Q

Answer: C

o Watch Video Solution

361. For measurement of potential difference, potentiometer

is perferred in comparison to voltmeter because

A. Potentiometer is more sensitive than voltmeter

B. The resistance of potentiometer is less than voltmeter

C. Potentiometer is cheaper than voltmeter

D. Potentiometer does not take current from the circuit

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_cP45v9ER7B0D
https://dl.doubtnut.com/l/_rkA2RV7s5eaJ

362. To send 10% of the main current through a moving coil

galvanometer of resistance 99w, the shunt required is -

A.9.9Q

B. 102

C.11Q

D. 902

Answer: C

o Watch Video Solution

363. An ammeter of 5 ohm resistance can read 5 mA . If it is to

be used to read 100 volts, how much resistance is to be


https://dl.doubtnut.com/l/_rkA2RV7s5eaJ
https://dl.doubtnut.com/l/_9MqQciHk9F4D
https://dl.doubtnut.com/l/_mgfLnoQtsdfu

connected in series

A. 19.9995¢2

B. 199.995(2

C. 1999.950

D. 199952

Answer: D

o Watch Video Solution

364. The potential gradient long the length of a unifrom wire
is 10volt /meter. B and C are the two points at 30cm and
60cm point on a meter scale fitted along the wire. The

potential diffenence between B and C will be


https://dl.doubtnut.com/l/_mgfLnoQtsdfu
https://dl.doubtnut.com/l/_pkSeLJCZq10L

A. 3 volt

B. 0.4 volt

C.7 volt

D. 4 volt

Answer: A

o Watch Video Solution

365. 100 current gives a full scale deflection in a galvanometer
of 22 resistance. The resistance connected with the
galvanometer to convert it into a voltmeter to measure V5 is

A. 980

B. 52(2


https://dl.doubtnut.com/l/_pkSeLJCZq10L
https://dl.doubtnut.com/l/_jO4WdPnDTRot

C. 5002

D. 48()

Answer: D

o Watch Video Solution

366. When a 122 resistor is connected with a moving coil
galvanometer, then its deflection reduces form 50 divions to

10 divisions. The ressitance of the galvanometer is

A. 24Q

B. 36(2

C. 480

D. 602


https://dl.doubtnut.com/l/_jO4WdPnDTRot
https://dl.doubtnut.com/l/_QDe6TJEQFDtm

Answer: C

o Watch Video Solution

367. A galvanometer can be used as a voltmeter by connecting

A. High resistance in series

B. Low resistance in series

C. High resistance in parallel

D. Low resistance in parallel

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_QDe6TJEQFDtm
https://dl.doubtnut.com/l/_IPn9F5IyLhNe

368. The tangent galvanometer, when connected in series

with a standard resistance can be used as

A. An ammeter

B. An voltmeter

C. A wattmeter

D. Both an ammeter and a voltmeter

Answer: B

o Watch Video Solution

369. In Wheatstone's bridge P = 9ohm, Q = 1lohm,
R = 4ohm and S = 6ohm. How much resistance must be

put in parallel to the resistance S to balance the bridge


https://dl.doubtnut.com/l/_snZEq3Kg1v4m
https://dl.doubtnut.com/l/_4lC2Vr0M7CLB

A. 24 ohm

44
B. 9 ohm

C.26.4 ohm

D. 18.7 ohm

Answer: C

o Watch Video Solution

370. A Daniel cell is balanced on 125cm length of a
potentiometer wire. Now the cells is short-circuited by a
resistance 2ohm and the balance is obtained at 100cm. The

internal resistance of the Dainel cell is

A. 0.5 ohm


https://dl.doubtnut.com/l/_4lC2Vr0M7CLB
https://dl.doubtnut.com/l/_v6R4FFhMHjlR

B.1.5 ohm

C.1.25 ohm

D.4/5 ohm

Answer: A

o Watch Video Solution

371. Sensitivity of potentiometer can be increased by

A. Increasing the emf. of the cell

B. Increasing the length of the potentiometer wire

C. Decreasing the length of the potentiometer wire

D. None of the above


https://dl.doubtnut.com/l/_v6R4FFhMHjlR
https://dl.doubtnut.com/l/_lZxGSmdxtofU

Answer: B

o Watch Video Solution

372. A potentiometer is an ideal device of measuring potential

difference because

A. It uses a sensitive galvanometer

B. It does not disturb the potential difference it measures

C. It is an elaborate arrangement

D.It has a long wire hence heat developed is quickly

radiated

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_lZxGSmdxtofU
https://dl.doubtnut.com/l/_Ro0Q2R3wsimj

373. A battery of 6 volts is connected ot the termainals of a
three meter long wire of uniform thickness and resistance of
the order of 100€2. The difference of potential between two
points separated by 50cm on the wire will

A1V

B.1.5V

C. 2V

D. 3V

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_Ro0Q2R3wsimj
https://dl.doubtnut.com/l/_srBeyHe6jINg

374. A galvanometer of 10 ohm resistance gives full scale
deflection with 0.01 ampere of current. It is to be converted
into an ammeter for measuring 10 ampere current. The value

of shunt resistance required will be

A 10 h
- 999 ohm
B.0.1 ohm
C.0.5 ohm

D. 1.0 ohm

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_ZWOvZf1Quu8M

375. A potentiometer is used for the compaisem of em.f. of
two cells E; and Ej. For cell E; the no deflection point os
obtained at 20cm and for E; the no deflection point is
obtained at 30cm. The ratio of their em.f.'s will be

A2/3

B.1/2

C.1

D.2

Answer: A

° Watch Video Solution

376. What is potential gradient ? How is it measured ? Explain.


https://dl.doubtnut.com/l/_UWe8d4F4hUiv
https://dl.doubtnut.com/l/_xUx7PJ7piVJP

A. Falll of potential per unit length of the wire

B. Fall of potential per unit area of the wire

C. Fall of potential between two ends of the wire

D. Potential at any one end of the wire

Answer: A

o Watch Video Solution

377. In an experiment of meter bridge, a null point is
obtaining at the center of the bridge wire. When a resistance
of 10ohm is connected in one gap, the value of resistance

other gap is

A.10Q


https://dl.doubtnut.com/l/_xUx7PJ7piVJP
https://dl.doubtnut.com/l/_wnuc9LT76g91

Answer: A

o Watch Video Solution

378.If the length of potentiometer wire is increased, then the

length of the previously obtained balance will

A. Increase

B. Decrease

C. Remain unchanged

D. Become two times


https://dl.doubtnut.com/l/_wnuc9LT76g91
https://dl.doubtnut.com/l/_EBQT5tavyqG1

Answer: A

o Watch Video Solution

379. In a potentiometer, balance point is obtained, when

A.The emf. of the battery becomes equal to the em.f. of

the experimental cell

B.The p.d. of the wire between the + ve end to jockey

becomes equal to the em.f. of the experimental cell

C.The p.d. of the wire between + ve point and jockey

becomes equal to the em.f. of the battery

D.The p.d. across the potentiometer wire becomes equal

to the emf. of the battery


https://dl.doubtnut.com/l/_EBQT5tavyqG1
https://dl.doubtnut.com/l/_4l7UeAaC1iZn

Answer: B

o Watch Video Solution

380. In the experiment of potentiometer, at balance, there is

no current in the

A. Main circuit

B. Galvanometer circuit

C. Potentiometer circuit

D. Both main and galvanometer circuits

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_4l7UeAaC1iZn
https://dl.doubtnut.com/l/_5MIJ0KPTlbn2
https://dl.doubtnut.com/l/_BdhxzJLG3dlx

381. If in the experiment of Wheatstone's bridge, the positions

of cells and galvanometer are interchanged, then balance

point will

A. Change

B. Remain unchanged

C. Depend on the internal resistance of cell and resistance

of galvanometer

D. None of these

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_BdhxzJLG3dlx

382. The resistance of a galvanometer is 90 ohm s. If only 10
percent of the main current may flow through the
galvanometer, in which way and of what value, a resistor is to
be used

A. 10 ohms in series

B. 10 ohms in parallel

C. 810 ohms in series

D. 810 ohms in parallel

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_g5L95opWdkdd

383. Two cells when connected in series are balanced on 8m
on a potentiometer. If cells are connected with polarities of
one the cellis reversed, they balance on 2m. The ratio of
e.m.f.'s of the two cellsis

A3:5

B.5:3

C.3:4

D.4:3

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_CCHNujJ2bfwj

384. A voltmeter has a resistance G and range V. Calculate
the resistance to be used in series with it to extend its range

tonV.

A nG

Answer: B

o Watch Video Solution

385. Which of the following statement is wrong


https://dl.doubtnut.com/l/_rNhrJGBgldPO
https://dl.doubtnut.com/l/_y6LlXouUni1l

A. Voltmeter should have high resistance

B. Ammeter should have low resistance

C. Ammeter is placed in parallel across the conductor in a

circuit

D. Voltmeter is placed in parallel across the conductor in a

circuit

Answer: C

o Watch Video Solution

386. In the diagram shown, the reading of voltmeter is 20 V

and that of ammeter is 4 A . The value of R should be


https://dl.doubtnut.com/l/_y6LlXouUni1l
https://dl.doubtnut.com/l/_JmdVDFq26mFn

(Consider given ammeter and voltmeter are not ideal)

‘

20V
R
— G W —
4A
A. Equal to 5(2

B. Greater from 5(2

C. Less than 512

D. Greater or less than 52 depends on the material of R

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_JmdVDFq26mFn

387. A moving coil galvanometer has a resistance of 50€2 and
gives full scale deflection for 10 mA . How could it be
converted into an ammeter with a full scale deflection for 1A
A.50 /99 in series
B. 50 /992 in parallel

C.0.0192 in series

D.0.01Q in parallel

Answer: B

o Watch Video Solution

388. The current flowing in a coil of resistance 902 is to be

reduced by 90%. What value of resistance should be


https://dl.doubtnut.com/l/_6CYIpXuVlDX3
https://dl.doubtnut.com/l/_YMouywp0CCsB

connected in parallel with it

A. 1092

B. 10052

C. 902

D. 1002

Answer: B

o Watch Video Solution

389. A galvanometer of resistance 25} gives full scale
deflection for a current of 10 milliampere , is to be changed
into a voltmeter of range 100 V by connecting a resistance of *
R’ in series with galvanometer. The value of resistance R in €2

is


https://dl.doubtnut.com/l/_YMouywp0CCsB
https://dl.doubtnut.com/l/_pjDCPl6tVViy

A. 10000

B. 10025

C.975

D. 9975

Answer: D

o Watch Video Solution

390. In a potentiometer circuit there is a cell of em.f. 2 volt , a
resistance of 5 ohm and a wire of uniform thickness of length
1000 cm and resistance 15 ohm . The potential gradient in the
wire is

A. %V/cm


https://dl.doubtnut.com/l/_pjDCPl6tVViy
https://dl.doubtnut.com/l/_gdYGjA2bj9wW

B. WV/C’ITL

oLy
“Tooo V /™

D.

T

Answer: B

o Watch Video Solution

391. The resistance of a galvanometer is 25 ohm and it

requires 50uA for full deflection. The value of the shunt

resistance required to convert it into an ammeter of 5 amp is
A.2.5 x 10~ * ohm

B.1.25 x 102 ohm

C.0.05 ohm


https://dl.doubtnut.com/l/_gdYGjA2bj9wW
https://dl.doubtnut.com/l/_4Zw2jhX8KKlp

D. 2.5 ohm

Answer: A

o Watch Video Solution

392. Which is a wrong statement

A. The Wheatstone bridge is most sensitive when all the

four resistances are of the same order

B.In a balanced Wheatstone bridge, interchanging the

positions of galvanometer and cell affects the balance

of the bridge

C. Kirchhoff's first law (for currents meeting at a junction

in an electric circuit) expresses the conservation of


https://dl.doubtnut.com/l/_4Zw2jhX8KKlp
https://dl.doubtnut.com/l/_hgN0X25m2Y2s

charge

D. The rheostat can be used as a potential divider

Answer: B

o Watch Video Solution

393. A voltmeter having a resistance of 998 ohms is connected

to a cell of em.f. 2 volt and internal resistance 2 ohm. The

error in the measurment of e.m.f. will be

A4 x 10~ ! volt

B.2 x 102 volt

C.4 x 1073 volt

D.2 x 10~ ! volt


https://dl.doubtnut.com/l/_hgN0X25m2Y2s
https://dl.doubtnut.com/l/_C8DurgiX4tKn

Answer: C

o Watch Video Solution

394. For comparing the emf's of two cells with a
potentiometer, a standard cell is used to develop a potential
gradient along the wires. Which of the following possibilities
would make the experiment unsuccessful gt
A.The em.f. of the standard cell is larger than the E emf.'s
of the two cells
B. The diameter of the wires is the same and uniform

throughout

C. The number of wires is ten


https://dl.doubtnut.com/l/_C8DurgiX4tKn
https://dl.doubtnut.com/l/_3n9s0n4PIo2J

D. The em.f. of the standard cell is smaller than the emf.'s

of the two cells

Answer: D

o Watch Video Solution

395. Which of the following is correct

A. Ammeter has low resistance and is connected in series

B. Ammeter has low resistance and is connected in parallel

C.Voltmeter has low resistance and is connected in

parallel

D. None of the above


https://dl.doubtnut.com/l/_3n9s0n4PIo2J
https://dl.doubtnut.com/l/_pcRGoglqBido

Answer: A

o Watch Video Solution

396. An ammeter with internal resistance 90() reads 1.85 A
when connected in a circuit containing a battery and two

resistors 700€2 and 410€2 in series. Actual current will be

A.1.85A

B. Greater than 1.85A4

C.Less than 1.854

D. None of these

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_pcRGoglqBido
https://dl.doubtnut.com/l/_dPiMFAZTTcRk

397. AB is a wire of uniform resistance. The galvanometer G
shows no deflection when the length AC = 20cm and

CB = 80cm. The resistance R is equal to.

R 8012

A. 2Q)

B. 802

C. 200

D. 40(2

Answer: C


https://dl.doubtnut.com/l/_dPiMFAZTTcRk
https://dl.doubtnut.com/l/_thqFBR85rEW6

o Watch Video Solution

398. The circuit shown here is used to compare the em.f. of
the two cells E5(E), > E,. The null point is at C when the
galvanometer is connected to E;. When the galvanometer is

connected to Ej, the null point will be

B
-
ya| ¢ B
E1
E;

A. To the left of C

B. To the right of C


https://dl.doubtnut.com/l/_thqFBR85rEW6
https://dl.doubtnut.com/l/_tt0NX52W4i6p

C. At C itself

D. Nowhere on AB

Answer: A

o Watch Video Solution

399.1n an experiment to measure the internal resistance of a
cell by a potentiometer, it is found that the balance point is at
a length of 2m when the cell is shunted by a 5{2 resistance
and is at a length of 3m when the cell is shunted by a 102

resistance, the internal resistance of the cell is then

A. 1.5Q

B. 10Q2

C. 1502


https://dl.doubtnut.com/l/_tt0NX52W4i6p
https://dl.doubtnut.com/l/_woAHp13PjZKG

D. 1Q

Answer: B

o Watch Video Solution

400. A potentiometer circuit shown in the figure is set up to
measure em.f. of a cell E. As the point P moves from X to Y
the galvanometer G shows deflection always in one direction,
but the deflection decreases continuously until Y is reached.

In order to obtain balance point between X and Y it is


https://dl.doubtnut.com/l/_woAHp13PjZKG
https://dl.doubtnut.com/l/_OVP04nOvX4fW

necessary to

——

A. Decreases the resistance R

B. Increase the resistance R

C. Reverse the terminals of battery V

D. Reverse the terminals of cell E

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_OVP04nOvX4fW

401. In the Wheatstone's bridge (shown in figure) X =Y and

A > B.Thedirection of the current between ab will be

A.Fromatob

B.Frombtoa

C.From b to a through ¢

D. From a to b through ¢

Answer: B


https://dl.doubtnut.com/l/_LafoZvz37HDp

o Watch Video Solution

402. The firgure shows a circuit diagram of a 'Wheatstone
Bridge' to measure the resistance G of the galvanometer The

relation £ = g will be satisfied only when

Q

A.The galvanometer shows a deflection when switch S is

closed


https://dl.doubtnut.com/l/_LafoZvz37HDp
https://dl.doubtnut.com/l/_xRY2Y3eATFLb

B. The galvanometer shows a deflection when switch S is

open

C.The galvanometer shows no change in deflection

whether S is open or closed

D. The galvanometer shows no deflection

Answer: C

° Watch Video Solution

403. The resistance of a galvanometer is 50ohm and the
current required to give full scale deflection is 100uA. In

order to convert it into an ammeter, reading upto 104, it is


https://dl.doubtnut.com/l/_xRY2Y3eATFLb
https://dl.doubtnut.com/l/_rX77mwCPch6f

necessary to put a resistance of

Y

A.5 x 107 3Q in parallel
B.5 x 10 “Q in parallel
C.10°Q in series

D. 99, 950Q2 in series

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_rX77mwCPch6f

404. A resistance of 4() and a wire of length 5 meters and
resistance 5{) are joined in series and connected to a cell of
e.m.f. 10V and internal resistance 1€). A parallel combination
of two identical cells is balanced across 300cm of wire. The

e.m.f. E of each cell is

40 1_]0V
I YAAYA e ||"1Q
3m
5Q,5m
E

A 1.5V

B.3.0V

C.0.67V


https://dl.doubtnut.com/l/_hAW4nGszimRF

D.1.33V

Answer: B

° Watch Video Solution

405. The resistivity of a potentiometer wire s

40 x 10780 — m and its area of cross section is 8 x 10 %m?

. If 0.2 A current is flowing through the wire the potential
gradient will be

A. 102 volt/m

B.10 ! volt/m

C.3.2 x 10 % vol/m

D. 1vol/m


https://dl.doubtnut.com/l/_hAW4nGszimRF
https://dl.doubtnut.com/l/_0s0bHcKfYzcW

Answer: A

o Watch Video Solution

406. If only 2% of the main current is to be passed through a

galvanometer of resistance G , then the resistance of shunt

will be

C.50G

D. 49G

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_0s0bHcKfYzcW
https://dl.doubtnut.com/l/_0lUPdOtMJFaU

407. The resistance of an ideal voltmeter is

A.Zero

B. Very low

C. Very large

D. Infinite

Answer: D

o Watch Video Solution

408. A 100V voltmeter of internal resistance 20k() in series
with a high resistance R is connected to a 110V line. The

voltmeter reads 5V, the value of R is


https://dl.doubtnut.com/l/_0lUPdOtMJFaU
https://dl.doubtnut.com/l/_7WV0sWByqUX1
https://dl.doubtnut.com/l/_17vTueg3YiwP

A. 210kQ2

B. 315k02

C. 420k(2

D. 440k(2

Answer: C

o Watch Video Solution

409. Why are constantan and manganin used for making

standard resistances ?

A. Specific resistance is low

B. Density is high

C. Temperature coefficient of resistance is negligible


https://dl.doubtnut.com/l/_17vTueg3YiwP
https://dl.doubtnut.com/l/_2mPJn9Vnt6lD

D. Melting point is high

Answer: C

o Watch Video Solution

410. The net resistance of a volmeter should be large to

ensure that

A. It does not get overheated

B. It does not draw excessive current

C. It can measure large potential difference

D. It does not appreciably change the potential difference

to be measured

Answer: D


https://dl.doubtnut.com/l/_2mPJn9Vnt6lD
https://dl.doubtnut.com/l/_uO4gWckNsDqS

o Watch Video Solution

411. A galvanometer has resistance of 7(2 and given a full scale
deflection for a current of 1.0A. How will you convert it into a
voltmeter of range 10V

A. 3Qin series

B. 3(2 in aprallel

C.17%) in series

D. 302 in series

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_uO4gWckNsDqS
https://dl.doubtnut.com/l/_v722rqqpBd9V

412. A potentiometer consists of a wire of length 4 m and
resistance 10€). It is connected to a cell of emf 2V.The
potential gradient of the wire is

A.0.5V /m

B.2V /m

C.5V/m

D.10V /m

Answer: A

o Watch Video Solution

413. In meter bridge , the balancing length from left is found

to be 20 cm when standard connected of 1€ is in right gap .


https://dl.doubtnut.com/l/_zLoMZkZaNtee
https://dl.doubtnut.com/l/_nD7HAjGtqJZN

The value of unknown resistance is

A.0.802

B. 0.5(2

C.0.4Q2

D. 0.25(2

Answer: D

o Watch Video Solution

414.In the circuit P # R, the reading of the galvanometer is

same with switch S open or closed. Then


https://dl.doubtnut.com/l/_nD7HAjGtqJZN
https://dl.doubtnut.com/l/_BxflN5p4JbUu

e
——

Al =1Ig

B.Ip = I

C. IQ = I

D. IQ = Ip
Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_BxflN5p4JbUu

415. In the following Wheatstone bridge P/Q = R/ S. If key

K is closed, then the galvanometer will show deflection

A. In left side
B. In right side
C. No deflection

D. In either side

Answer: D

| o Y V2N TN i W - PR A [ By



https://dl.doubtnut.com/l/_Doqim9VrfmMo
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416. A galvanometer having a resistance of 8 ohm is shunted

by a wire of resistance 2 ohm . If the total current is 1 amp ,

the part of it passing through the shunt will be

A.0.2amp

B.0.8 amp

C.0.2amp

D.0.5 amp

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_Doqim9VrfmMo
https://dl.doubtnut.com/l/_RAyDEoLk9xds

417. A potentiometer wire has length 10 m and resistance 2012
.A 2.5V battery of negligible internal resistance is connected
across the wire with an 80f2 series resistance. The potential
gradient on the wire will be

A5 x 107°V /mm

B.2.5 x 10 *V /em

C.0.62 x 10~ *V /mm

D.1x 10 °V /mm

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_Mr2AEbTetJzZ

418. An ammeter whose resistance is 1802 gives full scale

deflection when current is 2mA. The shunt required to convert

it into an ammeter reading 20 mA (in ohms) is

A.18

B. 20

C.01

D.10

Answer: B

o Watch Video Solution

419. A galvanometer whose resistance is 1202 gives full scale

deflection with a curretn of 0.5A so that it can read a


https://dl.doubtnut.com/l/_YnhdaKcA55Ki
https://dl.doubtnut.com/l/_PhFvKPm23jH4

maximum current of 10A4. A shunt resistance is added in

parallel with it. The resistance of the ammeter so formed is

A. 0.06(2

B. 0.006¢2

C. 0.692

D. 6(2s

Answer: C

o Watch Video Solution

420.In a potentiometer experiment, the galvanometer shows
no deflection when a cell is connected across 60cm of the

potentiometer wire. If the cell is shunted by a resistance of


https://dl.doubtnut.com/l/_PhFvKPm23jH4
https://dl.doubtnut.com/l/_lmVg9qpi7CbR

62, the balance is obtained across 50cm of the wire. The

internal resistance of the cell is

A.0.5Q

B. 0.612

C.1.2Q2

D. 1.502

Answer: C

o Watch Video Solution

421. A voltmeter of resistance 100012 gives full scale deflection
when a current of 100mA flow through it. The shunt
resistance required across it to enable it to be used as an

ammter reading 1A at full scale deflection is


https://dl.doubtnut.com/l/_lmVg9qpi7CbR
https://dl.doubtnut.com/l/_Y3cqPdfRmCAW

A. 1000052

B. 90002

C. 222()

D. 11102

Answer: D

o Watch Video Solution

422, The resistance of 10 metre long potentiometer wire is 1
ohm/meter . A cell of em.f. 2.2 volts and a high resistance box
are connected in series to this wire. The value of resistance
taken from resistance box for getting potential gradient of

2.2 millivolt/metre will be

A. 79002


https://dl.doubtnut.com/l/_Y3cqPdfRmCAW
https://dl.doubtnut.com/l/_fUyD4F7i4DPw

B. 8102

C. 9902

D. 100052

Answer: C

o Watch Video Solution

423. We have a galvanometer of resistance 25¢). It is shunted

by a 2.5Q2 wire. The part of total current that flows through

the galvanometer is given as

Al _ L
L, 11
s L _ 1
"I, 10

3
C.— = —



https://dl.doubtnut.com/l/_fUyD4F7i4DPw
https://dl.doubtnut.com/l/_oqSCflmqoA4r

Answer: A

o Watch Video Solution

424.1n the adjoining circuit, the em.f. of the cell is 2 volt and
the internal resistance is negligible. The resistance of the

voltmeter is 80ohm. The reading of the voltmeter will be

2V
=

|l )
80 Q

@
20 Q 80 Q
A


https://dl.doubtnut.com/l/_oqSCflmqoA4r
https://dl.doubtnut.com/l/_YyY9PnDqFo1G

A. 0.80 volt

B. 1.60 volt

C.1.33 volt

D. 2.00 volt

Answer: C

o Watch Video Solution

425. If the resistivity of a potentiometer wire be p and area of
cross-section be A, then what will be potential gradient along

the wire

Ip

A —
A

1

B.
Ap


https://dl.doubtnut.com/l/_YyY9PnDqFo1G
https://dl.doubtnut.com/l/_U0wEjXP5FGTM

IA

D.IAp

Answer: A

o Watch Video Solution

426. A voltmeter has resistance of 2000 ohms and it can

measure upto 2V. If we want ot increase its range to 10V

then the, required resistance in series will be

A. 200012

B. 400012

C. 600052

D. 80002


https://dl.doubtnut.com/l/_U0wEjXP5FGTM
https://dl.doubtnut.com/l/_FgoBMpcWd04m

Answer: D

o Watch Video Solution

427.For a cell of emf. 2V, a balance is obtained for 50 cm of
the potentiometer wire. If the cell is shunted by a 2( resistor
and the balance is obtained across 40 cm of the wire, then
the internal resistance of the cell is

A. 0.25Q2

B. 0.50€2

C. 0.8012

D. 1.00(2

Answer: B

.y


https://dl.doubtnut.com/l/_FgoBMpcWd04m
https://dl.doubtnut.com/l/_IGNfUTCtIhA1
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428. The arrangement as shown in figure is called as

| ¢ Y
1! \ J

Total P.D.

“TN 1

Variable P.D.

A. Potential divider

B. Potential adder

C. Potential substracter

D. Potential multiplier

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_IGNfUTCtIhA1
https://dl.doubtnut.com/l/_u0Tt30F2jgfv

429. A potentiometer wire of length 1m and resistance 102 is
connected in series with a cell of emf 2V with internal
resistance 1{2 and a resistance box including a resistance R. If
potential difference between the ends of the wire is 1 mV, the
value of R is

A. 2000012

B. 199892

C. 1000052

D. 99890

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_u0Tt30F2jgfv
https://dl.doubtnut.com/l/_mRR7MT7YgDJe
https://dl.doubtnut.com/l/_2vzI2yY09Dew

430. In a balanced wheatstone's network, the resistances in

the arms Q and S are interchanged. As result of this:

A. Network is not balanced

B. Network is still balanced

C. Galvanometer shows zero deflection

D. Galvanometer and the cell must be interchanged to

balance

Answer: A

o Watch Video Solution

431. The ammeter A reads 2A and the voltmeter V reads 20V,

the value of resistance R is (Assuming finite resistance's of


https://dl.doubtnut.com/l/_2vzI2yY09Dew
https://dl.doubtnut.com/l/_42o63pWi1IOb

ammeter and voltmeter)

A. Exactly 10 ohm

B. Less than 10 ohm

C. More than 10 ohm

D. We cannot definitely say

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_42o63pWi1IOb

432. The resistance of a galvanometer coil is R . What is the
shunt resistance required to convert it into an ammeter of

range 4 times

N
wlm a[m o=

O
N
=y

Answer: C

o Watch Video Solution

433. If an ammeter is connected in parallel to a circuit, it is

likely to be damaged due to excess


https://dl.doubtnut.com/l/_DSjwqGaA5s8o
https://dl.doubtnut.com/l/_y9M6CPhtxFcS

A. Current

B. Voltage

C. Resistance

D. All of these

Answer: A

° Watch Video Solution

434.1n the given figure, battery E is balanced on 55 cm length
of potentiometer wire but when a resistance of 10€) is
connected in parallel with the battery then it balances on 50

cm length of the potentiometer wire then internal resistance


https://dl.doubtnut.com/l/_y9M6CPhtxFcS
https://dl.doubtnut.com/l/_4gvVFziS4utP

r of the battery is

2V
|y
|
L& I ™
s
A
| £
i —-MJ
1

A 1Q)

B. 3Q2

C. 100

D. 5(2

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_4gvVFziS4utP

435. A galvanometer with a resistance of 12€) gives full scale
deflection when a current of 3 mA is passed. It is required to
convert it into a voltmeter which can read up to 18 V . the
resistance to be connected is

A. 600012

B. 59882

C. 500012

D. 4988(2

Answer: B

° Watch Video Solution

436. The resistance of an ideal ammeter is


https://dl.doubtnut.com/l/_XBYH1Fhsk4sc
https://dl.doubtnut.com/l/_vnt2UW2fYkCd

A. Infinite

B. Very high

C.Small

D. Zero

Answer: D

° Watch Video Solution

437. A galvanometer of 25() resistance can read a maximum
current of 6 mA . It can be used as a voltmeter to measure a
maximum of 6 V by connecting a resistance to the

galvanometer. Identify the correct choice in the given answers

A. 10252 in series


https://dl.doubtnut.com/l/_vnt2UW2fYkCd
https://dl.doubtnut.com/l/_CAIj0dwDnso6

B. 10252 in parallel

C. 97502 in series

D. 9752 in parallel

Answer: C

o Watch Video Solution

438. A galvanometer has a resistance of 2bohm and a
maximum of 0.01A current can be passed throught it. In
order to change it into an ammeter of range 104, the shunt

resistance required is

A.5/999 ohm

B.10/999 ohm


https://dl.doubtnut.com/l/_CAIj0dwDnso6
https://dl.doubtnut.com/l/_QYn7H0NRu70l

C.20/999 ohm

D. 25/999 ohm

Answer: D

o Watch Video Solution

439. In the circuit shown, a meter bridge is in its balanced
state. The meter bridge wire has a resistance .1ohm /cm. The

value of unknown resistance X and the current drawn from


https://dl.doubtnut.com/l/_QYn7H0NRu70l
https://dl.doubtnut.com/l/_Kf4pyi1tJdLl

the battery of negligible resistance is

X 6 Q
AN— —ANW\—]
<«— 40 cm 60 cm ——
A ﬂ B
||
|1
5V
A. 62, 5 amp
B.10€2, 0.1 amp
C.4Q, 1.0 amp
D. 12€2, 0.5 amp
Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_Kf4pyi1tJdLl
https://dl.doubtnut.com/l/_w0jbLWkW5NFJ

440. A galvanometer has 30 divisions and a sensitivity
16 A /div. It can be converted into a voltmeter to read 3V by
connecting

A. Resistance nearly 6k(Q in series

B. 6k() in parallel

C. 50012 in series

D. It cannot be converted

Answer: A

o Watch Video Solution

441. Voltmeters V; and V; are connected in series across a

D. C. line V; reads 80 volts and has a per volt resistance of


https://dl.doubtnut.com/l/_w0jbLWkW5NFJ
https://dl.doubtnut.com/l/_DsmgMmgsm20W

2000hms, V5 has a total resistance of 32 kilo ohms.

The line voltage is

A. 120 volts

B. 160 volts

C. 220 volts

D. 240 volts

Answer: D

o Watch Video Solution

442. A potentiometer having the potential gradient of
2mV /em is used to measure the difference of potential

across a resistance of 10ohm. If a length of 50cm of the


https://dl.doubtnut.com/l/_DsmgMmgsm20W
https://dl.doubtnut.com/l/_cMRRdqEcWTjs

potentiometer wire is required to get null point, the current
passing through the 100hm resistor is (in mA)

A1l

B.2

C.5

D.10

Answer: D

o Watch Video Solution

443. AB is a potentiometer wire of length 100cm and its
resistance is 10ohms. It is connected in series with a
resistance R = 10ohms and a battery of emf. 2V and

negligible internal resistance. If a source of unknown em.f. £


https://dl.doubtnut.com/l/_cMRRdqEcWTjs
https://dl.doubtnut.com/l/_CwVhYStxna2y

is balanced by 40cm length of the potentiometer wire, the

value of E'is

——N
T <

A 0.8V

B.1.6V

C.0.08V

D.0.16V

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_CwVhYStxna2y

444, An ammeter gives full deflection when a current of 2amp
. Flows through it. The resistance of ammeter is 120hms. If
the same ammeter is to be used for measuring a maximum
current of bamp, then the ammeter must be connected with a
resistance of

A. 8 ohms in series

B. 18 ohms in series

C.8 ohms in parallel

D. 18 ohms in parallel

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_CwVhYStxna2y
https://dl.doubtnut.com/l/_5D5UjhtxnalR
https://dl.doubtnut.com/l/_4iG72bcVWXPj

445, In a circuit 5 percent of total current passes through a
galvanometer. If resistance of the galvanometer is G then

value of the shunt is

A.19G

B.20G

CG
20

0. &
'19

Answer: D

o Watch Video Solution

446. A voltmeter having resistance of 50 x 10® ohm is used to

measure the voltage in a circuit. To increase the range of


https://dl.doubtnut.com/l/_4iG72bcVWXPj
https://dl.doubtnut.com/l/_AAaPjfdgAgoI

measurement 3 times the additional series resistance

required is

A.10° ohm

B. 105 k ohm

C.900 k ohm

D.9 x 10% ohm

Answer: A

o Watch Video Solution

447.1n a potentiometer experiment two cells of em.f. E and E
are used in series and in conjunction and the balancing

length is found to be 58 cm of the wire. If the olarity of E is


https://dl.doubtnut.com/l/_AAaPjfdgAgoI
https://dl.doubtnut.com/l/_TIYQai9Zp2bP

reversed, then the balancing length becomes 29 cm . The ratio

ﬂ of the em.f. of the two cells is
E,

Al:1
B.2:1
C.3:1

D.4:1

Answer: C

o Watch Video Solution

448. A milliammeter of range 10 mA has a coil of resistance
1€2. To use it as voltmeter of range 10 volt , the resistance that

must be connected in series with it, will be


https://dl.doubtnut.com/l/_TIYQai9Zp2bP
https://dl.doubtnut.com/l/_VessOniflSh2

A. 9990

B. 9902

C. 10002

D. None of these

Answer: A

o Watch Video Solution

449, A voltmeter has a range O — V with a series resistance
R. With a series resistance 2R, the range is O — V. The
correct relation between V and V''is

AV =2V

B.V' > 2V


https://dl.doubtnut.com/l/_VessOniflSh2
https://dl.doubtnut.com/l/_XJhxPJVRkhjm

CV’' > >2V

D.V' <2V

Answer: D

o Watch Video Solution

450. The measurement of voltmeter in the following circuit is

6V

+

|4
|

' 60Q2
. ANAR ’

40Q2

A 2.4V

B.3.4V


https://dl.doubtnut.com/l/_XJhxPJVRkhjm
https://dl.doubtnut.com/l/_hknLMwSH6G0B

C.4.0V

D.6.0V

Answer: D

o Watch Video Solution

451. A 3612 galvanometer is shunted by resistance of 4€). The
percentage of the total current, which passes through the
galvanometer is

A.8%

B.9 %

C.10 %

D.91 %


https://dl.doubtnut.com/l/_hknLMwSH6G0B
https://dl.doubtnut.com/l/_J32n575srFsx

Answer: C

o Watch Video Solution

452. An ammeter and a voltmeter of resistance R connected
in seires to an electric cell of negligible internal resistance.
Their readings are A and V respecitvely. If another resistance
R is connected in parallel with the voltmeter

A.Both Aand V will increase

B. Both A and V will decrease

C. A will decrease and V will increase

D. A will increase V will decrease

Answer: D

la


https://dl.doubtnut.com/l/_J32n575srFsx
https://dl.doubtnut.com/l/_IqJjEJ1QR3at
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453. A wire of length 100 cm is connected to a cell of emf 2 V
and negligible internal resistance. The resistance of the wire
is 3€). The additional resistance required to produce a
potential drop of 1 milli volt per cm is

A. 6002

B. 47€)

C.57Q

D. 352

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_IqJjEJ1QR3at
https://dl.doubtnut.com/l/_HzxUsBm1CjpC
https://dl.doubtnut.com/l/_Ff979K10N7t3

454, A galvanometer of resistance 2012 is to be converted into

an ammeter of range 1 A . If a current of 1 mA produces full

scale deflection, the shunt required for the purpose is

A.0.01Q2

B. 0.05¢2

C. 0.0292

D. 0.0412

Answer: C

o Watch Video Solution

455. There are three voltmeters of the same range but of
resistance 10000€2, 80002 and 400012 respectively. The best

voltmeter among these is the one whose resistance is


https://dl.doubtnut.com/l/_Ff979K10N7t3
https://dl.doubtnut.com/l/_Li1ewxLM2p9p

A. 1000052

B. 80002

C. 400012

D. All are equally good

Answer: A

o Watch Video Solution

456. If an ammeter is to be used in place of a voltmeter, then

we must connect with the ammeter a

A. Low resistance in parallel

B. High resistance in parallel

C. High resistance in series


https://dl.doubtnut.com/l/_Li1ewxLM2p9p
https://dl.doubtnut.com/l/_iWwCdUKg7jRt

D. Low resistance in series

Answer: C

o Watch Video Solution

457.The potentiometer wire 10m long and 20 ohm resistance

is connected to a 3 volt emf battery and a 10ohm resistance.

The value of potential gradient in volt/m of the wire will be

A.0.02

B.0.3

C.0.2

D.1.3

Answer: C


https://dl.doubtnut.com/l/_iWwCdUKg7jRt
https://dl.doubtnut.com/l/_vtjZAKDi8LLY

o Watch Video Solution

458. A potentiometer has uniform potential gradient across
it. Two cells connected in series (i) to support each other and
(ii) to oppose each other are balanced over 6 m and 2 m
respectively on the potentiometer wire. The em.f.s of the cells
are in the ratio of

Al:2

B.1:1

C.3:1

D.2:1

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_vtjZAKDi8LLY
https://dl.doubtnut.com/l/_YXSgJtXAqXYs

459. The material of wire of potentiometer is

A. Copper

B. Steel

C. Manganin

D. Aluminium

Answer: C

o Watch Video Solution

460. To convert a galvanometer into a voltmeter, one should

connect a

A. High resistance in series with galvanometer


https://dl.doubtnut.com/l/_YXSgJtXAqXYs
https://dl.doubtnut.com/l/_ZLWhNoJGg8jn
https://dl.doubtnut.com/l/_cr7scvl1h4bX

B. Low resistance in series with galvanometer

C. High resistance in parallel with galvanometer

D. Low resistance in parallel with galvanometer

Answer: A

o Watch Video Solution

461. To convert a 800mV range milli voltmeter of resistance

4052 into a galvanometer of 100 mA’ range, the resistance to

be connected as shunt is

A.10Q2

B. 202

C. 3092


https://dl.doubtnut.com/l/_cr7scvl1h4bX
https://dl.doubtnut.com/l/_wz3RuzSXwW1u

D. 402

Answer: A

o Watch Video Solution

462. A 100 ohm galvanometer gives full scale deflection at

10mA. How much shunt is required to read 100 mA

A.11.11 ohm

B.9.9 ohm

C.1.1 ohm

D.4.40hm

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_wz3RuzSXwW1u
https://dl.doubtnut.com/l/_CQRixkzkWq3E

463. The potential difference across the 100f2 resistance in

the following circuit is measured by a voltmeter of 90012

resistance. The percentage error made in

potential difference is

10 Q

MWV
100 Q
| L1
Ll

A 10

"9

B.0.1

C.1.0

reading the


https://dl.doubtnut.com/l/_CQRixkzkWq3E
https://dl.doubtnut.com/l/_DCqZ4cysvtmE

D. 10.0

Answer: C

o Watch Video Solution

464. A cell of internal resistance 3 ohm and emf 10 volt is
connected to a uniform wire of length 500 cm and resistance
3 ohm . The potential gradient in the wire is

A.30mV /ecm

B.10mV /em

C.20mV /em

D.4mV /em

Answer: B


https://dl.doubtnut.com/l/_DCqZ4cysvtmE
https://dl.doubtnut.com/l/_wobd3ExZvSC9

o Watch Video Solution

465. An ammeter of 10012 resistance gives full deflection for
the current of 10~ ° amp . Now the shunt resistance required
to convert it into ammeter of 1amp . range, will be

A. 10710

B.10°Q

C.107%Q

D.10'Q

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_wobd3ExZvSC9
https://dl.doubtnut.com/l/_f3P8XIvp8L5Q

466. A galvanometer of resistance 362 is changed into an

ammeter by using a shunt of 4€). The fraction f of total

current passing through the galvanometer is

>
NG %||_.

Answer: D

o Watch Video Solution

467. If tha ammter in the given circuit reads 2A, the

resistance R is


https://dl.doubtnut.com/l/_eZCkwesUn6NN
https://dl.doubtnut.com/l/_gHGOMgotHOUb

3Q

50 ——'\/\/\/\/ﬁ

(@ p T
< —T

A.1ohm

B.2 ohm

C.3 ohm

D.4 ohm

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_gHGOMgotHOUb

468. A 50 ohm galvanometer gets full scale deflection when a

current of 0.01 A passes through the coil. When it is

converted to a 10 A ammeter, the shunt resistance is

A.0.01Q2

B. 0.0512

C. 200012

D. 500012

Answer: B

o Watch Video Solution

469. Resistance in the two gaps of a meter bridge are 10o0hm

and 30ohm respectively. If the resistances are interchanged


https://dl.doubtnut.com/l/_o5uObGjK08nJ
https://dl.doubtnut.com/l/_tMj99PDeaCwg

he balance point shifts by

A. 33.3cm

B.66.67cm

C.25¢cm

D. 50cm

Answer: D

o Watch Video Solution

470. If specific resistance of a potentiometer wire is 10~ Qm,
the current flow through it is 0.1A and the cross-sectional

area of wire is 10 %m? then potential gradient will be

A 107V /m


https://dl.doubtnut.com/l/_tMj99PDeaCwg
https://dl.doubtnut.com/l/_5pmB1fqjdFXG

B.10 %V /m
C.10° %V /m

D.10"%V /m

Answer: C

o Watch Video Solution

471. Two resistance of 4002 and 80052 are connected in series
with 6 volt battery of negligible internal resistance. A
voltmeter of resistance 10, 000§2 is used to measure the
potential difference across 400€2. The error in measurement

of potential difference in volts approximatley is

A.0.01

B. 0.02


https://dl.doubtnut.com/l/_5pmB1fqjdFXG
https://dl.doubtnut.com/l/_y6ncsSJ2jws4

C.0.03

D. 0.05

Answer: D

o Watch Video Solution

472. A galvanometer having a coil resistance of 100w gives a
full scale deflection , when a current of 1mA is passed
through it. The value of the resistance, which can convert this
galvanometer into ammeter giving a full scale deflection for a

current of 104 , is :

A.9

B.6

C.3


https://dl.doubtnut.com/l/_y6ncsSJ2jws4
https://dl.doubtnut.com/l/_m0sB8ZNooggx

D.15

Answer: C

o Watch Video Solution

473. An ammeter reads upto 1 ampere. Its internal resistance

is 0.81 ohm. To increase the range to 10 A the value of the

required shunt is

A. 0.092

B.0.03(2

C.0.3Q2

D. 0.9

Answer: A


https://dl.doubtnut.com/l/_m0sB8ZNooggx
https://dl.doubtnut.com/l/_DXcoPuXqGxGr

o Watch Video Solution

474. The length of a wire of a potentiometer is 100 cm, and
the emf. of its standard cell is E volt. It is employed to
measure the emf. of a battery whose internal resistance is
0.5€2. If the balance point is obtained at | = 30 cm from the
positive end, the em.f. of the battery is .

where i is the current in the potentiometer wire.

A 30E
"~ 100

30E
B. ———

100.5

30E

" (100 — 0.5)

30(E — 0.57) o ]
D. 100 , Where i is the current in the

potentiometer


https://dl.doubtnut.com/l/_DXcoPuXqGxGr
https://dl.doubtnut.com/l/_SEv7KQqcCwKk

Answer: A

o Watch Video Solution

475. Resistance of 100 cm long potentiometer wire is 102, it is
connected to a battery (2 volt) and a resistance R in series. A
source of 10 mV gives null point at 40 cm length, then
external resistance R is

A. 49002

B. 79012

C. 59002

D. 99012

Answer: B

la


https://dl.doubtnut.com/l/_SEv7KQqcCwKk
https://dl.doubtnut.com/l/_oYRRxYvkbh9s

| ' vvatich video soilution J

476. The em.f. of a standard cell balances across 150 cm
length of a wire of potentiometer. When a resistance of 2(2 is
connected as a shunt with the cell, the balance point is
obtained at 100cm . The internal resistance of the cell is

A. 0.1Q2

B. 12

C. 202

D. 0.5(2

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_oYRRxYvkbh9s
https://dl.doubtnut.com/l/_8c3JuJHubAgo
https://dl.doubtnut.com/l/_Djzpg5N3TG1P

477.What is the reading of voltmeter in the following figure ?

10V

| il >
Al
1000 Q

A 500Q A 500Q

A. 3V
B. 2V
C.5v

D. 4V

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_Djzpg5N3TG1P

478. The current flowing in a coil of resistance 902 is to be

reduced by 90%. What value of resistance should be

connected in parallel with it

A 902

B. 9012

C. 100012

D. 1002

Answer: D

o Watch Video Solution

479. The maximum current that can be measured by a

galvanometer of resistance 40(2 is 10 mA . It is converted into


https://dl.doubtnut.com/l/_AjW2Ti6SrkvM
https://dl.doubtnut.com/l/_yCNYSRPaz9yV

a voltmeter that can read upto 50 V . The resistance to be

connected in series with the galvanometer is ... (in ohm)

A. 5040

B. 4960

C. 2010

D. 4050

Answer: B

o Watch Video Solution

480. For the post office arrangement to determine the value

of unknown resistance, the unknown resistance should be


https://dl.doubtnut.com/l/_yCNYSRPaz9yV
https://dl.doubtnut.com/l/_7ClGL0jJNMkh

connected between.

B C D
80 O @ 0 O @
. ‘\ \\
\ \
\ \
\ \
\ \
\ \
\\ \\
00O O 0O 0O O
\ \
\\‘ \\\
\ \
\‘ \
\ \
A

A.Band C
B.Cand D
C.Aand D

D.Band C

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_7ClGL0jJNMkh

481. A glavanometer of 502 resistance has 25 divisions. A
current of 4 x 10~% A gives a deflection of one division. To
convert this galvanometer into a voltmeter having a range of
25V, it should be connected with a resistance of

A. 250012 as a shunt

B. 245012 as a shunt

C. 25501 in series

D. 245012 in series

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_7ClGL0jJNMkh
https://dl.doubtnut.com/l/_U0OxFu1HkbIv

482. In a meter bridge experiment, null point is obtained at
20cm from one end of the wire when resistance X is
balanced against another resistance Y. If X < Y, then the
new position of the null point from the same end, if one
decides to balance a resistance of 4X against Y will be at.
A.50 cm
B.80 cm

C.40cm

D.70 cm

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_cIxni5pwA7CM

483. In the circuit given, the correct relation to a balanced

Wheatstone bridge is

p R
s Q
|1
]l
AP_R
53
P _ S
0" T
 P_ s
E-0

D. None of these

Answer: C

| o


https://dl.doubtnut.com/l/_Insa0uppAK8i

| & Watch Video Solution

484. A galvanometer coil of resistance 502, show full

deflection of 100uA . The shunt resistance to be added to the

galvanometer, to work as an ammeter of range 10 mA is

A.5Q in parallel

B. 0.5€2 in series

C. 5% in series

D. 0.582 in parallel

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_Insa0uppAK8i
https://dl.doubtnut.com/l/_03rSFRrCbZRn

485. In given figure, the potentiometer wire AB has a
resistance of 52 and length 10 m . The balancing length AM

for the emf of 0.4 Vis

R-45€2
1| —wW—— )
1
A s
04V

A.0.4m

B.4m

C.0.8m

D.8m

Answer: D


https://dl.doubtnut.com/l/_FJgEVwAv3Bgn

o Watch Video Solution

486. A potentiometer consists of a wire of length 4 m and
resistance 10€). It is connected to a cell of emf 2V.The
potential gradient of the wire is

A.0.5V /m

B.10V /m

C.2V/m

D.5V /m

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_FJgEVwAv3Bgn
https://dl.doubtnut.com/l/_Y5nWWQ6RwqCP

487. A voltmeter essentially consists of

A. A high resistance, in series with a galvanometer

B. A low resistance, in series with a galvanometer

C. A high resistance in parallel with a galvanometer

D. Alow resistance in parallel with a galvanometer

Answer: A

o Watch Video Solution

488. In a potentiometer experiment the balancing with a cell
is at length 240 cm. On shunting the cell with a resistance of
2(), the balancing length becomes 120 cm.The internal

resistance of the cell is


https://dl.doubtnut.com/l/_RDJiAIRAS8qh
https://dl.doubtnut.com/l/_qZ7jCTj3Ca4o

A. 4Q)

B. 2()

C.1Q2

D. 0.52

Answer: B

o Watch Video Solution

489. With a potentiometer null point were obtained at 140 cm
and 180 cm with cells of emf 11 V and one unknown x volts.
Unknown emf is

A 1.1V

B.1.8V


https://dl.doubtnut.com/l/_qZ7jCTj3Ca4o
https://dl.doubtnut.com/l/_UZpg3QC0N8S3

C.24V

D.1.41V

Answer: D

o Watch Video Solution

490. A moving coil galvanometer of resistance 1002 is used as
an ammeter using a resistance 0.1€). The maximum diflection
current in the galvanometer is 100uA. Find the minimum
current in the circuit so that the ammeter shows maximum

deflection

A.100.1mA

B.1000.1mA

C.10.01mA


https://dl.doubtnut.com/l/_UZpg3QC0N8S3
https://dl.doubtnut.com/l/_CjmbRsrxXtMz

D.1.01mA

Answer: A

° Watch Video Solution

491. Two resistances are connected in the two gaps of a meter
bridge. The balance point is 20cm from the zero end. When a
resistance 152 is connected in series with the smaller of two
resistance, the null point+ shifts to 40cm. The smaller of the
two resistance has the value.

A3

B.6

C.9

D.12


https://dl.doubtnut.com/l/_CjmbRsrxXtMz
https://dl.doubtnut.com/l/_eCHJMJ88S0RM

Answer: C

o Watch Video Solution

492, If resistance of voltmeter is 100002 and resistance of

ammeter is 202 then find R when voltmeter reads 12 V and

ammeter reads 0.1 A

A. 11802

B. 12012

C. 1240

D. 1140}

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_eCHJMJ88S0RM
https://dl.doubtnut.com/l/_nLd1g09mnq5D

493. Potentiometer wire of length 1m is connected in series
|4
with 4902 resistance and 2V battery. If 0.2m—m is the
c
potential gradient, then resistance of the potentiameter wire
is approximately
A.4.9Q
B. 7.9Q

C.5.90

D. 6.992

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_nLd1g09mnq5D
https://dl.doubtnut.com/l/_xsz62zAZkReZ

494.1n an electrical cable there is a single wire of radius 9mm
of copper. Its resistance is 5{). The cable is replaced by 6
different insulated copper, wires the radius of each wire is
3mm. Now the total resistance of the cable will be

A. 7.5

B. 45(2

C. 9092

D. 270(2

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_BGPg3i09kiyh

495, Two uniform wires A and B are of the same total metal

and have equal masses. The radius of wire A is twice that of

wire B. The total resistance of A and B when connected in

parallel is

A. 4Q) when the resistance of wire A is 4.25()

B. 5() the resistance of wire A is 4.25()

C. 42 when the resistance of wire B is 4.25{2

D. 4€) when the resistance of wire B is 4.25()

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_MtYYENW8ecPy

496. You are given several identical resistors each of value
102 and each capable of carrying a maximum current of 1 A. It
is required to make a suitable combination of these to
resistances to produce a resistance of 5{2 which can carry a
current of 4 A. The minimum number of resistors required for
this job is

A4

B.10

C.8

D. 20

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_F4FgRD7x7faf
https://dl.doubtnut.com/l/_bytZtvxOL04K

497. In the figure shown, the capacity of the consider C' is

2vF'. The current in 2€2 resistor is

20
3Q
2 uF 4Q
} A\
oty
6V '
A. 9A
B. 0.9A
1
C.—A
9
1
D.—A
0.9
Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_bytZtvxOL04K

498. When the key E is pressed at time ¢t = 0, which of the
following statements about the current I in the resistor AB
of the given circuit is true.

_l}___{<._.‘.\-——«/vv»

B

1000 Q

1uF ==C ?ooog

Al=2mAatallt

B. | oscillates between 1 mA and 2mA

C.l =1mAatallt

D.Att = 0,1 = 2mA and with time it goes to TmA

Answer: D



https://dl.doubtnut.com/l/_bytZtvxOL04K
https://dl.doubtnut.com/l/_g4apxMg01TWo

| o Watch Video Solution

499, A torch bulb rated 4.5W, 1.5V is connected as shown in
Fig. 7.35. The emf of the cell needed to make the bulb glow at

full intensity is

4.5 W
1.5V

1 €
— AV
E
|+
r=2.67%

A. 4.5V


https://dl.doubtnut.com/l/_g4apxMg01TWo
https://dl.doubtnut.com/l/_Wzl3cTy2m2Ka

B.1.5V

C.2.67V

D.13.5V

Answer: D

o Watch Video Solution

500. There are three coils of equal resistance. The maximum
number of resistances you can obtain by connecting them in
any manner ypu choose, being free to use any number of the

coils in any way is.

A3

B.4


https://dl.doubtnut.com/l/_Wzl3cTy2m2Ka
https://dl.doubtnut.com/l/_xaWQ9mNc7Yru

C.6

D.5

Answer: B

o Watch Video Solution

501. In the circuit shown, the value of each resistance is r ,
then equivalent resistance of circuit between points A and B

will be

A (4/3)r


https://dl.doubtnut.com/l/_xaWQ9mNc7Yru
https://dl.doubtnut.com/l/_ovNml6h7mQLy

B.3r /2
C.r/3

D.8r /7

Answer: D

o Watch Video Solution

502. If in the circuit shown below, the internal resistance of
the battery is 1.5Q2 and Vp and V,, are the potential at P and

Q respectively, what is the potential difference between the


https://dl.doubtnut.com/l/_ovNml6h7mQLy
https://dl.doubtnut.com/l/_s4HomszwEvDG

point P and )?

20V “1.5!2
B + 11—
3 Q P 2Q
MW - MW
2 Q Q 3 Q
AMMW— » MWV

A. Zero
B.4 volts (V > V)
C.4volts (V > V)

D.2.5volts (V > V)

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_s4HomszwEvDG
https://dl.doubtnut.com/l/_lKl6mNYL3k2O

503. Two wires of resistance R; and R, have temperature
coefficient of resistance a; and ay respectively. These are
joined in series. The effective temperature coefficient of

resistance is

a1 + a2

A.
2

B. A/ 010

C OélRl + a2R2
" Ry + R,

VR Ryajap

\/ R? + Rj

Answer: C

D.

o Watch Video Solution



https://dl.doubtnut.com/l/_lKl6mNYL3k2O

504. Two cells, having the same emf, are connected in series
through an external resistance R. Cells have internal
resistance r; and ro(r; > 79) respectively. When the circuit is
closed, the potentail difference across the first cell is zero the

value of R is

Ary + 1o

B.’l“l — To

T —|-’I“Q
2

rET — T2
2

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_qRhLmTHpj2Tx

505. When connected across the terminals of a cell, a
voltmeter measures 5 V and a connected ammeter measures
10 A of current. A resistance of 2 ohm s is connected across
the terminals of the cell. The current flowing through this
resistance will be

A.2.5A

B.2.0A

C.5.04

D.7.5A

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_jc7NXdajqaOG

506. In the circuit shown here, E; = FE5 = E3 = 2V and
R, = Ry = 4ohms. The current flowing between point A

and B through battery Ej is

E, R,
| |
11
i
A | B
R
I

A.Zero

B.2 amp from Ato B

C.2amp from B to A

D. None of the above


https://dl.doubtnut.com/l/_LulptrpKIUdl

Answer: B

o Watch Video Solution

507. In the circuit shown below
E1 = 40V, R1 = 29, E2 = 60V, R2 = 4) and R3 = 2.

The current I is

| AAAA ———
—
E1 =I4V
11 A

=
o)-—r—
<

A.1.6A


https://dl.doubtnut.com/l/_LulptrpKIUdl
https://dl.doubtnut.com/l/_tlm6RXm1Zu4x

B.1.84

C.1.25A

D.1.04

Answer: B

o Watch Video Solution

508. A microammeter has as resistance of 1002 and full scale
range of 50uA. It can be used a voltmeter or as ahigher range
ammeter provided a resistance is added to it. Pick the correct
range and resistance combinations

50 V range with 10k(2 resistance in series

b.10V range with 200k(2 resistance in series

c. 5mA rangw with 1€} resistance in parallel

10m A range with 1€ resistance in parallel


https://dl.doubtnut.com/l/_tlm6RXm1Zu4x
https://dl.doubtnut.com/l/_DS4xTZgyV8HR

A. 50 V range with 10k(2 resistance in series

B. 10 V range with 200k(2 resistance in series

C. 10 mA range with 1€ resistance in parallel

D. 10 mA range with 0.1€2 resistance in parallel

Answer: B

o Watch Video Solution

509. The potential difference across 8 ohm resistance is 48

volt as shownin the figure. The value of potential difference


https://dl.doubtnut.com/l/_DS4xTZgyV8HR
https://dl.doubtnut.com/l/_SNFVTUF3dxuL

across X and Y point will be

X —AWN\——
3Q
%20 Q $30 Q 60 Q
T -
24 Q 8Q< 48V
1 1 7
Y e—mW—-
A. 160 volt
B. 128 volt
C. 80 volt
D. 62 volt
Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_SNFVTUF3dxuL

510. Two resistance R; and R, are made of different material.
The temperature coefficient of the material of R; is a and of
the material of Ry is —f. Then resistance of the series
combination of Ry and R, will not change with temperature,

if Ry / Ry will not change with temperature if R; / Ry equals

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_hi2A1mzCheja

511. An ionization chamber with parallel conducting plates as
anode and cathode has 5 x 107 electrons and the same
number of singly-charged positive ions per cm?. The electrons
are moving at 0.4m /s. The current density from anode to
cathodes 4uA /m?®. The velocity of positive ions moving

towards cathode is

A.0.4m /s
B.16m /s
C. Zero

D.0.1m /s

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_7eF52lAyAit1
https://dl.doubtnut.com/l/_qM2b5Go2oGoX

512. A wire of resistance 1012 is bent to form a circle. P and Q
are points on the circumference of the circle dividing it into a
quadrant and are connected to a Battery of 3 V and internal
resistance 1) as shown in the figure. The currents in the two

parts of the circle are

3V
1 Q

6 18
A. 2—3A and 2—3A
5 15
B. 2_6A and 2—6A
4 12
C. 2—5A and 2—5A
3 9

D. 2—5A and 2—5A


https://dl.doubtnut.com/l/_qM2b5Go2oGoX

Answer: A

o Watch Video Solution

513. In the given circuit, it is observed that the current | is
independent of the value of the resistance Rg. Then the

resistance values must satisfy

Rs

|
I~

A. R RyRs = R3R,R;

Bl+1__ 1 . 1
"Ry Rs¢ R +R, R;+R,



https://dl.doubtnut.com/l/_qM2b5Go2oGoX
https://dl.doubtnut.com/l/_y16O7T1Ph4Fg

C. R1R4 - R2R3

D. R1R3 = R2R4 — R5R5

Answer: C

o Watch Video Solution

514. In the given circuit, with steady current, the potential

drop across the capacitor must be

I AN ——



https://dl.doubtnut.com/l/_y16O7T1Ph4Fg
https://dl.doubtnut.com/l/_695FFdnfhyAE

AV
B.V /2
CV/3

D.2V /3

Answer: C

o Watch Video Solution

515. A wire of length L and 3 identical cells of negligible
internal resistance are connected in series. Due to the
current, the temperature of the wire is raised by AT in a time
t. Anumber N of similar cells is now connected in series with

a wire of the same material and cross-section but of length


https://dl.doubtnut.com/l/_695FFdnfhyAE
https://dl.doubtnut.com/l/_pDF4RGsnttSn

2L. The temperature of the wire is raised by the same amount

AT in the same time t. the value of N is

A 4

B.6

C.8

D.9

Answer: B

o Watch Video Solution

516. What is the equivalent resistance between the point A

and B of the network ?


https://dl.doubtnut.com/l/_pDF4RGsnttSn
https://dl.doubtnut.com/l/_5SYfpX1ddTVb

20 3Q 2Q

10 Q 10

180 50
220Q
57

A —Q
7

B. 8(2

C. 612

0.2 g

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_5SYfpX1ddTVb

517. The effective resistance between points P and Q of the

electrical circuit shown in the figure is

2Rr

(a)
R+r
5 8R(R +r)

3R +r
(c)2r + 4R

5R
(d) T + 2r .

2R 2R

2R

2R 2R R

A2R/(R+ )
B.8R(R+r)/(3R+ )

C.2r + 4R


https://dl.doubtnut.com/l/_PHyNyaecyGGk

D.5R/2 + 2r

Answer: A

o Watch Video Solution

518.In the circuit element given here, if the potential at point

B = Vg = 0, then the potentials of A and D are given as

1amp 15Q 25Q 2\|/__’_
——— AW ——AMWN———]
A B C D
AVy= —15Vp= +2V

B. VA = 4+ 15V, VD) = + 2V
CVy= +15V,Vp = +0.5V

D.Vq= 4+ 15V, Vp = — 0.5V


https://dl.doubtnut.com/l/_PHyNyaecyGGk
https://dl.doubtnut.com/l/_eU5lGLWs2lYC

Answer: D

o Watch Video Solution

519. The equivalent resistance between the point P and @ in

3
the network given here is equal to (given r = 59)

>
|~
o)

B. 102


https://dl.doubtnut.com/l/_eU5lGLWs2lYC
https://dl.doubtnut.com/l/_CN0F5Zq45wuq

Answer: B

o Watch Video Solution

520. The current in conductor varies with time t as
I = 2t + 3t® where I is in ampere and ¢ in seconds. Electric
charge flowing through a section of the conductor during
t = 2sectot = 3secis

A. 10C

B.24C

C.33C


https://dl.doubtnut.com/l/_CN0F5Zq45wuq
https://dl.doubtnut.com/l/_QEqMuF7aQLad

D. 44C

Answer: B

° Watch Video Solution

ts

.

‘,)

Yo N

521, 4

A group of N cells where emf. varies directly with the internal
resistance as per the equation Ey = 1.5ry are connected as

shown in the figure. The current | in the circuit is:


https://dl.doubtnut.com/l/_QEqMuF7aQLad
https://dl.doubtnut.com/l/_44JX2M2Rer7I

A.0.51 amp

B.5.1amp

C.0.15amp

D. 1.5amp

Answer: D

o Watch Video Solution

A — X —» C

522. B

In the shown arrangement of the experiment of the meter


https://dl.doubtnut.com/l/_44JX2M2Rer7I
https://dl.doubtnut.com/l/_s45zCBLEh7oM

bridge if AC corresponding to null deflection of galvanometer
is X, what would be its value if the radius of the wire AB is

doubled?

B.z/4

C.4x

D.2x

Answer: A

o Watch Video Solution

523. The resistance of a wire of iron is 10ohm and
temperature coefficient of resistivity is 5 x 107 %/.° C, At

20° C it carries 30m A of current. Keeping constant potential


https://dl.doubtnut.com/l/_s45zCBLEh7oM
https://dl.doubtnut.com/l/_lTRliVsSskyr

difference between its ends. The temperature of the wire is

raised to 120° C. The current in mA that flows in the wire

now is.

A. 20

B.15

C.19

D. 40

Answer: A

o Watch Video Solution

524. Seven resistance are connected as shown in the firgure.

The equivalent resistance between A and B is


https://dl.doubtnut.com/l/_lTRliVsSskyr
https://dl.doubtnut.com/l/_VrDrlKkQBf8J

10Q

A
A 10 Q 3Q B
-— A A .

5Q§ .8Q§ '69§ 6Q

A. 30

B. 402

C.4.5Q

D. 5(2

Answer: B

o Watch Video Solution

525. A battery of internal resistance 4(} is connected to the

network of resistance as shown . In order that the maximum


https://dl.doubtnut.com/l/_VrDrlKkQBf8J
https://dl.doubtnut.com/l/_h7qNFt8YBaF7

power can be delivered to the network, the value of R in 2

should be
AAAA =
R R
e R B R
-.4.{.). R 4R ‘
AAAA AAAA
4 8
A4/9
B.8/9
C.2
D. 18
Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_h7qNFt8YBaF7

526. In the circuit shown here, the readings of the ammeter

and voltmeter are

50 -@-

A.6A, 60V
B.0.64, 6V
C.6/14,60/114

D.11/64,11/60V

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_JXOeiLjaVP8z

527.Length of a hollow tube is 5m, its outer diameter is 10cm
and thickness of its wall is 5 mm. If resistivity of the material
of the tube is 1.7 x 10 8Q x m then resistance of tube will
be

A.5.6 x 107°Q

B.2 x 107°Q

C.4 x 107°0Q)

D. None of these

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_JXOeiLjaVP8z
https://dl.doubtnut.com/l/_8UGLBEHj1JRn

528. As the switch S is closed in the circuit shown in figure,

current passed through it is.

20V 49 49 5V
- %
:l_—

A.4.5A

CU

B.6.0A

C.3.0A

D. Zero

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_X5f8KYn4KsOj

529. Consider the circuit shown in the figure. Both the circuits
are taking same current from battery but current through R
in the second circuit is 1—10th of current through R in the first
circuit. If R is 11€2, the value of R;

i Ry

l, A
>V i110
E R :[: §R2 R

(a) (b)

A.9.9Q

B. 1102

C. 8.802

D.7.7C2

Answer: A



https://dl.doubtnut.com/l/_QuttvaiphobJ

[ W Watch Video Solution ]

530. In the circuit shown in figure, reading of voltmeter is V;
when only S; is closed, reading of voltmeter is V2 when only
Sy is closed, and reading of voltmeter is V3 when both

S1 and Ss are closed. Then .

IR S,
—-’\NVV\,——O/O—"‘
R
| 6R
AMA—S”o—
N
>
|\
\'E
AV >V >V

BV >V >V


https://dl.doubtnut.com/l/_QuttvaiphobJ
https://dl.doubtnut.com/l/_5mZrUvlVFBds

CV>>V>V

DV >V >V

Answer: B

o Watch Video Solution

531. Current through XY of circuit shown is

1Q



https://dl.doubtnut.com/l/_5mZrUvlVFBds
https://dl.doubtnut.com/l/_bCSuPT73GYet

A 1A

B.4A

C.2A

D.3A

Answer: C

o Watch Video Solution

532.In the circuit of adjoining figure the current through 12€2

resister will be


https://dl.doubtnut.com/l/_bCSuPT73GYet
https://dl.doubtnut.com/l/_8smIKIdETWmH

@
s

N
gl o =
I

D. OA

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_8smIKIdETWmH
https://dl.doubtnut.com/l/_xq2wbLAKrXUe

533. The reading of the ideal voltmeter in the adjoining

diagram will be

10V

10 Q

A. 4V

B. 8V

C. 12V

D. 14V


https://dl.doubtnut.com/l/_xq2wbLAKrXUe

Answer: B

o Watch Video Solution

534. The resistance of the series combination of two
resistances is S. When they are joined in parallel the total
resistance is P. If S= nP then the minimum possible value of n
is

A4

B.3

C.2

D.1

Answer: A

.y


https://dl.doubtnut.com/l/_xq2wbLAKrXUe
https://dl.doubtnut.com/l/_Va1MyvKlg1o7

| ' vvatch video soilution J

535. A moving coil galvanometer has 150 equal divisions. Its
current sensitivity is 10-divisions per milliampere and voltage
sensitivity is 2 divisions per millivolt. In order that each
division reads 1 volt, the resistance in ohms needed to be
connected in series with the coil will be -

A. 99995

B. 9995

C.10°

D. 10°

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_Va1MyvKlg1o7
https://dl.doubtnut.com/l/_H0sMIvozSdPs

536. Which of the adjoining graphs represents ohmic

resistance
1
(@) v

A. s
1
(b) v

B. =

() 1 k
V]

C. 1=
@ 1
14

D. =
Answer: A

ey


https://dl.doubtnut.com/l/_3bxrraTUaqGQ

| ¥ Watch Video solution |

537. Variation of current passing through a conductor as the
voltage applied across its ends is varied as shown in the
adjoining diagram. If the resistance (R) is determined at the
points A, B, C and D, we will find that
&\ D

C
B

A

>

AR=R


https://dl.doubtnut.com/l/_3bxrraTUaqGQ
https://dl.doubtnut.com/l/_s64wVc1npdrb

B.R >R

CR>R

D. None of these

Answer: D

o Watch Video Solution

538. I — V characterstic of a copper wire of length L and

area fo cross-section A is shown in Fig. The slope of the curve


https://dl.doubtnut.com/l/_s64wVc1npdrb
https://dl.doubtnut.com/l/_19Lmp1rgU5Iq

becomes

| A

A.More if the experiment is performed at higher

temperature

B. More if a wire of stell of same dimension is used

C. More if the length of the wire is increased

D. Less if the length of the wire is increased

Answer: D


https://dl.doubtnut.com/l/_19Lmp1rgU5Iq

o Watch Video Solution

539. E denotes electric field in a uniform conductor, [
corresponding current through it, v; velocity of electrons and
P denotes thermal power produced in the conductor, then

which of the following graph is correct?

Vi W



https://dl.doubtnut.com/l/_19Lmp1rgU5Iq
https://dl.doubtnut.com/l/_822y0C7MnYVl

Answer: C

o Watch Video Solution

540. The two ends of a uniform conductor are joined to a cell
of emf. E and some internal resistance. Starting from the
midpoint P of the conductor, we move in the direction of
current and return to P. The potential V' at every point on
the path is plotted against the distance covered (z). which of

the following graphs best represent the resulting curve ?



https://dl.doubtnut.com/l/_822y0C7MnYVl
https://dl.doubtnut.com/l/_35lXmYnvz84G

Answer: B

o Watch Video Solution

541. The resistance t R of a conductor varies with temperature

t as shown in the figure. If the variation is represented by


https://dl.doubtnut.com/l/_35lXmYnvz84G
https://dl.doubtnut.com/l/_vG7W18kOuGAy

R, = R, [1 + at + BtQ],then

X

A. a and (3 are both negative

B. « and [ are both positive

C. a is positive and 3 is negative

D. a is negative and [ are positive

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_vG7W18kOuGAy

542. Variation of current and voltage in a conductor has been
shown in the diagram below. The resistance of the conductor

is.

gl

e e e o e e oy ow o

o
»
L
.
"
A

4

V7

A. 4 ohm

B.2 ohm

C.3 ohm


https://dl.doubtnut.com/l/_vG7W18kOuGAy
https://dl.doubtnut.com/l/_ucU8InzBJ9Aq

D.1ohm

Answer: D

o Watch Video Solution

543. Resistance as shown in figure is negative at

1&.
/ T A C
B
By B

A A

B.B


https://dl.doubtnut.com/l/_ucU8InzBJ9Aq
https://dl.doubtnut.com/l/_p0O1wBJeQlIe

C.C

D. None of these

Answer: A

o Watch Video Solution

544. For a cell, a graph is plotted between the potential
difference V across the terminals of the cell and the current |

drawn the cell. The emf and the internal resistance of the cell


https://dl.doubtnut.com/l/_p0O1wBJeQlIe
https://dl.doubtnut.com/l/_2TrIpwaZlZxn

are E and r, respectively. Then
4 V(volt)
2.07

1.5
1.0

05T

| | ' +—» | (amp)
1 2 3 4 S

A. 2V, 0.5

B. 2V, 0.40)

C. > 2V, 0.5Q

D. > 2V, 0.40

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_2TrIpwaZlZxn

545. The graph which represents the relation between the
total resistance R of a multi range moving coil voltmeter and

its full scale deflection

R 4 R A
— V Ry
(i) (ii)
R 4 R 1
>V > V
(iii) (iv)
A. (i) (iii)
B. (ii) (iv)

C. (iii)


https://dl.doubtnut.com/l/_krBLKfthZ1zf

D. (iv)

Answer: D

o Watch Video Solution

546. When a current | is passed through a wire of constant
resistance, it produces a potential difference V across its

ends. The graph drawn between log | and log V will be

@~

A log V


https://dl.doubtnut.com/l/_krBLKfthZ1zf
https://dl.doubtnut.com/l/_eRVPqbl7NhF9

log 7

C log V

N

D log V

log 7

Answer: A

o Watch Video Solution

547.The V - i graph for a conductor at temperature 77 and T

are as shown in the figure. (T — T7) is proportional to



https://dl.doubtnut.com/l/_eRVPqbl7NhF9
https://dl.doubtnut.com/l/_dZUB2SATxiEM

A. cot 20

B.sin®

C. cot 260

D.tan@

Answer: C

7

o Watch Video Solution



https://dl.doubtnut.com/l/_dZUB2SATxiEM

548. A cylindrical conductor has uniform cross-section.
Resistivity of its material increase linearly from left end to
right end. If a constant current is flowing through it and at a
section distance x from left end, magnitude of electric field

intensity is E , which of the following graphs is correct

(a) 5\

A. o x
(b) EI

B. © iy
(c) E

L

X


https://dl.doubtnut.com/l/_NOloj7cj33A7

Answer: B

o Watch Video Solution

549.The V - | graph for a conductor makes angle 8 with V-axis.

Here V denotes voltage and | denotes current. What is the

resistance of this conductor?

A.sin @

B. cos @

C.tan6

D.cot 0

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_NOloj7cj33A7
https://dl.doubtnut.com/l/_2FL6FwBySaXJ

550. A battery consists of a variable number n of identical
cells having internal resistance connected in series. The
terminals of the battery are short circuited and the current [
measured. Which one of the graph below shows the correct

relationship between I and n?
(@ i‘ i

. © 7
® [ :

_ 0 .

© i l

C. ¢

@ 7



https://dl.doubtnut.com/l/_2FL6FwBySaXJ
https://dl.doubtnut.com/l/_5g4G9A20G181

Answer: D

o Watch Video Solution

551. The V' — I graphs of parallel and series combinations of
two metallic resistors are shown in (Fig. 3.53). Which graph

represents the parallel combinations ?

b

A A


https://dl.doubtnut.com/l/_5g4G9A20G181
https://dl.doubtnut.com/l/_HF95zGY8R8e3

B.B

C.A and B both

D. Neither Anor B

Answer: A

o Watch Video Solution

552. The ammeter has range 1 ampere without shunt. The
range can be varied by using different shunt resistance. The

graph between shunt resistance and range will have the


https://dl.doubtnut.com/l/_HF95zGY8R8e3
https://dl.doubtnut.com/l/_EYVysunozzQ9

nature

'\

Range

AP

B.Q

C.R

D.S

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_EYVysunozzQ9

553. Assertion: The resistivity of a semiconductor increases

with temperature.

Reason: The atoms of a semiconductor vibrate with larger

amplitude at higher temperature therby increasing it

resistivity.

A. If both assertion and reason are true and the reason is

the correct explanation of the assertion.

B. If both assertion and reason are true but reason is not

the correct explanation of the assertion

C. If assertion is true but reason is false

D. If the assertion and reason both are false

Answer: D



https://dl.doubtnut.com/l/_EYVysunozzQ9
https://dl.doubtnut.com/l/_HELaHgalDIy0

| o Watch Video Solution

554. Assertion : In a simple battery circuit the point of lowest
potential is positive terminal of the battery.
Reason : The current flows towards the point of the higher
potential as it flows in such a circuit from the negative the
positive terminal.
A. If both assertion and reason are true and the reason is
the correct explanation of the assertion.
B. If both assertion and reason are true but reason is not
the correct explanation of the assertion

C. If assertion is true but reason is false

D. If the assertion and reason both are false


https://dl.doubtnut.com/l/_HELaHgalDIy0
https://dl.doubtnut.com/l/_IXv00858mHSg

Answer: D

o Watch Video Solution

555. Statement-1: The temperature coefficient of resistance is
positive for metals and negative for p-type semiconductor.
Statement-2 : The effective charge carriers in metals are
negatively charged whereas in p-type semiconductor, they are
positively charged

A. If both assertion and reason are true and the reason is

the correct explanation of the assertion.
B. If both assertion and reason are true but reason is not

the correct explanation of the assertion

C. If assertion is true but reason is false


https://dl.doubtnut.com/l/_IXv00858mHSg
https://dl.doubtnut.com/l/_a8DpW0GF9uBv

D. If the assertion and reason both are false

Answer: B

o Watch Video Solution

556. Assetion : In the following circuit emf is 2V and internal
resistance of the cell is 12 and R = 1(2, then reading of the
voltmeter is 1V

2
Reason : V = E — ir where E:2fu,i:§:1A and


https://dl.doubtnut.com/l/_a8DpW0GF9uBv
https://dl.doubtnut.com/l/_eDf6znNP3QQc

A. If both assertion and reason are true and the reason is

the correct explanation of the assertion.

B. If both assertion and reason are true but reason is not

the correct explanation of the assertion

C. If assertion is true but reason is false

D. If the assertion and reason both are false


https://dl.doubtnut.com/l/_eDf6znNP3QQc

Answer: A

o Watch Video Solution

557. Assertion : There is no current in the metals in the

absence of electric field.

Reason : Motion of free electron are randomly.

A. If both assertion and reason are true and the reason is

the correct explanation of the assertion.

B. If both assertion and reason are true but reason is not

the correct explanation of the assertion

C. If assertion is true but reason is false

D. If the assertion and reason both are false


https://dl.doubtnut.com/l/_eDf6znNP3QQc
https://dl.doubtnut.com/l/_wQJTuumHgO3a

Answer: A

o Watch Video Solution

558. Assertion : Electric appliances with metallic body, e.g.
heaters, presses etc, have three pin connections, whereas an
electric bulb has a two pin connection.

Reason : Three pin connection reduce heating of connecting
cables.
A. If both assertion and reason are true and the reason is
the correct explanation of the assertion.
B. If both assertion and reason are true but reason is not
the correct explanation of the assertion

C. If assertion is true but reason is false


https://dl.doubtnut.com/l/_wQJTuumHgO3a
https://dl.doubtnut.com/l/_OJuzMEBifZOC

D. If the assertion and reason both are false

Answer: C

o Watch Video Solution

559. Assertion : The drift velocity of electrons in a metallic
wire will decrease, if the temperature of the wire is increased.
Reason : On increasing temperature, conductivity of metallic
wire decreases.
A. If both assertion and reason are true and the reason is
the correct explanation of the assertion.

B. If both assertion and reason are true but reason is not

the correct explanation of the assertion


https://dl.doubtnut.com/l/_OJuzMEBifZOC
https://dl.doubtnut.com/l/_OaPY2nr654S6

C. If assertion is true but reason is false

D. If the assertion and reason both are false

Answer: B

o Watch Video Solution

560. Assertion : The electric bulbs glows immediately when
switch is on.

Reason : The drift velocity of electrons in a metallic wire is

vary high.

A. If both assertion and reason are true and the reason is

the correct explanation of the assertion.


https://dl.doubtnut.com/l/_OaPY2nr654S6
https://dl.doubtnut.com/l/_L650eor6JuxB

B. If both assertion and reason are true but reason is not

the correct explanation of the assertion

C. If assertion is true but reason is false

D. If the assertion and reason both are false

Answer: C

o Watch Video Solution

561. Assertion : Bending a wire does not effect electrical
resistance.
Reason : The resistance of wire is proportional to the

resistivity of material.


https://dl.doubtnut.com/l/_L650eor6JuxB
https://dl.doubtnut.com/l/_oOFfpztbJbV9

A. If both assertion and reason are true and the reason is

the correct explanation of the assertion.

B. If both assertion and reason are true but reason is not

the correct explanation of the assertion

C. If assertion is true but reason is false

D. If the assertion and reason both are false

Answer: A

° Watch Video Solution

562. Assertion : In metre bridge experiment, a high resistance
is always connected in series with a galvanometer.
Reason : As resistance increases, current through the circuit

increases,


https://dl.doubtnut.com/l/_oOFfpztbJbV9
https://dl.doubtnut.com/l/_u5BbdshwfeyL

A. If both assertion and reason are true and the reason is

the correct explanation of the assertion.

B. If both assertion and reason are true but reason is not

the correct explanation of the assertion

C. If assertion is true but reason is false

D. If the assertion and reason both are false

Answer: C

o Watch Video Solution

563. Assertion : Electric field outside the conducting wire
which carreis a constant is zero.

Reason : Net charge on conducting wire is zero.


https://dl.doubtnut.com/l/_u5BbdshwfeyL
https://dl.doubtnut.com/l/_Qoh3qLRLM4Om

A. If both assertion and reason are true and the reason is

the correct explanation of the assertion.

B. If both assertion and reason are true but reason is not

the correct explanation of the assertion

C. If assertion is true but reason is false

D. If the assertion and reason both are false

Answer: A

o Watch Video Solution

564. Assertion : The resistance of super-conductor is zero.
Reason : The super-conductors are used for the transmission

of electric power.


https://dl.doubtnut.com/l/_Qoh3qLRLM4Om
https://dl.doubtnut.com/l/_JRUb8PVaRGTo

A. If both assertion and reason are true and the reason is

the correct explanation of the assertion.

B. If both assertion and reason are true but reason is not

the correct explanation of the assertion

C. If assertion is true but reason is false

D. If the assertion and reason both are false

Answer: B

o Watch Video Solution

565. Statement -1 : A potentiometer of longer length is used
for accurate measurement
Statement -2 : The potential gradient for a potentiometer of

longer length with a given source of em.f becomes small


https://dl.doubtnut.com/l/_JRUb8PVaRGTo
https://dl.doubtnut.com/l/_5QMqJ9SzARaW

A. If both assertion and reason are true and the reason is

the correct explanation of the assertion.

B. If both assertion and reason are true but reason is not

the correct explanation of the assertion

C. If assertion is true but reason is false

D. If the assertion and reason both are false

Answer: A

o Watch Video Solution

566. Assertion : The emf. of the drivercell in the
potentiometer experiment should be greater than the emf.

of the cell to determined.


https://dl.doubtnut.com/l/_5QMqJ9SzARaW
https://dl.doubtnut.com/l/_x85UmQhq8wEi

A. If both assertion and reason are true and the reason is

the correct explanation of the assertion.

B. If both assertion and reason are true but reason is not

the correct explanation of the assertion

C. If assertion is true but reason is false

D. If the assertion and reason both are false

Answer: A

o Watch Video Solution

567. Assertion : A person touching a high power line gas stuck
with the line.

Reason : The current carrying wires attract the man toward it.


https://dl.doubtnut.com/l/_x85UmQhq8wEi
https://dl.doubtnut.com/l/_u5kXmFBkRHQU

A. If both assertion and reason are true and the reason is

the correct explanation of the assertion.

B. If both assertion and reason are true but reason is not

the correct explanation of the assertion

C. If assertion is true but reason is false

D. If the assertion and reason both are false

Answer: D

o Watch Video Solution

568. Assertion : The connecting wires are made of copper.

Reason : The electrical conductivity of copper is high


https://dl.doubtnut.com/l/_u5kXmFBkRHQU
https://dl.doubtnut.com/l/_oJiDbgpfYQdN

A. If both assertion and reason are true and the reason is

the correct explanation of the assertion.

B. If both assertion and reason are true but reason is not

the correct explanation of the assertion

C. If assertion is true but reason is false

D. If the assertion and reason both are false

Answer: A

o Watch Video Solution

Kirchhoff s Law, cells

1. A torch battery consisting of two cells of 1.45 volts and an

internal resistance 0.15€2 , each cell sending currents through


https://dl.doubtnut.com/l/_oJiDbgpfYQdN
https://dl.doubtnut.com/l/_Ak6jKwKQnY1b

the filament of the lamps having resistance 1.50hms. The

value of current will be

A.16.11lamp

B.1.611amp

C.0.1611amp

D. 2.6amp

Answer: B

o View Text Solution

2. Two non-ideal identical batteries are connected in parallel.
Consider the following statements
(i) The equivalent emf. is smaller than either of the two

e.m.fs


https://dl.doubtnut.com/l/_Ak6jKwKQnY1b
https://dl.doubtnut.com/l/_2jJbIWSBoKoH

(ii) The equivalent internal resistance is smaller than either of

the two internal resistances

A. Both (i) and (ii) are correct

B. (i) is correct but (ii) is wrong

C. (i) is correct but (i) is wrong

D. Both (i) and (ii) are wrong

Answer: C

o View Text Solution



https://dl.doubtnut.com/l/_2jJbIWSBoKoH

3.In the given circuit the current | is

30 O
WV
;A
40 Q)
W
lz A 4
40 Q
AV
A.0.44
B.—0.44
C.0.84
D. —0.84
Answer: B

o View Text Solution



https://dl.doubtnut.com/l/_NO674uSr3jhm
https://dl.doubtnut.com/l/_UEmM50Q2J1fS

4. How much work in required to carry a 6uC' charge from the

negative terminal to the positive terminal of a 9V battery

A.54 x 103

B.54 x 10 %J

C.54 x 10~%J

D.54 x 10 2J

Answer: B

o View Text Solution

5. The emf of a battery is 2 V and its internal resistance is
0.5€2. The maximum power which it can deliver to any external

circuit will be


https://dl.doubtnut.com/l/_UEmM50Q2J1fS
https://dl.doubtnut.com/l/_KGltwCvQP5nM

A. 8 watt

B. 4 watt

C. 2 watt

D. None of the above

Answer: C

o View Text Solution

6. Current provided by a battery is maximum when

A. Internal resistance equal to external resistance

B. Internal resistance is greater than external resistance

C. Internal resistance is less than external resistance

D. None of these


https://dl.doubtnut.com/l/_KGltwCvQP5nM
https://dl.doubtnut.com/l/_1L56fkH8Gq8N

Answer: A

o View Text Solution

7. A battery is charged at a potential of 15 V for 8 hours when
the current flowing is 10 A . The battery on discharge supplies
a current of 5 A for 15 hours . The mean erminal voltage
during discharge is 14 V. The "Watt-hour" efficiency of the
battery is

A.82.5 %

B. 80 %

C.90 %

D.87.5 %

Answer: D


https://dl.doubtnut.com/l/_1L56fkH8Gq8N
https://dl.doubtnut.com/l/_yHBhcO43abFQ

o View Text Solution

8. An energy source will supply a constant current into the

load if its internal resistance is

A. Zero

B. Non-zero but less than the resistance of the load

C. Equal to the resistance of the load

D. Very large as compared to the load resistance

Answer: D

o View Text Solution

Different Measuring Instruments



https://dl.doubtnut.com/l/_yHBhcO43abFQ
https://dl.doubtnut.com/l/_CEEwRfV1FGFc
https://dl.doubtnut.com/l/_2Hz0l9E9RRUf

1. A cell of internal resistance 5.12 and of emf. 1.5 volt
balances 500 cm on a potentiometer wire. If a wire of 15(2 is
connected between the balance point and the cell, then the
balance point will shift

A. To zeri

B. By 500 cm

C.By 750 cm

D. None of the above

Answer: D

o View Text Solution

Critical Thinking



https://dl.doubtnut.com/l/_2Hz0l9E9RRUf
https://dl.doubtnut.com/l/_gxc8jIIcOsyL

1. Twelve wires of equal length and same cross-section are
connected in the form of a cube. If the resistance of each of
the wires is R, then the effective resistance between the two

diagonal ends would be



https://dl.doubtnut.com/l/_gxc8jIIcOsyL

Answer: C

o View Text Solution

2. The resistance of a wire is 10 °Q per metre. It is bend in
the form of a circle of diameter m 2 . A wire of the same
material is connected across its diameter. The total resistance

across its diameter AB will be

A %71' x 10750

2
B. 37 X 10750


https://dl.doubtnut.com/l/_gxc8jIIcOsyL
https://dl.doubtnut.com/l/_KItzSuimJLkq

C.0.88 x 10750

D. 147 x 10 %Q

Answer: C

o View Text Solution

3. In the circuit shown in the figure, the current through

A. The 3 resistor is 0.504


https://dl.doubtnut.com/l/_KItzSuimJLkq
https://dl.doubtnut.com/l/_vwfv1Mg8SuoC

B. The 312 resistor is 0.25A4

C. The 49 resistor is 0.50A

D. The 4f) resistor is 0.25A4

Answer: D

o View Text Solution

4. A wire of resistor R is bent into a circular ring of radius r .

Equivalent resistance between two points X and Y on its


https://dl.doubtnut.com/l/_vwfv1Mg8SuoC
https://dl.doubtnut.com/l/_ziOho7K6T4Lv

circumference, when angle XOY is a, can be given by

#?;?}R'm &

R

Answer: A

° View Text Solution



https://dl.doubtnut.com/l/_ziOho7K6T4Lv
https://dl.doubtnut.com/l/_8qMJ7kDgBB8f

5. Potential diffference across the terminals of the batery

shown in Figyre is (r = internal resistance of battey)
| — W
0V r=1€
4€2
WAL
A 8V
B. 10V
C.6V
D. Zero
Answer: D

o View Text Solution



https://dl.doubtnut.com/l/_8qMJ7kDgBB8f
https://dl.doubtnut.com/l/_zMgtsSCDphbN

6. In the following circuit a 10 m long potentiometer wire with
resistance 1.2 ohm/m , a resistance R 1 and an accumulator of
emf 2 V are connected in series. When the emf of
thermocouple is 2.4 mV then the deflection in galvanometer

is zero. The current supplied by the accumulator will be

7Y * R

— 5 —>

Hot Cold

Junction Junction

Adx10%A

B.8 x 10744

C.4x10°3%A4


https://dl.doubtnut.com/l/_zMgtsSCDphbN

D.8 x 10 34

Answer: A

o View Text Solution

7.1n the following circuit, bulb rated as 1.5V, 0.45 W . If bulbs
glows with full intensity then what will be the equivalent

resistance between X and Y

6 Vl
|

302 X R
—AM MYWWN— Y

A. 0.45()


https://dl.doubtnut.com/l/_zMgtsSCDphbN
https://dl.doubtnut.com/l/_2PAakZ0m4cK9

B. 1(}

C. 302

D. 5(2

Answer: B

o View Text Solution

8. In order to quadruple the resistance of a uniform wire, a
part of its length was uniformly stretched till the final length
of the entire wire was 1.5 times the original length, the part of

the wire was fraction equal to

/ >

[rd
-

le 0.5/ >


https://dl.doubtnut.com/l/_2PAakZ0m4cK9
https://dl.doubtnut.com/l/_sQ5U6WOUY1QG

A1/8
B.1/6
C.1/10

D.1/4

Answer: A

o View Text Solution

9. 12 cells each having same emf are connected in series with
some cells wrongly connected. The arrangement is connected
in series with an ammeter and two cells which are in series.
Current is 3 A when cells and battery aid each other and is 2 A
when cells and battery oppose each other. The number of

cells wrongly connected is


https://dl.doubtnut.com/l/_sQ5U6WOUY1QG
https://dl.doubtnut.com/l/_MyICSbhXJUDQ

A 4

B.1

C.3

D.2

Answer: B

o View Text Solution

10. Following figure shows cross-sections through three long
conductors of the same length and material, with square
cross-section of edge lengths as shown. Conductor B will fit
snugly within conductor A, and conductor C will fit snugly

within conductor B . Relationship between their end to end


https://dl.doubtnut.com/l/_MyICSbhXJUDQ
https://dl.doubtnut.com/l/_Q0pNFTh4vh1F

resistance is

— V34 ——

AR=R=R

BR>R>R

CR<R<R

D. Information is not sufficient

Answer: A

o View Text Solution



https://dl.doubtnut.com/l/_Q0pNFTh4vh1F

1. In the following star circuit diagram (figure), the equivalent

resistance between the points A and H will be

A. 1.944r

B.0.973r

C. 0.486r

D. 0.243r


https://dl.doubtnut.com/l/_txCrrbfz2vS8

Answer: B

o View Text Solution

12. In the adjoining circuit diagram each resistance is of 10€.

The current in the arm AD will be



https://dl.doubtnut.com/l/_txCrrbfz2vS8
https://dl.doubtnut.com/l/_MfGKvwFrpETV

Answer: A

° View Text Solution

Graphical Questions

1. The voltage V and current | graph for a conductor at two

different temperatures 77 and 75 are shown in the figure. The


https://dl.doubtnut.com/l/_MfGKvwFrpETV
https://dl.doubtnut.com/l/_vk6qgPxpm7dn

relation between 17 and 75 is

o

ATy > Ty

B. 11 ~ Tp

CTy =T

D.T1 < T

Answer: A

o View Text Solution



https://dl.doubtnut.com/l/_vk6qgPxpm7dn

2. From the graph between current | and voltage V shown

below, identify the portion corresponding to negative

resistanc

A

] E
C
B
/ -

. — ¥
A. AB

B.BC

C.CD

D. DE


https://dl.doubtnut.com/l/_RWRi1zeKl6Fa

Answer: C

o View Text Solution

3. In an experiment, a graph was plotted of the potential
difference V between the terminals of a cell against the circuit
current i by varying load rheostat. Internal conductance of

the cell is given by



https://dl.doubtnut.com/l/_RWRi1zeKl6Fa
https://dl.doubtnut.com/l/_mlBDAzYrfI4V

D. (z — y)

Answer: B

o View Text Solution

Assertion & Reason

1. Assertion : Voltameter measures current more accurately

than ammeter.

Reason : Relative error will be small if measured from

voltameter.

A. If both assertion and reason are true and the reason is

the correct explanation of the assertion.


https://dl.doubtnut.com/l/_mlBDAzYrfI4V
https://dl.doubtnut.com/l/_vD4jcsKJ9VnC

B. If both assertion and reason are true but reason is not

the correct explanation of the assertion

C. If assertion is true but reason is false

D. If the assertion and reason both are false

Answer: A

° View Text Solution

Self Evaluation Test -19

1. Figure 6.51 shows a simple a potentiometer circuit for

measuring a small emf produced by a thermocouple.


https://dl.doubtnut.com/l/_vD4jcsKJ9VnC
https://dl.doubtnut.com/l/_ec8Icakz2mFc

200V Drivercell R

|+ A
0.600 m
P |= > 0,
Thermocouplc
—0 Galvanometer
6.00 mV

The meter wire P(Q has a resistance of 52, and the driver cell
has an emf of 2.00V. If a balance point is obtained 0.600m
along PQ when measuring an emf of 6.00mV,
what is the value of resistance R?

A. 99502

B. 1995(2

C. 29952

D. None of these


https://dl.doubtnut.com/l/_ec8Icakz2mFc

Answer: A

o Watch Video Solution

2. A car has a fresh storage battery of emf 12 V and internal

resistance 5.0 x 10 2Q. If the starter motor draws a current

of 90A, what is the terminal voltage of the battery when the

starter is on?

A. 12V

B.10.5V

C.8.5V

D.7.5V

Answer: D

la


https://dl.doubtnut.com/l/_ec8Icakz2mFc
https://dl.doubtnut.com/l/_SyKchNFLZQCI

| ' vvatch video soilution J

3. If the balance point is obtained at the 35th cm in a metre

bridge the resistances in the left and right gaps are in the

ratio of

A 7:13

B.13:7

C.9:11

D.11:9

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_SyKchNFLZQCI
https://dl.doubtnut.com/l/_bALyx2IGLr7p

4.The equivalent resistance across the terminals of source of

e.m.f. 24V for the circuit shown in the figure is

10 QO 6 Q)

15 Q

%

A. 1502

B. 1002

C. 502

D. 4(2

Answer: C



https://dl.doubtnut.com/l/_BMYJDc0qeFQa

| & Watch Video Solution

5.1n the circuit shown in figure, switch S is initially closed and

S is open. Find V-V

1€ b 5(2
WA— T VWA—
T o

o)
3€2 302
AW AR
24V : 1
5 I - o—n
A4V

B.8V


https://dl.doubtnut.com/l/_BMYJDc0qeFQa
https://dl.doubtnut.com/l/_66IdliDtT8l6

C.12V

D. 16V

Answer: B

o Watch Video Solution

6. The figure here shows a portion of a circuit. What are the

magnitude and direction of the current i in the lower right-

hand wire
«— 1A
L 24 —>
24—
 2A

3A 4A

A 7A


https://dl.doubtnut.com/l/_66IdliDtT8l6
https://dl.doubtnut.com/l/_HFZXTMNcJeMz

B. 8A

C. 6A

D. 2A

Answer: B

o Watch Video Solution

7. A carbon resistor has colour strips as violet, yellow brown

and golden. The resistance is

A. 6412

B. 741Q)

C. 70402

D. 407(2


https://dl.doubtnut.com/l/_HFZXTMNcJeMz
https://dl.doubtnut.com/l/_0eyk0ZG4qCV5

Answer: B

o Watch Video Solution

8. A voltmeter of resistance 1000€2 is connected across a
resistance of 5002 in the given circuit. What will be the

reading of voltmeter

|
10 V
500¢2 50002
RRUGE AW e—

A1V

B.2V


https://dl.doubtnut.com/l/_0eyk0ZG4qCV5
https://dl.doubtnut.com/l/_fsvEuWIgRafr

C.6V

D.4V

Answer: D

o Watch Video Solution

9. A beam contains 2 x 10° doubly charged positive ions per
cubic centimeter, all of which are moving with a speed of
10°m / s . The current density is

A.6.4A /m

B.3.2A/m

C.1.6A/m

D. None of these


https://dl.doubtnut.com/l/_fsvEuWIgRafr
https://dl.doubtnut.com/l/_veVoJ2xP5Xci

Answer: A

o Watch Video Solution

10. In the circuit shown, the reading of ammeter when switch

S is open and when switch S is closed respectively are

A. 3A and 4A

B. 4A and 5A

C. 5A and 6A


https://dl.doubtnut.com/l/_veVoJ2xP5Xci
https://dl.doubtnut.com/l/_gmPQFce4uqOE

D. 6A and 7A

Answer: B

o Watch Video Solution

11. In the circuit as shown in figure the

<5
10Q‘\\ 109?.\»3: 2OQ

AP

A. Resistance R = 462

B. Current through 20(2 resistance is 0.14

C. Potential difference across the middle resistance is 2V


https://dl.doubtnut.com/l/_gmPQFce4uqOE
https://dl.doubtnut.com/l/_u3YzyhunER0K

D. All option are correct

Answer: D

o Watch Video Solution

12.In figure shows a rectangular block with dimensions x, 2 x
and 4 x . Electrical contacts can be made to the block between
opposite pairs of faces (for example, between the faces
labelled A-A,B-B and C - C). Between which two faces would
the maximum electrical resistance be obtained ( A - A : Top

and bottom faces, B - B : Left and right faces, C - C: Front and


https://dl.doubtnut.com/l/_u3YzyhunER0K
https://dl.doubtnut.com/l/_lMGQRgnDyD91

rear faces)

A A-A

B.B-B

C.CC

D. Same for all three pairs

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_lMGQRgnDyD91
https://dl.doubtnut.com/l/_BACNTdrL90Qf

13. A battery is connected to a uniform resistance wire AB and
B is earthed. Which one of the graphs below shows how the

current density ) varies along AB

|
i

[ 2
f//
‘,//

(& /
Zero at all
points
A.
B.
/1
0 / >



https://dl.doubtnut.com/l/_BACNTdrL90Qf

Answer: D

o Watch Video Solution

14. A cylindrical metal wire of length | and cross sections area
S , has resistance R , conductance G , conductivity o and
resistivity p . Which one of the following expressions for o is

valid

GR

A —
P
pR

B. —
G

c GS
R/


https://dl.doubtnut.com/l/_BACNTdrL90Qf
https://dl.doubtnut.com/l/_nWDbDHJxWHXP

Answer: A

o Watch Video Solution

15. A potential divider is used to give outputs of 4 Vand 8 V
from a 12 V source. Which combination of resistances, (R, R, R

) gives the correct voltages ?7R: R: R

o

a2V

+8V

o +4V

Js
I
(5 Volt ?



https://dl.doubtnut.com/l/_nWDbDHJxWHXP
https://dl.doubtnut.com/l/_vH9RWejEakaJ

A 2:1:2

B.1:1:1

C.2:2:1

D.1:1:2

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_vH9RWejEakaJ

16. Find equivalent resistance between A and B

N
- WAL
A \S\‘*\\l & i
3 NS R
AN
RS
R\ R
R %(\:\ %\\x\\ R
A.R
3R
B. —
94
c R
"2
D.2R
Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_Q8qU25nSfuNE

17. Following figures show four situations in which positive
and negative charges move horizontaly through a region and
give the rate at which each charge moves. Rank the situations
according to the effective current through the region

greatest first.

2 Clsec 6 C/sec
®— )
7 Clsec 3 Clsee @&— ~—0
4 C/sec
5 Clsec 1 Cl/sec
(1) (i1) (111) (iv)

Al =11 =12 =

B.2 > 1t > 111 > 1w

C.i =11 = 111 >

D.t =11 = 210 < v

Answer: C



https://dl.doubtnut.com/l/_Q8qU25nSfuNE
https://dl.doubtnut.com/l/_S7a1la5hUPc6

| o Watch Video Solution

18. A and B are two square plates of same metal and same
thickness but length of B is twice that of A . Ratio of

resistances of Aand B is

A4:1

B.1:4

C.1:1

D.1:2


https://dl.doubtnut.com/l/_S7a1la5hUPc6
https://dl.doubtnut.com/l/_xn76djuN3Gxb

Answer: C

o Watch Video Solution

19. A moving coil galvanometer is converted into an ammeter
reads upto 0.03A by connecting a shunt of resistance 4r
across it and ammeter reads up 0.06A, when a shunt of
resistance r is used. What is the maximum current which can
be sent through this galvanometer if no shunt is used ?
A.0.014
B.0.024

C.0.034

D.0.044

Answer: B


https://dl.doubtnut.com/l/_xn76djuN3Gxb
https://dl.doubtnut.com/l/_wAG8Sjnxtztl

o Watch Video Solution

20. Two conductors are made of the same material and have
the same length. Conductor A is a solid wire of diameter
1mm. Conductor B is a hollow tube of outer diameter 2mm
and inner diameter 1mm. Find the ratio of resistance R4 to
Rp.

A1l

B.2

C.3

D.4

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_wAG8Sjnxtztl
https://dl.doubtnut.com/l/_zoTWmR8ww7cc

21. A wire has resistance of 242 is bent in the following shape.

The effective resistance between A and B is

D
B
€ 10 cm >
A. 24€)
B. 100
16
C.—
3

D. None of these

Answer: B



https://dl.doubtnut.com/l/_zoTWmR8ww7cc
https://dl.doubtnut.com/l/_iFEJKWHLZrJR

| Y Watch Video Solution

22. In the circuit shown in fig. 5120 find the current through

the branch BD.

A 6Q2 B 3 C

T $ Tsov
D
A. 5A
B. OA
C.3A

D. 4A


https://dl.doubtnut.com/l/_iFEJKWHLZrJR
https://dl.doubtnut.com/l/_9IMmxazJF59V

Answer: A

o Watch Video Solution

23. A battery of 24 cells each of emf 1.5 V and internal
resistnace 2() is to be connected in order to send the
maximum current through a 122 resistor. The correct
arrangement of cells will be

A. 2 rows of 13 cells connected in parallel

B. 3 rows of 8 cells connected in parallel

C. 4 rows of 6 cells connected in parallel

D. All of these

Answer: A

.y


https://dl.doubtnut.com/l/_9IMmxazJF59V
https://dl.doubtnut.com/l/_KPipPJ6VSIbc

| ™ Vvvatcn Viaeo >olution



https://dl.doubtnut.com/l/_KPipPJ6VSIbc

